TABLE DES MATIERES
TABLE OF CONTENTS

Identification des filets / Thread identification ......................... |
Guide visuel / Visualguide ...........c.ciiiiiiiiiii it page Il
NPTF (pipethread) ......... ... i e annes page 1
NPSM (pipe swivel) .......oiiiii ittt e n e ennnnns page 5
JIC(B7°flare) ......couiiiiiii it i e st a s page 8
BSOPP . e e e e page 29
Métrique /Metric . ...... ..ot i et e e page 37
ORFS (0'ringface) ........ciuiiiiiiiiiii it iiia e nnnnnnnns page 42
ORB (0'riNg bOSS) ....cciiiii ittt iieeeeee e nnnnnnns page 48
Adaptateur tube / Adaptertube ................. i, page 51
SAE45(45°flare) ......ccuiiiiiiii e et e page 56
Compression /Flareless .............c. i iiiiiiiinnnnnennn page 57
Métrique compression / Flareless metric ........................ page 58
Joints tournants droits / Inline swivels ................... ... ..., page 60
Joints tournants 90° /90° swivels ...........ccciiiiiiii i page 61
Joints d'étanchéité et écrous / O'ringsandnuts ................. page 66

Ensembles /Kits ....... ... i s page 69



IDENTIFICATION DES FILETS / THREAD IDENTIFICATION

Ul W
1]
Dimension NPTF JIC 37° O'ring O'ring SAE 45° BSPP
Size PIPE Flare boss face Flare
0.400 0.313 0.313 0.313 0.370
1/8 1/8-27 5/16-24 516-24 | - 5/16-24 1/8-28
0.375 0.375 0.375
316 |  ---—-- 3/8-24 3/8-24 | @ - 3/8-24 | @ -----
0.530 0.438 0.438 0.563 0.438 0.510
1/4 1/4-18 7/16-20 7/16-20 9/16-18 7/16-20 1/4-19
0.500 0.500 0.500
516 | - 1/2-20 1/2-20 | 1220 | e
0.675 0.563 0.563 0.688 0.625 0.645
3/8 3/8-18 9/16-18 9/16-18 11/16-16 5/8-18 3/8-19
0.825 0.750 0.750 0.813 0.750 0.825
1/2 1/2-14 3/4-16 3/4-16 13/16-16 3/4-16 1/2-14
0.875 0.875 1.000 0.875 0.895
58 | - 7/8-14 7/8-14 1-14 7/8-14 5/8-14
1.040 1.063 1.063 1.188 1.063 1.040
3/4 3/4-14 11/16-12 11/16-12 13/16-12 11/16-14 3/4-14
1.188 1.188
78 | e 13/16-12 | 13/16-12 |  wooee | eeeee |
1.300 1.313 1.313 1.438 1.300
1 1-111/2 | 15/16-12 | 1516-12 | 1716-12 | - 1-11
1.650 1.625 1.625 1.688 1.640
11/4  [11/4-111/2| 15/8-12 15812 | 1111612 | - 1.1/4-11
1.885 1.875 1.875 2.000 1.880
11/2 11/2-11 1/2 17/8-12 17/8-12 2-12 | - 1.1/2-11
2.360 2.500 2.500 2.340
2 2-111/2 | 21/2-12 21/2-12 | —em | e 2-11
METRIQUE / METRIC
LEGERE LOURDE
LIGHT HEAVY
Filetage Filetage
Tube Thread Tube Thread
6MM M12X1.5 6MM M14X1.5
8MM M14X1.5 8MM M16X1.5
10MM M16X1.5 10MM M18X1.5
12MM M18X1.5 12MM M20X1.5
15MM M22X1.5 14MM M22X1.5
18MM M26X1.5 16MM M24X1.5
22MM M30X2.0 20MM M30X2.0
28MM M36X2.0 25MM M36X2.0
35MM M45X2.0 30MM M42X2.0
42MM M52X2.0 38MM M52X2.0




NPTF (PIPE THREAD)

NPTF-NPTF
I e |Me| = m | WHm | CH]
24ST 24SR 25SP 24SG 24SA 24SJ
Plug hex. head Plug hex. socket Plug square head F-NPTF M-NPTF F-NPTF
M-NPTF M-NPTF M-NPTF M-NPTF M-NPTF F-NPTF
page 1 page 1 page 2 page 2 page 2
an i W
25TA 25TJ 25UJ 25UA 25UASW
M-NPTF F-NPTF M-NPTF swivel F-NPTF M-NPTF M-NPTF
M-NPTF F-NPTF F-NPTF F-NPTF M-NPTF M-NPTF swivel
page 3 page 3 page 4
25VJ 25VG 25VT 25VK 25VA 25WJ
TE F-F-F TE M-F-M TE F-M-M TE F-F-M TE M-M-M Cross F-F-F-F
NPTF NPTF NPTF NPTF NPTF NPTF
page 4 page 4 page 4 page 4 page 5 page 5

NPSM (PIPE SWIVEL)

NPSM-NPTF

60SA-61SA 60TG 60UC 60UG 60VH
M-NPTF F-NPTF M-NPTF long F-NPTF TE-F-F-F
F-NPSM swivel F-NPSM swivel F-NPSM swivel F-NPSM swivel F-NPSM swivel F-NPSM swivel F-NPSM swivel F-NPTF/F-NPSM swivel
page 5 page 5 page 6 page 6 page 6 page 6 page 7 page 7
60VC 60VJ

TE-F-M-F TE-F-F-F

M-NPTF/F-NPSM swivel | F-NPSM swivel

page 7 page 7

NPSM-ORB

60SB 60TB 60UB

M-ORB M-ORB M-ORB

F-NPSM swivel F-NPSM swivel F-NPSM swivel

page 7 page 8 page 8

JIC (37° FLARE)

JIC-JIC

-
S
830FS 840FS 841FS 883FS 883FSSW 842FS 832FS
Plug Sleeve Nut F-JIC solid F-JIC swivel M-JIC M-JIC
F-JIC JIC JIC M-JIC M-JIC M-JIC M-JIC bulkhead
page 8 page 9 page 9 page 9 page 10 page 10 page 10
=
/| e
880FS 854BHFS 889FS 879FS 875FS
F-JIC swivel M-JIC M-JIC F-JIC swivel F-JIC swivel
F-JIC swivel M-JIC bulkhead M-JIC bulkhead M-JIC F-JIC swivel
page 11 page 11 page 11 page 12

o

844FS 870FS 861FS 871FS 873FS 852FS
TE M-M-M TE M-M-M TE M-M-M TE F-M-M TE M-F-M TE F-F-F Cross
JIC M-JIC bulkhead M-JIC bulkhead M-JIC / F-JIC swivel |M-JIC / F-JIC swivel |F-JIC swivel M-JIC
page 12 page 12 page 12 page 12 page 13 page 13 page 13

II




JIC (37° FLARE)

JIC-NPTF
848FS 848LFS 848LLFS 848BHFS 846FS 847FS 881FS 882FS
M-JIC M-JIC M-JIC M-JIC bulkhead M-JIC M-JIC bulkhead F-JIC swivel F-JIC swivel
M-NPTF M-NPTF long M-NPTF X-long M-NPTF F-NPTF F-NPTF M-NPTF
page 13 page 14 page 14 page 14 page 14 page 15 page 15
(| [ | | %]
849LFS 849LLFS 850FS 878FS 877FS 845FS
M-JIC M-JIC M-JIC F-JIC swivel F-JIC swivel TE M-M-M
M-NPTF long M-NPTF X-long F-NPTF M-NPTF F-NPTF M-JIC / M-NPTF
page 16 page 17 page 17 page 17 page 17
853FS 859FS 862FS 863FS
TE M-M-M TE M-F-M TE F-M-F TE M-F-F
M-JIC / F-NPTF M-JIC / M-NPTF M-JIC / M-NPTF M-JIC / F-NPTF M-JIC / (M/F)-NPTF  [M-JIC / (M/F)-NPTF  |M-JIC / F-NPTF M-JIC / F-NPTF
page 18 page 18 page 18 page 18 page 18 page 19 page 19 page 19
JIC-ORB JIC-INV.
848LFSO 881FSO 878FSO 848FSV 846FSV
M-JIC F-JIC swivel F-JIC swivel M-JIC M-JIC
M-ORB long M-ORB M-ORB M-inverted flare F-inverted flare
page 20 page 20 page 20 page 22 page 22

849LLFSO 845FSO 851FSO

M-JIC M-JIC M-JIC TE M-M-M TE M-M-M
M-ORB M-ORB long M-ORB X-long M-JIC / M-ORB M-JIC / M-ORB
page 21 page 21 page 21 page 21 page 22
JIC-ORFS JIC-BANJO
848TTJ 846TTJ 846TTJSW 881TTJ 848FSBJ
M-JIC M-JIC M-JIC F-JIC swivel M-JIC
M-ORFS F-ORFS solid F-ORFS swivel M-ORFS Banjo
page 22 page 22 page 22 page 23 [page 23
JIC-BSPP
848FSB 848FSBL 848FSBLL 848FSJ 846FSB 846FSBSW 846FSJ 846FSH
M-JIC M-JIC M-JIC M-JIC M-JIC M-JIC M-JIC
M-BSPP M-BSPP long M-BSPP X-long M-JIS F-BSPP solid F-BSPP swivel F-BSPP flat-face solid
page 23 page 23 page 24 page 24 page 24 page 24 page 24

T D 1T

i | @Y [

-l an \ N |
846FSHSW 881FSB 882FSB 854FSB 849FSB 850FSB 878FS 845FSB
M-JIC F-JIC swivel F-JIC swivel M-JIC M-JIC M-JIC F-JIC swivel TE M-M-M
F-BSPP flat-face swivel |M-BSPP F-BSPP swivel M-BSPP adj. M-BSPP adj. F-BSPP swivel M-BSPP M-JIC / M-BSPP adij.

5 page 25 page 25 page 25 page 25 page 25 page 26 page 26

851FSB

TE M-M-M

M-JIC / M-BSPP adij.
page 26

II




JIC (37° FLARE)

JIC-METRIC JIC-SAE45
848FSM (port only) [848FSML 848FSMH 848FSK 848FSKB 835FS 836FS
M-JIC (port and tube) (port and tube) M-JIC M-JIC M-JIC F-JIC solid
M-METRIC M-JIC ! M-JIC M-KOMATSU M-KOBELCO F-SAE45 solid M-SAE45
page 26 M-METRIC light (p26) |M-METRIC heavy(p27) page 27 page 27 page 28 page 29
== .
M= | @ | @ I | Ca
846FSML 846FSMH 846FSK 881FSM 849FSM
M-JIC M-JIC M-JIC F-JIC swivel M-JIC
F-METRIC swivel light |F-METRIC swivel heavy | F-KOMATSU M-METRIC M-METRIC adij.
page 27 page 28 page 28 page 28 page 28
BSPP-BSPP
AT iitvmm S wvive O v
a| | dE | e | B | OdD | i

630FS 630FSJ 639FS 639FSJ 639FSR 642FS 642FSJ 632FS
Plug Plug Plug Plug Plug M-BSPP M-JIS M-BSPP
F-BSPP swivel F-JIS M-BSPP hex. head M-JIS M-BSPP hex. socket |M-BSPP M-JIS M-BSPP bulkhead
page 29 page 29 page 29 page 29 page 29 page 30 page 30 page 30
683FS 683FSSW 680FS 680FSSW 698FS 699FS 656FSA
M-BSPP M-BSPP F-BSPP solid F-BSPP swivel BSPP flat-face BSPP-JIS M-BSPP
F-BSPP solid F-BSPP swivel F-BSPP solid F-BSPP swivel Sealing seat Sealing seat M-BSPP adj.

page 31 page 31 page 31 page 32 page 32 page 32

=t i | tmm
Bl le: iTa

655FSA 674FS 675FS 679FS 679FSB 644FS 670FS 661FS
M-BSPP F-BSPP solid F-BSPP swivel M-BSPP adj. M-BSPP TE M-M-M TE M-M-M TE M-M-M
M-BSPP ad. F-BSPP solid F-BSPP swivel F-BSPP swivel F-BSPP swivel M-BSPP M-BSPP/M-BSPP adj. |[M-BSPP/M-BSPP adj.

page 32 page 33 page 33 page 33 page 33 page 33 page 33
671FS 672FS 673FS 673FSSW 677FS
TE M-M-F TE M-F-M TE F-F-F TE F-F-F TE M-F-F
M-BSPP/F-BSPP swivel |M-BSPP/F-BSPP swivel |F-BSPP solid F-BSPP swivel M-BSPP/F-BSPP swivel
page 34 page 34 page 34 page 34 page 34
BSPP-NPTF
648FS 646FS 681FS 681FSSW 682FS 649FS
M-BSPP M-BSPP F-BSPP solid F-BSPP swivel F-BSPP solid M-BSPP
M-NPTF F-NPTF M-NPTF M-NPTF F-NPTF M-NPTF
page 34 page 35 page 35 page 35 page 35 page 36
BSPP-METRIC BSPP-ORFS
648FSM 681FSM 646FSM 648TT 646TT 649TT
M-BSPP F-BSPP swivel M-BSPP M-BSPP M-BSPP M-BSPP adj.
M-METRIC M-METRIC F-METRIC swivel M-ORFS F-ORFS swivel M-ORFS
page 36 page 36 page 36 page 36 page 36 page 37

IV




BSPP

BSPP-ORB

648FSO 646FSO 681FSO
M-BSPP M-BSPP F-BSPP solid
M-ORB F-ORB M-ORB

page 37 page 37 page 37

METRIC

METRIC-METRIC

- i @

=l © | i
630FSM 639FSM 639FSMR 639FSMO 630FSK 639FSK 642FSM 642FSK
Plug Plug Plug Plug Plug Plug M-METRIC M-Komatsu
F-METRIC M-METRIC M-METRIC socket M-METRIC o'ring F-Komatsu M-Komatsu M-METRIC M-Komatsu
page 37 page 38 page 38 page 38 page 39 page 39 page 39 page 39
680FSM 683FSML 683FSMH 683FSMS
F-METRIC swivel M-METRIC M-METRIC M-METRIC
F-METRIC swivel F-METRIC swivel light | F-METRIC swivel heavy | F-METRIC solid
page 39 page 39 page 40 page 40
METRIC-ORB METRIC-ORFS
626FSO 623FSO 618TT 619TT
M-METRIC F-METRIC solid M-METRIC M-METRIC adj.
F-ORB F-ORB M-ORFS M-ORFS
| page 40 page 40 page 40 page 41
METRIC-NPTF
626FS 622FS 628FS
M-METRIC F-METRIC solid M-METRIC
F-NPTF M-NPTF M-NPTF

age 41 page 41 page 41
v

ORFS (O'RING FACE)
ORFS-ORFS

1 - " - e

8|l Uishun! isiinynsiis
Sl s vl il

841TT 883TT (2 pieces) |883TTR 830TT 839TT 842TT 832TT 880TT
Nut F-ORFS swivel F-ORFS solid Plug Plug M-ORFS M-ORFS F-ORFS swivel
ORFS M-ORFS M-ORFS F-ORFS M-ORFS M-ORFS M-ORFS bulkhead F-ORFS swivel
page 42 page 42 page 42 page 42 page 42 page 42 page 43 page 43
889TT 854BHTT 855TT 855BHTT 879TT 844TT 870TT
M-ORFS M-ORFS M-ORFS M-ORFS M-ORFS TE M-M-M TE M-M-M
F-ORFS swivel M-ORFS bulkhead M-ORFS M-ORFS bulkhead F-ORFS swivel M-ORFS M-ORFS bulkhead M-ORFS bulkhead
page 43 page 43 3 page 44 page 44 page 44 page 44 page 44
871TT 872TT
TE F-M-M TE M-F-M

M-ORFS / F-ORFS swivel
page 44

M-ORFS / F-ORFS swivel
page 45




ORFS (O'RING FACE)

ORFS-NPTF
848TT 881TT 882TT 846TT
M-ORFS F-ORFS swivel F-ORFS swivel M-ORFS
M-NPTF M-NPTF F-NPTF F-NPTF
page 45 page 45 page 45 page 46
ORFS-ORB
] 0
Z\ e
848LTTO 846TTO 881TTO 878TTO 849TTO 845TTO
M-ORFS M-ORFS F-ORFS swivel M-ORFS F-ORFS swivel M-ORFS TE M-M-M
M-ORB long F-ORB M-ORB M-ORB adj. M-ORB adj. M-ORB adi. M-ORFS / M-ORB adij.
page 47 page 47 page 47 page 47 page 47 page 48 page 48
TE M-M-M
M-ORFS / M-ORB adj.
page 48
v
ORB (O'RING BOSS)
ORB-ORB
719FSO 721FSO 723FSO 780FSO 742FSO 755FSO 779FSO
M-ORB Plug Plug F-ORB M-ORB M-ORB adj. M-ORB adj.
F-ORB M-ORB hex. head M-ORB hex. socket F-ORB M-ORB M-ORB adj. F-ORB
age 48 page 49 page 49 page 49 page 49 page 49 page 49
ORB-NPTF
728FSO 726FSO 722FSO 720FSO 725FSO 725LFSO 729FS )
F-ORB F-ORB M-ORB M-ORB M-ORB adij. M-ORB adij. long M-ORB adj.
M-NPTF F-NPTF M-NPTF F-NPTF F-NPTF F-NPTF M-NPTF
age 50 page 50 page 50 page 50 page 51 page 51 page 51
JIC-JIC
63TA 63UA [e3UC
M-JIC M-JIC M-JIC

F-JIC swivel F-JIC swivel F-JIC swivel ——
page 51 page 51 page 51

JIC-BSPP

0=
=

61TA
M-JIC
F-BSPP swivel F-BSPP swivel
page 52 page 52

VI




ADAPTER TUBE

JIC-FLANGE
63SB 63SE
M-JIC M-JIC

FLANGE (code 61)
page 52

FLANGE (code 61 HD)
page 52

Liss

63SF

M-JIC

FLANGE (code 62)
page 52

63TB

M-JIC

FLANGE (code 61)
page 53

63TE

M-JIC

FLANGE (code 61 HD)
page 53

63TF

M-JIC

FLANGE (code 62)
page 53

63UB

M-JIC

FLANGE (code 61)
page 53

63UE

M-JIC

FLANGE (code 61 HD)
page 53

()

O

O

PA PH PA77 PA77V
M-JIC Split flange Split flange QO'ring flange QO'ring flange
FLANGE (code 62) Code 61 Code 62 90 duro Viton
page 54 page 54 page 54 page 67 page 67
BSPP-BSPP
62TA 62TD 62UD
M-BSPP F-BSPP swivel M-BSPP F-BSPP swivel
F-BSPP swivel F-BSPP swivel F-BSPP swivel F-BSPP swivel
page 54 page 54 page 55 page 55
ORFS-ORFS

M-ORFS

i

64UA 64UC
M-ORFS M-ORFS
F-ORFS swivel F-ORFS swivel F-ORFS swivel long
age 55 page 55 page 55

ORFS-FLANGE

0=

64SB

M-ORFS

FLANGE (code 61)
page 55

=

64SF

M-ORFS

FLANGE (code 62)
page 56

By

64TB

M-ORFS

FLANGE (code 61)
page 56

By

64TF

M-ORFS

FLANGE (code 62)
page 56

64UB

M-ORFS

FLANGE (code 61)
page 56

64UF

M-ORFS

FLANGE (code 62)
page 56

O

O

PA PH PA77 PA77V
Split flange Split flange QO'ring flange QO'ring flange
Code 61 Code 62 90 duro Viton

page 54 page 54 page 67 page 67

SAE 45 (45° FLARE)

SAE45-SAE45

[

.

589FS 579FS
M-SAE45 M-SAE45
F-SAE45 swivel F-SAEA45 swivel
page 56 page 57

VII




(]

1960FS

Tube sleeve
page 57

1961FS
Tube nut
page 57

1946FS
Tube
F-NPTF
page 57

FLARELESS (COMPRESSION)

1948FS
Tube
M-NPTF
page 57

I

1942FS
Tube
Tube

page 57

1954FS
Tube
M-NPTF

page 58

1949FS
Tube
M-NPTF

page 58

1955FS
Tube
Tube

page 58

FLARELESS METRIC (COMP

RESSION)

L]

1960FSM

Tube sleeve
page 58

1961FSM
Tube nut
page 58

1948FSM
Tube
M-NPTF
page 59

— 1 -
i

1942FSM
Tube

Tube

page 59

1949FSM
Tube
M-NPTF
page 59

ms

1955FSM
Tube

Tube

page 59

INLINE HYDRAULIC SWIVELS

0 10

0w

]

il

]

il

0

]

59SJBH

59SP 59SS 59SL 59SX 59ST 59SXBH 59SB
F-NPTF F-NPTF F-NPTF F-JIC F-NPTF F-JIC M-JIC M-JIC
F-NPTF M-NPTF M-JIC M-JIC M-ORB M-JIC bulkhead M-JIC bulkhead M-ORB
page 60 page 60 page 60 page 60 page 60 page 60 page 61 page 61
59SA 59SJ 5987

M-JIC M-JIC F-JIC

M-NPTF M-JIC M-ORB

page 61 page 61 page 61

90° HYDRAULIC SWIVELS

0)[d

o)

o)

50ULBH

of e

59UP 59US 59UT 59UL 59UR 59U0 59UQ
F-NPTF F-NPTF F-NPTF F-NPTF F-NPTF F-ORB F-ORB F-ORB
F-NPTF 90° M-NPTF 90° M-ORB 90° M-JIC 90° M-JIC bulkhead 90° M-ORB 90 F-NPTF 90° M-NPTF 90°
page 61 page 62 page 62 page 62 page 62 page 62 page 63
] ] = ]
— i“\\\\\ll I=) E) ! E) E) :
||

G ; (18 | []fm (T | [1hm
59Ul 59UIBH 59UE 59UC 59UD 59UK 59UKBH 59UH
F-ORB F-ORB F-NPSM F-NPSM F-NPSM F-NPSM F-NPSM M-JIC
M-JIC 90° M-JIC bulkhead 90° F-NPTF 90° M-NPTF 90° M-ORB 90° M-JIC 90° M-JIC bulkhead 90° F-NPTF 90°
page 63 page 63 page 63 page 63 page 63 page 64 page 64 page 64
59UA 59UB 59UJ 59UJBH 59UF 59UG 59UV 59UN
M-JIC M-JIC M-JIC M-JIC M-NPTF M-NPTF M-NPTF M-NPTF
M-NPTF 90° M-ORB 90° M-JIC 90° M-JIC bulkhead 90° F-NPTF 90° M-NPTF 90° M-ORB 90° M-JIC 90°

page 64 page 64 page 65 page 65 page 65 page 65 page 65

59UNBH
M-NPTF

M-JIC bulkhead 90°
page 65

VIII




O'RINGS

AND NUTS

7 N 7 \ 7 \
\ } \ I\ Y
= S S

711FSO 711TTO 711BPO 710FSO 710FSM 710TTO 7100RO 7100RM
Nut bulkhead Nut bulkhead Nut bulkhead Q'ring boss QO'ring boss QO'ring face QO'ring (retainer) QO'ring (retainer)
JIC-ORB ORFS BSPP ORB Metric ORFS BSPP Metric
page 66 page 66 page 66 page 66 page 66 page 66 page 67 page 67
PA77 PA77V 710RRO 710RRM 710BSB 710BSM 712BSP 712MET
QO'ring flange QO'ring flange Retainer ring Retainer ring Bonded seal Bonded seal Copper washer Copper washer
PA-PH (90 duro) PA-PH (viton) BSPP Metric BSPP Metric BSPP Metric
page 67 page 67 page 67 page 68 page 68 page 68 page 68 page 68

IX




NPTF (pipe thread)

4 )
A A
24ST 24SF
Bouchon male NPTF téte hexagone Bouchon femelle NPTF
Hexagone head NPTF male plug NPTF female plug
Numéro N Numéro "
Part number A Part number AC)
24ST02 1/8 24SF02 1/8
24ST04 1/4 24SF04 1/4
24ST06 3/8 24SF06 3/8
24STO8 12 24SF08 172
24STI12 3/4 24SF12 3/4
24ST16 1
245120 1-1/4
24ST24 1-1/2 A B
24S5T32 2
‘ 24SB
A \\\\\\\\\\ Male NPTF / Femelle NPTF
| Male NPTF / Female NPTF
Numéro N "
24SR Part number AC) B
Bouchon male NPTF type Allen 24SB04X02 1/4 1/8
Allen type NPTF male plug 24SBO6X02 3/8 1/8
Numéro A 24SB06X04 3/8 1/4
Part number 24SB08X02 12 1/8
24SRO1 1/16 24SB08X04 12 1/4
24SR02 1/8 24SB08X06 12 3/8
24SR04 1/4 24SB12X02 3/4 1/8
24SR06 3/8 24SB12X04 3/4 1/4
24SR08 12 24SB12X06 3/4 3/8
24SR12 3/4 24SB12X08 3/4 12
24SR16 1 24SB16X04 1 1/4
24SR20 1-1/4 24SB16X06 1 3/8
24SR24 1-1/2 24SB16X08 1 12
24SR32 2 24SB16X12 1 3/4
24SB20X08 1-1/4 12
24SB20X12 1-1/4 3/4
A @ 24SB20X16 1-1/4 1
24SB24X12 1-12 3/4
24SB24X16 1-1/2 1
2B§l§cll)lon male NPTF téte carrée 245B24X20 172 A
Square head NPTF male plug iizﬁggiiz 5 314
Numéro A 24SB32X20 2 1-1/4
Part number
24SB32X24 2 1-1/2
25SP02 1/8
25SP04 1/4
25SP06 3/8
25SP08 12
25SP12 3/4
25SP16 1
\ 25SP20 1-1/4 )




NPTF (pipe thread)

Numéro " "
( Part number AC) B \
24SA16X12 1 3/4
24SA16X16 1 1
24SG 24SA20X12 1-1/4 3/4
Femelle NPTF / Méle NPTF 24SA20X16 1-174 !
Female NPTF / Male NPTF 245A20X20 1-1/4 I-1/4
- 24SA24X12 1-172 3/4
Pali“ﬁii‘t’)er A (") B (") 24SA24X16 1-172 1
24SA24X20 1-172 1-1/4
248G02X02 178 178 24SA24X24 1172 1172
24SG04X02 1/4 1/8 ASA3X32 5 )
24SG04X04 1/4 1/4
24SG06X02 3/8 1/8 8
24SG06X04 3/8 1/4 A B
24SG06X06 3/8 3/8 -
24SG08X02 12 1/8 L
24SG08X04 12 1/4 24S)
24SG08X06 172 3/8 Femelle NPTF / Femelle NPTF
24SG0O8X08 12 12 Female NPTF / Female NPTF
245G12X04 3/4 1/4 Numéro A B (")
24SG12X06 3/4 3/8 Part number
24SG12X08 3/4 12 24S702X02 173 173
24SG12X12 3/4 3/4 245J04X02 1/4 18
24SG16X06 1 3/8 245J04X04 1/4 1/4
24SG16X08 1 12 24SJ06X02 3/8 18
24SG16X12 1 3/4 24SJ06X04 3/8 1/4
24SG16X16 1 1 24SJ06X06 3/8 3/8
24SG20X16 1-1/4 1 24SJ08X04 12 1/4
24SG20X20 1-1/4 1-1/4 24SJ08X06 12 3/8
245G24X20 1-172 1-1/4 24SJ08X08 12 12
245G24X24 1-172 1-1/2 24S712X08 3/4 12
24SG32X24 2 1-1/2 24SJ12X12 3/4 3/4
24SJ16X12 1 3/4
24SJ16X16 1 1
245120X20 1-1/4 1-1/4
245124X24 1-12 1-172
245J32X32 2 2
24SA B
Male NPTF / Male NPTF
Male NPTF / Male NPTF R
Numéro N "
Part number A B 25TG
245A02X02 178 178 Male NPTF / Femelle NPTF
24SA04X02 1/4 178 Male NPTF / Female NPTF
24SA04X04 1/4 1/4 Numéro
24SA06X02 3/8 118 Part number A B (")
24SA06X04 3/8 1/4 25TG02X02 173 178
24SA06X06 3/8 318 25TG04X04 1/4 1/4
24SA08X04 172 1/4 25TG06X06 3/8 3/8
24SA08X06 172 3/8 25TGO8X08 12 12
24SA08X08 172 172 25TG12X12 3/4 3/4
24SA12X06 3/4 3/8 25TG16X16 1 1
24SA12X08 3/4 172 25TG20X20 1-1/4 1-1/4
24SAI12X12 34 3/4 25TG24X24 1-172 1172
\24SA16X08 ! 12 25TG32X32 2 2 J




NPTF (pipe thread)

Numéro " "
( Part number AC) B \
B 25UG20X20 1-1/4 1-1/4
25UG24X24 1-12 1-172
25TA 25UG32X32 2 2
Male NPTF / Male NPTF
Male NPTF / Male NPTF
Numéro " "
Part number AC) B ()
25TA02X02 1/8 1/8 25UGSW
25TA04X04 1/4 1/4 Male NPTF tournant / Femelle NPTF
25TA06X06 3/8 3/8 Male NPTF swivel / Female NPTF
25TA08X08 12 12 NUmero
25TA12X12 3/4 3/4 Part number A() B (")
25TA16X16 1 1 25SUGSW04X04 1/4 1/4
A 25UGSW06X06 3/8 3/8
25SUGSW08XO08 12 12
:J B DSUGSW12X12 3/4 3/4
PSUGSW16X16 1 1
25T) A
Femelle NPTF / Femelle NPTF
Female NPTF / Female NPTF B
, Numéro A B ("
art number 25UJ
25TJ04X04 1/4 1/4 Femelle NPTF / Femelle NPTF
25TJO6X06 3/8 3/8 Female NPTF / Female NPTF
25TJO8X08 12 12 Numéro
25TI12X12 3/4 3/4 Part number A B (")
25TJ16X16 ! ! 250J02X02 178 178
B 25UJ04X02 1/4 1/8
25UJ04X04 1/4 1/4
25UJ06X04 3/8 1/4
25UJ06X06 3/8 3/8
250G 25UJ08X06 12 3/8
Male NPTF / Femelle NPTF 25U708X08 112 172
Male NPTF / Female NPTF 25UJ12X08 3/4 172
N 25UT12X12 3/4 3/4
Part nuraber A" B (") 25UJ16X12 1 3/4
25UG02X02 1/8 1/8 25U716X16 ! !
5SUG02X04 s 4 25U120X20 1-1/4 1-1/4
5SUGO4X02 4 18 25UI24X24 1-12 1-12
25UG04X04 1/4 1/4 25U132X32 2 2
25UG04X06 1/4 3/8
25UG06X04 318 1/4
25UG06X06 318 3/8
25UG06X08 318 12
25UG08X06 12 3/8 25UA
25UG08X08 172 172 Male NPTF / Male NPTF
25UG08X12 12 3/4 Male NPTF / Male NPTF
25UG12X08 3/4 12 Numéro
25UG12X12 3/4 3/4 Part number AC) B (")
25UGI2X16 34 ! 25UA02X02 178 173
\22UG16X16 ! ! 25UA04X02 1/4 118 Y,




NPTF (pipe thread)

Numéro N N Numéro N
[Part number AC) B Part number AC) \
25UA04X04 1/4 1/4 25VJ06 3/8
25UA06X04 3/8 1/4 25VJ08 12
25UA06X06 3/8 3/8 25VJ12 3/4
25UA08X06 12 3/8 25VJ16 1
25UA08X08 1/2 1/2 25VJ20 1-1/4
25UA12X08 3/4 1/2 25VJ24 1-1/2
25UA12X12 3/4 3/4 25V]32 2
25UA16X12 1 3/4
25UA16X16 1 1
25UA20X20 1-1/4 1-1/4
25UA24X24 1-1/2 1-1/2
25VG
Male NPTF / Femelle NPTF / Mile NPTF
Male NPTF / Female NPTF / Male NPTF
Numéro NG
25UASW Part number
Male NPTF / Male NPTF tournant 25VG02 1/8
Male NPTF / Male NPTF swivel 25VG04 1/4
Numéro " N 25VG06 3/8
Part number AC) B 25VGO08 172
25UASW04X04 1/4 1/4 25VGI12 3/4
25UASW06X06 3/8 3/8 25VG16 1
25UASWO08X08] 172 172
25SUASW12X12) 3/4 3/4
A A
25VT
Femelle NPTF / Male NPTF / Male NPTF
25VC A Female NPTF / Male NPTF / Male NPTF
Femelle NPTF / Male NPTF / Femelle NPTF Numéro
Female NPTF / Male NPTF / Female NPTF Part number A"
b Numéro A 25VT02 178
art number 25VT04 1/4
25VC02 1/8 25VT06 3/8
25VC04 1/4 25VTO08 12
25VC06 3/8 25VTI12 3/4
25VC08 12 25VT16 1
25VC12 3/4 25VT20 1-1/4
25VCl6 1 25VT24 1-1/2
25VC20 1-1/4
25VC24 1-1/2 A
A A
25VK A
A Femelle NPTF / Femelle NPTF / Male NPTF
25V] Female NPTF / Female NPTF / Male NPTF
Femelle NPTF / Femelle NPTF / Femelle NPTF Numéro
Female NPTF / Female NPTF / Female NPTF Part number A
Numéro AC) 25VKO02 1/8
Part number 25VK04 1/4
25VJ02 1/8 25VKO06 3/8
\ 25VJ04 1/4 25VK08 1/2 )




NPTF (pipe thread) / NPSM (pipe swivel)

Numéro " Numéro " "
[Part number A Part number A B \
25VK12 3/4 60SA04X06 1/4 3/8
25VK16 1 60SA04X08 1/4 12
25VK20 1-1/4 60SA06X04 3/8 1/4
25VK24 1-1/2 60SA06X06 3/8 3/8
60SA06X08 3/8 12
A A 60SA08X04 12 1/4
60SA08X06 12 3/8
60SA08X08 12 12
60SA08X12 12 3/4
25VA 60SA12X08 3/4 12
Male NPTF / Male NPTF / Male NPTF 60SA12X12 /4 3/4
Male NPTF / Male NPTF / Male NPTF C0SA12X16 3 1
Numéro A 60SA16X12 1 3/4
Part number 60SA16X16 1 1
25VA04 1/4 60SA16X20 1 1-1/4
25VA06 3/8 60SA20X16 1-1/4 1
25VA08 12 60SA20X20 1-1/4 1-1/4
25VAI2 3/4 60SA24X24 1-172 1-12
25VAL16 1 60SA32X32 2 2
A
A A A
25W] A 60SG
Croix femelle NPTF Femelle NPTF / Femelle NPSM tournant
Cross female NPTF Female NPTF / Female NPSM swivel
Numéro " ¢
Part number A Paliu:flf:];er A() B ()
25WJ02 1/8 60SG02X02 1/8 1/8
25WJ04 1/4 60SG04X04 1/4 1/4
25WJ06 318 60SG04X06 1/4 3/8
25WJ08 172 60SG04X08 1/4 12
25WI12 3/4 60SG06X04 318 1/4
25WI16 1 60SG06X06 318 3/8
25WJ20 1-1/4 60SG06X08 318 12
25WJ24 1-172 60SG08X04 12 1/4
25WJ32 2 60SG08X06 12 3/8
. . 60SG08X08 12 12
| NPSM (pipe swivel) 60SG12X12 3/4 3/4
60SG12X16 3/4 1
60SG16X12 1 3/4
A B 60SG16X16 | 1
60SA 60SG20X20 1-1/4 1-1/4
61SA (Restriction / Restricted orifice) 605G24X24 1172 1-172
Male NPTF / Femelle NPSM tournant 60SG32X32 2 2
Male NPTF / Female NPSM swivel
Numéro " "
Part number AC) B
60SA02X02 1/8 1/8
60SA02X04 1/8 1/4
60SA04X02 1/4 1/8
\ G0SA04X04 1/4 1/4 Y,




NPSM (pipe swivel)

- z p
A
60TA 60UA
Male NPTF / Femelle NPSM tournant Male NPTF / Femelle NPSM tournant
Male NPTF / Female NPSM swivel Male NPTF / Female NPSM swivel
Numéro " " Numéro " "
Part number AC) B Part number A B
60TA02X02 1/8 1/8 60UA02X02 1/8 1/8
60TA02X04 1/8 1/4 60UA02X04 1/8 1/4
60TA04X04 1/4 1/4 60UA04X02 1/4 1/8
60TA04X06 1/4 3/8 60UA04X04 1/4 1/4
60TA06X06 3/8 3/8 60UA04X06 1/4 3/8
60TA06X08 3/8 172 60UA04X08 1/4 172
60TA08X06 12 3/8 60UA06X04 3/8 1/4
60TA08X08 12 172 60UA06X06 3/8 3/8
60TA08X12 12 3/4 60UA06X08 3/8 172
60TA12X08 3/4 172 60UA08X04 172 1/4
60TA12X12 3/4 3/4 60UA08X06 172 3/8
60TA12X16 3/4 1 60UA08X08 172 172
60TA16X12 1 3/4 60UA08X12 172 3/4
60TA16X16 1 1 60UA12X06 3/4 3/8
60TA16X20 1 1-1/4 60UA12X08 3/4 172
60TA20X16 1-1/4 1 60UA12X12 3/4 3/4
60TA20X20 1-1/4 1-1/4 60UA12X16 3/4 1
60TA24X24 1-1/2 1-1/2 60UA16X08 1 172
60TA32X32 2 2 60UA16X12 1 3/4
60UA16X16 1 1
60UA16X20 1 1-1/4
A 60UA20X16 1-1/4 1
60UA20X20 1-1/4 1-1/4
60UA24X24 1-1/2 1-1/2
60TG 60UA32X32 2 2
Femelle NPTF / Femelle NPSM tournant
Female NPTF / Female NPSM swivel B
Numéro " "
Part number A B A
60TG02X02 1/8 1/8
60TG02X04 1/8 1/4 60UC
60TG04X04 1/4 1/4 Male NPTF long / Femelle NPSM tournant
60TG06X04 3/8 1/4 Male NPTF lOIlg / Female NPSM swivel
60TG06X06 3/8 3/8 Numéro A B (")
60TG08X06 172 3/8 Part number
60TG08X08 12 172 60UC02X02 1/8 1/8
60TG12X08 3/4 172 60UC04X04 1/4 1/4
60TG12X12 3/4 3/4 60UC06X06 3/8 3/8
60TG16X12 1 3/4 60UC08X08 172 12
60TG16X16 1 1 60UC12X12 3/4 3/4
60TG20X20 1-1/4 1-1/4 60UC16X16 1 1
60TG24X24 1-12 1-172
60TG32X32 2 2
\§ y




NPSM (pipe swivel)

Femelle NPSM tourn. / Femelle NPTF / Femelle NPSM tourn.
Female NPSM swivel / Female NPTF / Female NPSM swivel

B Numéro " "
( Part number AC) BO) \
60VC12X12 3/4 3/4
A 60VC16X16 1 1
60UG 60VC20X20 1-1/4 1-1/4
Femelle NPTF / Femelle NPSM tournant A A
Female NPTF / Female NPSM swivel
Numéro " "
Part number AC) BO
60UG02X02 1/8 1/8 60V] =
60UG04X04 1/4 1/4 Femelle NPSM tourn. / Fem. NPSM tourn. / Fem. NPSM tourn.
60UG04X06 1/4 3/8 Female NPSM swiv. / Female NPSM swiv. / Female NPSM swiv.
60UG06X04 3/8 1/4 Numéro "
60UG06X06 3/8 3/8 Part number A0
60UG06X08 3/8 172 60VJ02 1/8
60UG08X06 172 3/8 60VJ04 1/4
60UG08X08 172 1/2 60VJ06 3/8
60UG12X12 3/4 3/4 60VJ08 12
60UG16X16 1 1 60VI12 3/4
60UG20X20 1-1/4 1-1/4 60VI16 1
60UG24X24 1-1/2 1-172 60VI20 1-1/4
B B
A B
A
60VH 60SB

Male o'ring boss / Femelle NPSM tournant
Male o'ring boss / Female NPSM swivel

Numéro " " &

Part number AC) B() Paﬁugf;ger A" B (") O'ring
60VH02X02 178 1/8 60SB04X02 1/4 1/8 710FSO04
60VHO04X04 174 1/4 60SB04X04 1/4 1/4 710FSO04
60VH06X06 318 318 60SB04X06 1/4 3/8 710FSO04
60VHO8X08 172 172 60SB05X04 5/16 1/4 710FS0O05
60VHI2X08 3/4 172 60SB06X04 318 1/4 710FS006
60VH12X12 3/4 3/4 60SB06X06 318 3/8 710FS006
60VH16X16 1 1 60SB06X08 318 112 710FS006
60VH20X20 1-1/4 60SB08X04 12 1/4 710FSO08
60SB08X06 12 3/8 710FSO08
60SB08X08 12 12 710FSO08
60SB08X12 12 3/4 710FSO08
60SB10X06 5/8 3/8 710FSO10
60VC 60SB10X08 5/8 12 710FSO10
Femelle NPSM tourn. / Male NPTF / Femelle NPSM tourn. 60SB10X12 5/8 3/4 710FSO10
Female NPSM swivel / Male NPTF / Female NPSM swivel 60SB12X08 3/4 1/2 710FSO12
Numéro A B (") 60SB12X12 3/4 3/4 710FSO12
Part number 60SB14X12 7/8 3/4 710FSO14
60VC02X02 178 178 60SB16X12 1 3/4 710FSO16
60VC04X04 1/4 1/4 60SB16X16 1 1 710FSO16
60VC06X06 3/8 3/8 60SB20X16 1-1/4 1 710FS020
60VC06X08 3/8 12 60SB20X20 1-1/4 1-1/4 710FS020
60VC08X06 12 3/8 60SB24X24 1-172 1-12 710FS024
60VC08X08 12 12 60SB32X32 2 2 710FS032

\GOVC12X08 3/4 12




NPSM (pipe swivel) / JIC (37° flare)

Male o'ring boss / Femelle NPSM tournant
Male o'ring boss / Female NPSM swivel

( B Numéro " " . \
Part number A B O'ring
A 60UB20X20 1-1/4 1-1/4 710FSO20
60UB24X24 1-1/2 1-1/2 710FSO24
60TB 60UB32X32 2 2 710FSO32

JIC (37° flare)

Numéro " " .
Part number AC) B O'ring A
60TB04X04 1/4 1/4 710FSO04
60TB04X06 1/4 3/8 710FSO04
60TB06X04 3/8 1/4 710FS006 | 830FS
60TB06X06 3/8 3/8 710FSO06 Bouchon femelle JIC
60TB06X08 3/8 12 710FSO06 | Female JIC plug
60TB08X06 172 3/8 710FSO08 Numéro .
60TB08X08 172 172 710FSO08 Part number AC)
60TB08X12 172 3/4 710FSO08 830FS02 1/8
60TB10X06 5/8 3/8 710FSO10 830FS03 3/16
60TB10X08 5/8 172 710FSO10 830FS04 1/4
60TB10X12 5/8 3/4 710FSO10 830FS05 5/16
60TB12X08 3/4 172 710FSO12 830FS06 3/8
60TB12X12 3/4 3/4 710FSO12 830FS08 12
60TB12X16 3/4 1 710FSO12 830FS10 5/8
60TB16X16 1 1 710FSO16 830FS12 3/4
60TB20X20 1-1/4 1-1/4 710FS0O20 830FS14 7/8
60TB24X24 1-172 1-172 710FS0O24 830FS16 1
830FS20 1-1/4
830FS24 1-12
830FS32 2
A
([
Male o'ring boss / Femelle NPSM tournant
Male o'ring boss / Female NPSM swivel
Numéro A B (") Orring 839FS A
Part number Bouchon male JIC
60UB04X04 174 174 710FS004 | Male JIC plug
60UB04X06 1/4 3/8 710FSO04 Numéro A
60UB06X04 3/8 1/4 710FSO06 Part number
60UB06X06 3/8 3/8 710FSO06 839FS02 1/8
60UB06X08 3/8 172 710FSO06 839FS03 3/16
60UB08X04 172 1/4 710FSO08 839FS04 1/4
60UB08X06 172 3/8 710FSO08 839FS05 5/16
60UB08X08 172 172 710FSO08 839FS06 3/8
60UB08X12 172 3/4 710FSO08 839FS08 12
60UB10X04 5/8 1/4 710FSO10 839FS10 5/8
60UB10X06 5/8 3/8 710FSO10 839FS12 3/4
60UB10X08 5/8 172 710FSO10 839FS14 7/8
60UB10X12 5/8 3/4 710FSO10 839FS16 1
60UB12X08 3/4 172 710FSO12 839FS20 1-1/4
60UB12X12 3/4 3/4 710FSO12 839FS24 1-12
60UB12X16 3/4 1 710FSO12 839FS32 2
60UB14X12 7/8 3/4 710FSO14
60UB16X12 1 3/4 710FSO16
@UB16X16 1 1 710FSO16 )




JIC (37° flare)

4 )
840FS 883FS
Bague JIC Femelle JIC fixe / Male JIC
Sleeve JIC Female JIC solid / Male JIC
Numéro N Numéro N "
Part number A Part number AC) B
840FS02 1/8 883FS04X06 1/4 3/8
840FS03 3/16 883FS05X04 5/16 1/4
840FS04 1/4 883FS06X04 3/8 1/4
840FS05 5/16 883FS06X05 3/8 5/16
840FS06 3/8 883FS06X08 3/8 172
840FS08 12 883FS08X04 12 1/4
840FS10 5/8 883FS08X05 12 5/16
840FS12 3/4 883FS08X06 12 3/8
840FS14 7/8 883FS08X10 12 5/8
840FS16 1 883FS08X12 12 3/4
840FS20 1-1/4 883FS10X04 5/8 1/4
840FS24 1-12 883FS10X06 5/8 3/8
840FS32 2 883FS10X08 5/8 172
883FS10X12 5/8 3/4
883FS12X04 3/4 1/4
883FS12X06 3/4 3/8
883FS12X08 3/4 172
883FS12X10 3/4 5/8
841FS 883FS12X16 3/4 1
Ecrou JIC 883FS14X06 /8 3/8
Nut JIC 883FS14X08 /8 12
Numéro . 883FS14X10 7/8 5/8
Part number A 883FS14X12 7/8 3/4
841FS02 1/8 883FS16X04 1 1/4
841FS03 3/16 883FS16X06 1 3/8
841FS04 1/4 883FS16X08 1 172
841FS05 5/16 883FS16X12 1 3/4
841FS06 3/8 883FS16X14 1 /8
841FS08 12 883FS16X20 1 1-1/4
841FS10 5/8 883FS20X08 1-1/4 172
841FS12 3/4 883FS20X12 1-1/4 3/4
841FS14 7/8 883FS20X16 1-1/4 1
841FS16 1 883FS20X24 1-1/4 1-12
841FS20 1-1/4 883FS24X12 1-1/2 3/4
841FS24 1-1/2 883FS24X16 1-1/2 1
841FS32 2 883FS24X20 1-1/2 1-1/4
883FS32X24 2 1-12
. J




JIC (37° flare)

Numéro " "
( Part number AC) B \
A \\\\\ B 842FS12X12 3/4 3/4
842FS14X12 7/8 3/4
B3FSSW 181 6X08 h o
Femelle JIC tournant / Male JIC
Female JIC swivel / Male JIC 842F516X10 ! 5/8
i 842FS16X12 1 3/4
Paﬁ“i’lf;ober A B (") 842FS16X 14 1 18
842FS16X16 1 1
883FSSW04X04 1/4 1/4 842ES20X12 1-1/4 3/4
883FSSW04X06 1/4 3/8 842FS20X 16 1-1/4 1
883FSSWO05X05 5/16 5/16 842FS20X20 1-1/4 1-1/4
883FSSW06X06 3/8 3/8 S42FS24X 16 1-172 1
883FSSWO6X08 308 12 842FS24X20 1-172 1-1/4
B83FSSWO8X06 12 308 842FS24X24 1-172 1-172
883FSSWO08X08 12 172 842FS32X16 ) 1
883FSSWO08X10 12 5/8 842FS32X20 ) 1-1/4
883FSSW10X10 5/8 5/8 S42FS32X24 ) 1-1/2
883FSSW12X10 3/4 5/8 S42FS32X32 ) )
883FSSW12X12 3/4 3/4
883FSSW16X16 1 1 YOO
883FSSW16X20 1 1-1/4
883FSSW20X16 1-1/4 1 = =
883FSSW20X20 1-1/4 1-1/4
883FSSW20X24 1-1/4 1-1/2 832FS
883FSSW24X24 1-1/2 1-1/2 Male JIC / Male JIC cloison
883FSSW32X32 2 2 Male JIC / Male JIC bulkhead
— Numéro A" Ecrou
— Part number Nut
A u \\\\\ o \\\\ B 832FS04 1/4 711ESO04
L 832FS05 5/16 711FS005
842FS 832FS06 3/8 711FS006
Male JIC / Male JIC 832FS08 12 711FS008
Male JIC / Male JIC 832FS10 5/8 711FSO10
- 832FS12 3/4 711FSO12
Numéro A B (") 832FS16 1 711FSO16
Part number
832FS20 1-1/4 711FS020
842F502X02 1/8 178 832FS24 1-12 711FS024
842FS03X03 3/16 3/16
842FS04X04 1/4 1/4
842FS05X04 5/16 1/4 A H Ilg B
842FS05X05 5/16 5/16 ‘ >-4
842FS06X04 3/8 1/4
842FS06X05 3/8 5/16 880FS
842FS06X06 3/8 3/8 Femelle JIC tournant / Femelle JIC tournant
842FS08X04 12 1/4 Female JIC swivel / Female JIC swivel
842FS08X05 12 5/16 Numéro i ;
842FS08X06 12 3/8 Part number AC) B ()
842FS08X08 172 172 880FS04X04 1/4 1/4
842FS10X06 5/8 3/8 880FS05X05 5/16 5/16
842SF10X08 5/8 172 880FS06X06 3/8 3/8
842FS10X10 5/8 5/8 880FS08X08 1/2 172
842FS12X06 3/4 3/8 880FS10X10 5/8 5/8
842FS12X08 3/4 172 880FS12X12 3/4 3/4
\§42FS12X10 3/4 s/8 880FS16X16 1 1 Y,

10



JIC (37° flare)

4 x A A
B
856FS 855FS
Male JIC / Male JIC Male JIC / Male JIC
Male JIC / Male JIC Male JIC / Male JIC
Numéro " . Numéro . "
Part number A B Part number A B
856FS04X04 1/4 1/4 855FS04X04 1/4 1/4
856FS06X06 3/8 3/8 855FS05X05 5/16 5/16
856FS08X08 172 172 855FS06X06 3/8 3/8
856FS10X10 5/8 5/8 855FS06X04 3/8 1/4
856FS12X12 3/4 3/4 855FS08X06 172 3/8
855FS08X08 12 172
855FS10X08 5/8 172
855FS10X10 5/8 5/8
855FS12X12 3/4 3/4
855FS14X14 /8 718
854BHFS 855FS16X12 1 3/4
Male JIC / Male JIC bulkhead 855ES20X20 1-1/4 1-1/4
Numéro ACY Ecrou 855FS24X24 1-172 1-172
Part number Nut 855FS32X32 2 2
854BHFS04 1/4 711FSO04
854BHFS05 5/16 711FSO05
854BHFS06 3/8 711FSO06
854BHFS08 12 711FSO08
854BHFS10 5/8 711FSO10
854BHFS12 3/4 71185012 |[8SSBHES
854BHES16 1 711ESO16 Male JIC / Male JIC cloison
854BHFS20 1-1/4 711ESO20 Male JIC / Male JIC bulkhead
Numéro A Ecrou
Part number Nut
855BHFS04 1/4 711FS0O04
A 855BHFS05 5/16 711FSO05
855BHFS06 3/8 711FSO06
889FS 855BHFS08 12 711FSO08
Femelle JIC tournant / Male JIC 855BHFS10 5/8 711FSO10
Female JIC swivel / Male JIC 855BHFS12 3/4 711ESO12
Numéro A 855BHFS16 1 711FSO16
Part number 855BHFS20 1-1/4 711FSO20
889FS04 1/4 A
889FS05 5/16
889FS06 3/8
889FS08 172
889FS10 5/8
889FS12 3/4 879FS
889FS14 7/8 Femelle JIC tournant / Male JIC
889FS16 1 Female JIC swivel / Male JIC
889FS20 1-1/4 Numéro A B (")
889FS24 1-1/2 Part number
889FS32 2 879FS03X03 3/16 3/16
879FS04X04 1/4 1/4
\ 879FS04X06 1/4 3/8 )

11



JIC (37° flare)

Numéro N .
[Part number AC) B (") \
879FS05X05 5/16 5/16
879FS06X06 3/8 3/8
879FS08X06 1/2 3/8
870FS
ST9FS08X08 12 172 Male JIC / Male JIC cloison / Male JIC
879FS08X10 172 518 Male JIC / Male JIC bulkhead / Male JIC
879FS10X08 5/8 12 i i
879FS10X10 s/8 5/8 Paﬁ“ﬂiﬁ (t’)er ACY) E;ruotu
879FS12X10 3/4 5/8
879FS12X12 34 374 870FS04 1/4 711ESO04
879FS14X14 7/8 7/8 870FS05 5/16 711FS005
879FS16X16 1 1 870FS06 3/8 711FS006
879FS20X20 1-1/4 1-1/4 870FS08 12 711FSO08
879FS24X24 1-172 1-172 870FS10 5/8 711FSO10
879FS32X32 2 2 870FS12 3/4 711FSO12
870FS16 1 711FSO16
_ 870FS20 1-1/4 711FS0O20
A
875FS
Femelle JIC tournant / Femelle JIC tournant
Female JIC swivel / Female JIC swivel 861FS
- Male JIC / Male JIC / Male JIC cloison
Numéro A" Male JIC / Male JIC / Male JIC bulkhead
Part number - .
i U Pt mamnber AC) Nt
875FS05 5/16
875FS06 3/8 861FS06 3/8 711FSO06
875FS08 12 861FS08 12 711FSO08
875FS10 5/8 861FS10 5/8 711FSO10
875FS12 3/4 861FS12 3/4 711FSO12
875FS16 1 861FS16 1 711FSO16
844KS gz:ngi JIC tournant / Male JIC / Male JIC
Male JIC/Male JIC /Wile JIC Female JIC swivel / Male JIC / Male JIC
Male JIC / Male JIC / Male JIC
Numéro ., Numéro N
Part number A" Part number )
844FS04 1/4 871FS04 1/4
844FS05 5/16 871FS05 5/16
844FS06 3/8 871FS06 3/8
844FS08 12 871FS08 5
844FS10 5/8 871FS10 5/8
844FS12 3/4 871FS12 3/4
844FS14 718 871FS16 1
844FS16 1 871FS20 1-1/4
844FS20 1-1/4 871FS24 1-12
844FS24 1-1/2
844FS32 2
~ Y,

12



JIC (37° flare)

4 - )
2l
872FS 848FS
Male JIC / Femelle JIC tournant / Male JIC Male JIC / Male NPTF
Male JIC / Female JIC swivel / Male JIC Male JIC / Male NPTF
Numéro N Numéro " "
Part number AC) Part number AC) B
872FS04 1/4 848FS02X02 1/8 1/8
872FS05 5/16 848FS03X02 3/16 1/8
872FS06 3/8 848FS04X02 1/4 1/8
872FS08 1/2 848FS04X04 1/4 1/4
872FS10 5/8 848FS04X06 1/4 3/8
872FS12 3/4 848FS04X08 1/4 12
872FS16 1 848FS05X02 5/16 1/8
872FS20 1-1/4 848FS05X04 5/16 1/4
872FS24 1-1/2 848FS05X06 5/16 3/8
848FS05X08 5/16 12
A 848FS06X02 3/8 1/8
848FS06X04 3/8 1/4
848FS06X06 3/8 3/8
848FS06X08 3/8 12
873FS = 848FS06X12 3/8 3/4
Femelle JIC tournant / Femelle JIC tourn. / Femelle JIC tourn. | 848FS08X02 12 1/8
Female JIC swivel / Female JIC swivel / Female JIC swivel 848FS08X04 12 1/4
Numéro A 848FS08X06 1/2 3/8
Part number 848FS08X08 172 12
873FS04 1/4 848FS08X12 1/2 3/4
873FS05 5/16 848FS08X16 1/2 1
873FS06 3/8 848FS10X04 5/8 1/4
873FS08 12 848FS10X06 5/8 3/8
873FS10 5/8 848FS10X08 5/8 12
873FS12 3/4 848FS10X12 5/8 3/4
873FS16 1 848FS10X16 5/8 1
873FS20 1-1/4 848FS12X06 3/4 3/8
848FS12X08 3/4 12
848FS12X12 3/4 3/4
848FS12X16 3/4 1
848FS12X20 3/4 1-1/4
848FS12X24 3/4 1-1/2
852FS 848FS14X12 78 3/4
Croix mile JIC 848FS16X08 1 12
ERESITTOIE 848FS16X12 1 3/4
Numéro " 848FS16X16 1 1
Part number A0 848FS16X20 1 1-1/4
852FS04 1/4 848FS16X24 1 1-1/2
852FS05 5/16 848FS20X12 1-1/4 3/4
852FS06 3/8 848FS20X16 1-1/4 1
852FS08 172 848FS20X20 1-1/4 1-1/4
852FS10 5/8 848FS20X24 1-1/4 1-1/2
852FS12 3/4 848FS24X16 1-172 1
852FS14 718 848FS24X20 1-12 1-1/4
852FS16 1 848FS24X24 1-172 1-1/2
\ 848FS24X32 1-12 2 )

13



JIC (37° flare)

Numéro " "

[Part number AC) B T \
848FS32X20 2 1-1/4 A //// B
848FS32X24 2 1-172
848FS32X32 2 2 846FS

— Male JIC / Femelle NPTF
— I q Male JIC / Female NPTF

A ///// - \\\\\\\\\\\\\\\\\\ B Numéro A B (")
— Part number

S48LFS 846FS02X02 1/8 1/8
Male JIC / Male NPTF long 846FS03X02 3/16 1/8
Male JIC / Male NPTF long 846FS04X02 1/4 1/8

Numéro 846FS04X04 1/4 1/4
Part number A B 846FS04X06 1/4 3/8

848LFS04X02 1/4 18 846FS04X08 174 12
848LFS04X04 1/4 1/4 846FS05X02 /16 178
848LFS06X06 3/8 3/8 846FS05X04 /16 1/
848LFS08X08 12 12 846FS05X06 /16 38
848LFS12X12 3/4 3/4 846FS06X02 38 178

846FS06X04 3/8 1/4

846FS06X06 3/8 3/8

A B 846FS06X08 3/8 1/2
W&W 846FS08X04 12 1/4

846FS08X06 12 3/8

848LLFS 846FS08X08 172 1/2
Mile JIC / Male NPTF X-long 846FS08X 12 12 3/4
Male JIC / Male NPTF X-long 846FS10X06 5/8 3/8

Numéro " ] 846FS10X08 5/8 1/2
Part number A B 846FS10X12 5/ 3/4

848LLFS04X02 1/4 1/8 846FS12X08 3/4 172
848LLFS04X04 1/4 1/4 846FS12X12 3/4 3/4
848LLES06X04 3/8 1/4 846FS12X16 3/4 1
848LLFS06X06 318 3/8 846FS14X12 718 3/4
848LLFS08X08 12 12 846FS16X12 1 3/4
848LLFS12X12 3/4 3/4 846FS16X16 1 1

846FS20X16 1-1/4 1
846FS20X20 1-1/4 1-1/4
A ///// ///// B 846FS24X24 1-172 1-12
846FS32X32 2 2
848BHFS

Male JIC cloison / Male NPTF
Male JIC bulkhead / Male NPTF

Numéro " " Ecrou
Part number A B Nut

848BHFS04X02 1/4 1/8 711ESO04
848BHFS04X04 1/4 1/4 711ESO04
848BHFS06X04 3/8 1/4 711ESO06
848BHFS06X06 3/8 3/8 711FSO06
848BHFS08X06 12 3/8 711FSO08
848BHFS08X08 12 12 711ESO08
848BHFS10X08 5/8 12 711ESO10
848BHFS12X12 3/4 3/4 711FSO12
848BHFS16X16 1 1 711FSO16
848BHFS20X20 1-1/4 1-1/4 711ESO20

SQSBHFSMXM 1-12 1-12 711ESO24 )

14



JIC (37° flare)

Numéro " "
( N — Part number A B \
A H ///// ///// 882FS08X06 12 3/8
882FS08X08 12 12
882FS10X08 5/8 12
847FS
Male JIC Cloison / Femelle NPTF 882FS12X12 34 4
Male JIC bulkhead / Female NPTF 882FS16X16 L !
c— — 882FS20X20 1-1/4 1-1/4
Part number AC) B (") Nut
847FS04X02 1/4 173 711FSO04
847FS04X04 1/4 1/4 711FSO04
847FS06X04 3/8 1/4 711FS006
847FS08X06 12 3/8 711FS008  |854FS
847FS10X08 5/8 12 711FSO10  |[Male JIC / Male NPTF
847FS12X12 3/4 3/4 711FsO012  |[Male JIC / Male NPTF
847FS16X16 1 1 711FS0O16 Numéro - -
Part number A B
854FS02X02 1/8 1/8
A 854FS03X02 3/16 1/8
854FS04X02 1/4 1/8
854FS04X04 1/4 1/4
881FS
Femelle JIC tournant / Male NPTF 854FS04X06 1/4 318
Female JIC swivel / Male NPTF 854F505X02 5/16 1/8
, 854FS05X04 5/16 1/4
Numéro A B (") 854FS06X02 318 178
Part number 854FS06X04 3/8 1/4
881FS04X02 1/4 1/8 SAFS06X06 38 38
881FS04X04 1/4 1/4 SAFS06X08 38 "
881FS05X04 5/16 1/4 SAFS08X04 o 4
881FS06X04 3/8 1/4 SSAFSOSX06 "o 38
881FS06X06 3/8 3/8 8SAFS08XO0R " "
881FS08X06 12 3/8 QSAFS08X 12 " 24
881FS08X08 12 12 SSAFS10X06 S8 38
881FS10X06 s/8 3/8 8SAFS10X08 /8 "
881FS10X08 s/8 12 9SAFS10X 12 S8 24
881FS12X08 3/4 12 9SAFS 12X08 34 "
881FS12X12 3/4 3/4 QSAFS 12X 10 4 24
881FS16X12 1 3/4 QSAFS 19X 16 4 |
881FS16X16 1 1 854FS14X12 718 3/4
881FS20X20 1-1/4 1-1/4 9SAFS 16X08 | "
854FS16X12 1 3/4
— 854FS16X16 1 I
A 854FS16X20 1 1-1/4
854FS20X16 1-1/4 I
882FS 854FS20X20 1-1/4 1-1/4
Femelle JIC tournant / Femelle NPTF 854F524X24 1-172 1-172
Female JIC swivel / Female NPTF 834FS32X32 2 2
Numéro " "
Part number AC) B
882FS04X02 1/4 1/8
882FS04X04 1/4 1/4
882FS06X04 3/8 1/4
882FS06X06 3/8 3/8
\382FS06X08 3/8 12 Yy

15



JIC (37° flare)

- 3 2
L

849FS 849LFS

Male JIC / Male NPTF Male JIC / Male NPTF long

Male JIC / Male NPTF Male JIC / Male NPTF long

Numéro N " Numéro " "

Part number AC) B (") Part number A B (™
849FS02X02 1/8 1/8 849L.FS04X02 1/4 1/8
849FS03X02 3/16 1/8 849LFS04X04 1/4 1/4
849FS04X02 1/4 1/8 849LFS05X02 5/16 1/8
849FS04X04 1/4 1/4 849LFS05X04 5/16 1/4
849FS04X06 1/4 3/8 849LFS06X04 3/8 1/4
849FS04X08 1/4 1/2 849LFS06X06 3/8 3/8
849SF05X02 5/16 1/8 849LFS08X06 172 3/8
849FS05X04 5/16 1/4 849L.FS08X08 172 12
849FS05X06 5/16 3/8 849LFS10X08 5/8 12
849FS06X02 3/8 1/8 849LFS12X12 3/4 3/4
849FS06X04 3/8 1/4 849LFS16X12 1 3/4
849FS06X06 3/8 3/8 849LFS16X16 1 1
849FS06X08 3/8 1/2 849LFS20X20 1-1/4 1-1/4
849FS06X12 3/8 3/4 A

849FS08X04 172 1/4

849FS08X06 12 3/8

849FS08X08 12 12 :m T
849FS08X12 12 3/4

849FS08X 16 12 1 849LLFS

849FS10X06 5/8 3/8 Male JIC / Male NPTF X-long

849FS10X08 5/8 12 Male JIC / Male NPTF X-long

849FS10X12 5/8 3/4 Numéro A B (")
849FS12X06 3/4 3/8 Part number

849FS12X08 3/4 172 849LLFS04X02 1/4 1/8
849FS12X12 3/4 3/4 849LLFS04X04 1/4 1/4
849FS12X16 3/4 1 849LLFS05X02 5/16 1/8
849FS12X20 3/4 1-1/4 849LLFS05X04 5/16 1/4
849FS14X12 7/8 3/4 849LLFS06X04 3/8 1/4
849FS16X08 1 172 849LLFS06X06 3/8 3/8
849FS16X12 1 3/4 849LLFS08X06 172 3/8
849FS16X16 1 1 849LLFS08X08 172 12
849FS16X20 1 1-1/4 849LLFS10X08 5/8 12
849FS16X24 1 1-1/2 849LLFS12X08 3/4 12
849FS20X12 1-1/4 3/4 849LLFS12X12 3/4 3/4
849FS20X16 1-1/4 1 849LLFS16X12 1 3/4
849FS20X20 1-1/4 1-1/4 849LLFS16X16 1 1
849FS20X24 1-1/4 1-1/2 849LLFS20X20 1-1/4 1-1/4
849FS24X16 1-1/2 1

849FS24X20 1-1/2 1-1/4

849FS24X24 1-1/2 1-1/2

849FS32X24 2 1-172

849FS32X32 2 2
\- Y,

16



JIC (37° flare)

. 5 X N
B
850FS 877FS
Male JIC / Femelle NPTF Femelle JIC tournant / Femelle NPTF
Male JIC / Female NPTF Female JIC swivel / Female NPTF
Numéro N " Numéro N "
Part number AC) B Part number AC) B
850FS04X02 1/4 1/8 877TFS04X04 1/4 1/4
850FS04X04 1/4 1/4 877FS06X04 3/8 1/4
850FS04X06 1/4 3/8 877FS06X06 3/8 3/8
850FS04X08 1/4 12 877FS08X06 172 3/8
850FS05X02 5/16 1/8 877FS10X08 5/8 172
850FS05X04 5/16 1/4 877FS12X12 3/4 3/4
850FS06X02 3/8 1/8
850FS06X04 3/8 1/4
850FS06X06 3/8 3/8
850FS06X08 3/8 12
850FS08X04 172 1/4
850FS08X06 112 38 845FS
850FS08X08 12 12 Male JIC / Male NPTF / Male JIC
850ES10X08 5/ 2 Male JIC / Male NPTF / Male JIC
850FS10X12 5/8 3/4 Numéro A" B ("
850FS12X08 3/4 172 Part number
850FS12X12 3/4 3/4 845FS04X02 1/4 1/8
850FS12X16 3/4 1 845FS04X04 1/4 1/4
850FS14X12 7/8 3/4 845FS04X06 1/4 3/8
850FS16X16 1 1 845FS05X02 5/16 1/8
850FS20X20 1-1/4 1-1/4 845FS05X04 5/16 1/4
850FS24X24 1-12 1-1/2 845FS06X04 3/8 1/4
850FS32X32 2 2 845FS06X06 3/8 3/8
A 845FS06X08 3/8 12
845FS08X06 12 3/8
845FS08X08 12 12
845FS10X06 5/8 3/8
845FS10X08 5/8 12
878FS 845FS10X12 5/8 3/4
Femelle JIC tournant / Male NPTF 845FS12X12 3/4 3/4
Female JIC swivel / Male NPTF 845ES16X12 1 3/4
Numéro N " 845FS16X16 1 1
Part number AC) BO) 845FS20X20 1-1/4 1-1/4
878FS04X02 1/4 1/8 845FS24X24 1-1/2 1-1/2
878FS04X04 1/4 1/4 845FS32X32 2 2
878FS06X04 3/8 1/4
878FS06X06 3/8 3/8
878FS06X08 3/8 12
878FS08X06 172 3/8
878FS08X08 172 12
878FS10X08 5/8 12
878FS12X12 3/4 3/4
878FS16X16 1 1
878FS20X20 1-1/4 1-1/4
\§ y

17



JIC (37° flare)

4 )
858FS B 853FS
Male JIC / Femelle NPTF / Méle JIC Male JIC / Male NPTF / Male NPTF
Male JIC / Female NPTF / Male JIC Male JIC / Male NPTF / Male NPTF
Numéro N " Numéro " "
Part number A B Part number A B
858FS02X02 1/8 1/8 853FS04X02 1/4 1/8
858FS04X02 1/4 1/8 853FS06X04 3/8 1/4
858FS04X04 1/4 1/4 853FS08X06 172 3/8
858FS05X02 5/16 1/8 853FS10X08 5/8 12
858FS06X04 3/8 1/4 853FS12X12 3/4 3/4
858FS06X06 3/8 3/8 —
858FS08X06 12 3/8 A B
858FS08X08 172 12 |
858FS10X08 5/8 12
858FS12X08 3/4 12
858FS12X12 3/4 3/4 857FS A
858FS16X16 | 1 Male JIC / Male JIC / Female NPTF
858FS20X20 1-1/4 1-1/4 Numéro A "
™" B (")
858FS24X24 1-1/2 1-12 Part number
858FS32X32 2 2 857FS04X02 1/4 1/8
857FS04X04 1/4 1/4
857FS06X04 3/8 1/4
857FS06X06 3/8 3/8
857FS08X06 12 3/8
857FS08X08 12 172
851FS 857FS10X08 5/8 172
Male JIC / Male JIC / Male NPTF 857FS12X12 3/4 3/4
Male JIC / Male JIC / Male NPTF 857FS16X16 1 1
Numéro N "
Part number A B
851FS04X02 1/4 1/8
851FS04X04 1/4 1/4
851FS05X02 5/16 1/8
851FS05X04 5/16 1/4 860FS
851FS06X04 3/8 14 Male JIC / Méle NPTF / Femelle NPTF
851ES06X06 3/8 33 Male JIC / Male NPTF / Female NPTF
851FS08X06 12 3/8 Numéro A "
(" B (")
851FS08X08 172 172 Part number
851FS08X12 12 3/4 860FS04X02 1/4 1/8
851FS10X08 5/8 12 860FS06X04 3/8 1/4
851FS10X12 5/8 3/4 860FS08X06 12 3/8
851FS12X08 3/4 12 860FS10X08 5/8 12
851FS12X12 3/4 3/4 860FS12X12 3/4 3/4
851FS14X12 7/8 3/4 860FS16X16 1 1
851FS16X16 1 1 860FS20X20 1-1/4 1-1/4
851FS20X20 1-1/4 1-1/4
851FS24X24 1-172 1-172
\ J

18



JIC (37° flare)

4 A )
(R
859FS 848FSO
Male JIC / Femelle NPTF / Male NPTF Male JIC / Male o'ring boss
Male JIC / Female NPTF / Male NPTF Male JIC / Male o'ring boss
Numéro " " Numéro R N .
Part number AC) B Part number AC) B () O'ring
859FS04X02 1/4 1/8 848FS002X02 1/8 1/8 710FSO02
859FS06X04 3/8 1/4 848FS003X03 3/16 3/16 710FSO03
859FS06X06 3/8 3/8 848FS004X03 1/4 3/16 710FSO03
859FS08X06 12 3/8 848FS004X04 1/4 1/4 710FSO04
859FS10X08 5/8 12 848FS004X05 1/4 5/16 710FSO05
859FS12X12 3/4 3/4 848FS004X06 1/4 318 710FSO06
859FS16X16 1 1 848FS004X08 1/4 12 710FSO08
859FS20X20 1-1/4 1-1/4 848FS005X04 5/16 1/4 710FSO04
859FS24X24 1-12 1-12 848FS005X05 5/16 5/16 710FSO05
848FS005X06 5/16 318 710FSO06
B B 848FS005X08 5/16 12 710FSO08
848FS005X10 5/16 5/8 710FSO10
848FS006X04 318 1/4 710FSO04
S A 848FS006X05 318 5/16 710FSO05
Femelle NPTF/ Male JIC / Femelle NPTF B4BFSO06X06 78 3”8 710FS006
Female NPTF / Male JIC / Female NPTF §j§§§882§?§ ig ;g ;igigg‘fg
Numéro A B (") 848FS006X12 318 3/4 710FSO12
Part number 848FSO08X04 12 1/4 710FSO04
862FS04X02 1/4 1/8 848FSO08X05 12 5/16 710FS0O05
862FS06X04 318 1/4 848FSO08X06 12 318 710FSO06
862FS12X12 3/4 3/4 848FSO08X08 12 12 710FSO08
862FS16X16 1 1 848FSO08X10 12 5/8 710FSO10
848FSO08X12 12 3/4 710FSO12
A B 848FSO08X16 12 1 710FSO16
848FS0O10X04 5/8 1/4 710FSO04
848FS0O10X06 5/8 3/8 710FSO06
S63FS B 848FSO10X08 5/8 12 710FSO08
" 848FS0O10X10 5/8 5/8 710FSO10
Male JIC / Femelle NPTF / Femelle NPTF Q48FSO10X12 53 34 710ESO12
Male JIC / Female NPTF / Female NPTF S4SFSOL0X16 58 | T10FSO16
Numéro NG B (" 848FS012X08 3/4 12 710FSO08
Part number ) )
848FS012X10 3/4 5/8 710FSO10
863FS02X02 178 178 848FSO12X12 3/4 3/4 710ESO12
863FS04X02 174 178 848FSO12X 14 3/4 18 710ESO14
863FS06X04 318 1/4 848FSO12X16 3/4 1 710FSO16
863FS10X08 S8 172 848FSO12X20 3/4 1-1/4 710FSO20
863FS16X16 1 1 848FS0O14X12 /8 3/4 710FSO12
863FS20X20 1-1/4 1-1/4 848FSO14X 14 18 18 710ESO14
863FS24X24 1-172 1-172 848FS014X16 18 1 710ESO16
848FS0O16X06 1 318 710FSO06
848FS0O16X08 1 12 710FSO08
848FS016X10 1 5/8 710FSO10
848FS0O16X12 1 3/4 710FSO12
848FS016X14 1 78 710FSO14
\_ 848FSO16X16 1 1 710FSO16 _J

19



JIC (37° flare)

Numéro N N .
[Part number A B Oring \
848FS0O16X20 1 1-1/4 710FSO20
848FS016X24 1 1-1/2 710FSO24
848FS020X12 1-1/4 3/4 710FSO12
854FSO
848FS020X16 1-1/4 1 710FSO16 Mile JIC / Male o'ring boss
848FS020X20 1-1/4 1-1/4 710FSO20 Male JIC / Male o'ring boss
848FS020X24 1-1/4 1-1/2 710FSO24 -
848FS024X16 1-172 1 710FS0O16 Pali“rﬁll:‘t’)er A B (") O'ring
848FS024X20 1-1/2 1-1/4 710FSO20
848FSO24X24|  1-172 1-172 7108024  |324FS002X02 78 178 710FS002
Q4SFSO24X32 12 ) 710FSO32 | 354FS004X04 1/4 1/4 710FS004
Q4SFSO32X32 ) ) 710FSO32 | 354FS004X06 1/4 3/8 710FS006
854FS0O05X05 5/16 5/16 710FSO05
854FS0O05X06 5/16 3/8 710FSO06
A H /[/// 854FSO06X04 3/8 1/4 710FSO04
854FS006X05 3/8 5/16 710FSO05
854FS006X06 3/8 3/8 710FSO06
848LFSO 854FS006X08 318 12 710FSO08
Male JIC / Male o'ring boss long 854FSO08X06 172 3/8 710FSO06
Male JIC / Male o'ring boss long 854FSO08X08 12 12 710FSO08
Numéro . . 854FSO08X10 172 5/8 710FSO10
Part number AO) Orring 854FS008X 12 12 3/4 710FSO12
8481 FSO04 1/4 710FSO04 854FSO10X08 5/8 172 710FSO08
848L.FSO06 3/8 710FSO06 854FSO10X10 5/8 5/8 710FSO10
848L.FSO08 12 710FSO08 854FSO10X12 5/8 3/4 710FSO12
848L.FSO10 5/8 710FSO10 854FS0O12X08 3/4 172 710FSO08
848L.FSO12 3/4 710FSO12 854FSO12X10 3/4 5/8 710FSO10
848L.FSO16 1 710FSO16 854FSO12X12 3/4 3/4 710FSO12
854FSO12X16 3/4 1 710FSO16
854FS0O14X14 /8 7/8 710FSO14
A B 854FSO16X12 1 3/4 710FSO12
854FS0O16X16 1 1 710FSO16
854FS0O16X20 1 1-1/4 710FSO20
S81FSO 854FS0O20X16 1-1/4 1 710FSO16
Femelle JIC tournant / Male o'ring boss 854FS020X20 1-1/4 1-1/4 710FSO20
Female JIC swivel / Male o'ring boss 854FS024X24 1-1/2 1-172 710FSO24
Numéro N . -
Part number AC) B () O'ring
881FS004X04 1/4 1/4 710FSO04
881FSO06X06 3/8 3/8 710FSO06 B
881FSO06X08 3/8 12 710FSO08
88IFSO08X06 2 8 710ESO06 gzggi(}lc tournant / Male o'ring boss
881FSO08X08 12 12 710FS0O08 Female JIC swivel / Male o'ring boss
881FSO10X10 5/8 5/8 710FSO10 -
881FSO12X12 3/4 3/4 710FSO12 Numéro NG B (") Orring
881FSO16X16 1 1 710FSO16 Part number
878FSO08X08 12 12 710FSO08
878FSO10X10 5/8 5/8 710FSO10
878FSO12X12 3/4 3/4 710FSO12
878FS0O16X16 1 1 710FSO16
\§ y

20



JIC (37° flare)

(

849FSO

Male JIC / Male o'ring boss
Male JIC / Male o'ring boss

Numéro

849LFSO

Male JIC / Male o'ring boss long
Male JIC / Male o'ring boss long

~N

Part number A B O'ring Numéro A B (") O'ring

S49FS004X02 /4 178 710FS002 Part number

RIOFSO04X04 " 1 10FSO04 849LFSO04X04 174 174 710FSO04

RIOFSO04X05 " /16 10FSO05 849LFS006X06 3/8 3/8 710FS006

RIOFSO04X06 " 8 10FSO06 849LFSO08X08 12 12 710FSO08

RIOFSO04X08 " i 10FSO08 849LFSO10X10 s/8 5/8 710FSO10

RIOFSO05X04 /16 4 1 10FSO04 849LESO12X12 3/4 3/4 710FSO12

849FS005X05 5/16 5/16 710ES005 849LFSO16X16 ! ! 710FSO16

RIOFSO05X06 o 38 10FSO06 849LFS020X20 1-1/4 1-1/4 710FS0O20

849FSO05X08 5/16 12 710FSO08 A

849FSO06X04 3/8 1/4 710FSO04

849FSO06X05 3/8 5116 710FSO05

849FSO06X06 3/8 3/8 710FSO06

849FSO06X08 3/8 12 710FSO08 S49LLFSO

849FSO06X 10 3/8 5/8 710FSO10 Mile JIC / Méle o'ring boss X-long

849FSO06X 12 3/8 3/4 710FSO12 Male JIC / Male o'ring boss X-long

849FSO08X04 12 1/4 710FSO04 i

849FSO08X06 12 3/8 710FSO06 Paﬁ“ﬁi’;‘éer A O'ring

849FSO08X08 12 12 710FSO08

849FSO08X 10 12 5/8 710FSO10 849LLFSO04 14 710F5004

849FSO08X 12 12 3/4 710FSO12 849LLFS006 318 710FS006

849FSO08X 16 12 1 710FSO16 849LLFSO08 172 710F5008

849FSO10X06 578 3/8 710FSO06 849LLFSO10 318 710FS010

849FSO10X08 5/8 12 710FSO08 849LLFSO12 34 710F5012

849FSO10X10 578 5/8 710FSO10 849LLFSO16 ! 710FSO16

849FSO10X12 5/8 3/4 710FSO12 849LLFS020 A 710E5020

849FSO12X06 3/4 3/8 710FSO06

849FSO12X08 3/4 12 710FSO08

849FSO12X10 3/4 5/8 710FSO10

849FSO12X12 3/4 3/4 710FSO12

849FSO12X16 3/4 1 710FSO16 845FSO

849FSO12X20 3/4 1-1/4 710FS0O20 Male JIC / Male o'ring boss / Male JIC

849FSO14X 14 /8 /8 710FSO14 Male JIC / Male o'ring boss / Male JIC

849FSO14X16 18 1 710FSO16 N

849FSO16X08 1 12 710FSO08 Part number A" B (" O'ring

B49FSOI6X10 ! o8 7I0FSO10 845FS004X04 1/4 1/4 710FSO04

B49FSOIOX12 ! 30 7I0FSOT2 845FSO05X05 5/16 5116 710FSO05

849FSO16X14 1 718 710FSO14 S 8 28 710FSO06

849FSO16X16 1 1 710FSO16 S —— i s 710FSO08

849FSO16X20 1 1-1/4 710FSO20 RUSFSO10XO0S 58 n 710FSO08

849FS020X 12 1-1/4 3/4 710FSO12 S4SFSO10X 10 N s T LOESO10

B49FSO20X16 11 : 7I0FSO16 845FSO12X08 3/4 12 710FSO08

849FS020X20 1-1/4 1-1/4 710FSO20 S4SFSOLaX 12 9 e LOESOL

849FS020X24 1-1/4 1-172 710FSO24 S4SFSOLAX 14 8 s T OFSOL4

weowanl || s ST T e
845FS020X20 1-1/4 1-1/4 710FSO20

CMSO}ZX” 2 2 710FSO32 845FS024X24 1-12 1-12 710FS024

21




JIC (37° flare)

4 i )
(IH
851FSO 848TTJ
Male JIC / Male JIC / Male o'ring boss Male JIC / Male o'ring face
Male JIC / Male JIC / Male o'ring boss Male JIC / Male o'ring face
Numéro . Numéro .

Part number A B O'ring Part number A B O'ring
851FS0O04X04 1/4 1/4 710FSO04 848TTJ04X04 1/4 1/4 710TTO04
851FSO05X05 5/16 5/16 710FSO05 848TTJ06X06 3/8 3/8 710TTO06
851FSO06X04 3/8 1/4 710FSO04 848TTJ08X08 12 12 710TTO08
851FSO06X06 3/8 3/8 710FSO06 848TTJ10X10 5/8 5/8 710TTO10
851FSO08X08 172 12 710FSO08 848TTJ12X12 3/4 3/4 710TTO12
851FSO10X10 5/8 5/8 710FSO10 848TTI16X16 1 1 710TTO16
851FSO12X12 3/4 3/4 710FSO12
851FSO14X14 7/8 7/8 710FSO14 .
851FSO16X16 1 1 710FSO16 A //// B
851FS020X20 1-1/4 1-1/4 710FS0O20 —
851FS024X24 1-12 1-1/2 710FS0O24

846TTJ
; T Male JIC / Femelle o'ring face fixe
A Male JIC / Female o'ring face solid
Hisiil
— Part number

848FSV 846TTI04X04 1/4 1/4
Male JIC / Male cone inversé 846 TTIO6X04 3/8 1/4
Male JIC / Male inverted flare 846TTI06X06 3/8 3/8

Numéro A(") B (") 846TTJ08X06 172 3/8

Part number
846TTJ08X08 172 12
848FSV03X04 3/16 1/4 846TTJ10X08 5/8 172
848FSV04X03 1/4 3/16 846TTJ10X10 5/8 5/8
848FSV04X04 1/4 1/4 846TTJ10X12 5/8 3/4
848FSV04X05 1/4 5/16 846TTJ12X12 3/4 3/4
848FSV06X04 3/8 1/4 846TTJ12X16 3/4 1
848FSV06X05 3/8 5/16 846TTI16X16 1 1
848FSV08X06 1/2 3/8 846TTJ20X20 1-1/4 1-1/4
(I ]9 mmt
846FSV 846TTJSW
Male JIC / Femelle cone inversé Mile JIC / Femelle o'ring face tournant
Male JIC / Female inverted flare Male JIC / Female o'ring face swivel
Numéro " &
Part number A B Paliu:;f;zer A() B ()
846FSV04X03 1/4 3/16 846TTISW0404 1/4 1/4
846FSV04X04 1/4 1/4 846TTISW0606 3/8 3/8
846FSV06X06 3/8 3/8 846TTISWO0808 12 12
846TTISW1010 5/8 5/8
846TTISW1212 3/4 3/4
846TTISW1616 1 1

\_ /

22



JIC (37° flare)

Numéro " . Joint d'étanchéité
( Part number AO) B () Bonded seal \
A B 848FSB05X04 5/16 1/4 710BSB04
848FSB05X06 5/16 3/8 710BSB06
848FSB05X08 5/16 172 710BSB08
881TTJ
Femelle JIC tournant / Male o'ring face 848FSBO6X02 318 178 710BSBO2
Female JIC swivel / Male o'ring face 848FSB06X04 3/8 1/4 710BSBO4
- 848FSB06X06 3/8 3/8 710BSB06
Numero A(") B (") O'ring 848FSB06X08 3/8 12 710BSB08
Part number
848FSB06X10 3/8 5/8 710BSB10
881TTJ04X04 1/4 1/4 710TTO04 Q4SFSBOSX04 2 14 710BSB04
881TTJ06X06 3/8 3/8 710TTO06 848FSB0SX06 12 3/8 710BSB06
881TTJ08X08 172 1/2 710TTOO08 848FSBOSX08 12 12 710BSBOS
881TTJ10X10 5/8 5/8 710TTO10 Q4SFSBOSX 10 1\ /3 710BSB10
881TTJ12X12 3/4 3/4 710TTO12 Q4SFSBOSX 2 \n 34 710BSB12
881TTJ16X16 ! 1 710TTO16  1848FSB0SX16 12 1 710BSB16
848FSB10X04 5/8 1/4 710BSB04
A //m > B 848FSB10X06 5/8 3/8 710BSB06
848FSB10X08 5/8 172 710BSB08
848FSB10X10 5/8 5/8 710BSB10
848FSBJ 848FSB10X12 5/8 3/4 710BSB12
Male JIC / Banjo 848FSB12X06 3/4 3/8 710BSB06
Male JIC / Banjo 848FSB12X08 3/4 172 710BSB0O8
- 848FSB12X10 3/4 5/8 710BSB10
Numeéro A(") B Boulon | “Rondelle | /0papioxin 3/4 3/4 710BSB12
Part number Bolt  |Copper washer
848FSBJ04X04 1/4 1/4BSPP BI04 712BSPO4 848FSBI2X16 3/ ! 710BSB16
848FSBJ04X06 1/4 3/SBSPP BJ06 712BSP06 848FSBI2X20 3/ I-1/4 710B5B20
848FSBJ04X08 1/4 8 mm BIMO8 | 712METO08 848FSBI4X16 8 ! 710BSB16
848FSBJ04X10 1/4 10 mm BIMIO | 712METI10 848FSBI6X08 ! 12 710BSBO8
848FSBJ04X12 1/4 12 mm BIMI2 | 712METI2 848FSBI6X12 ! 34 710BSBI2
848FSBJ04X 14 1/4 14 mm BIMI4 | 712METI14 848FSBI6X16 ! ! 710BSB16
848FSBJ06X04 3/8 1/4BSPP BI04 712BSPO4 848FSBI6X20 ! -1/ 710B5B20
848FSBJ06X06 3/8 3/SBSPP BJ06 712BSP06 848FSB16X24 ! -2 710B5B24
848FSBJ06X12 3/8 12 mm BIMI2 | 712METI2 848FSB20X12 -1/ 34 710BSBI2
848FSBJ06X 14 3/8 14 mm BIMI4 | 712METI14 848FSB20X16 -1/ ! 710BSB16
848FSBJOSX08 12 1/2BSPP BJOS 712BSPO8 848FSB20X20 -1/ -1/ 710BSB20
848FSBJ0SX 14 12 14 mm BIMI4 | 7iomETis | SASESB20X24 1-1/4 1-172 710BSB24
848FSBJO8X 16 12 16 mm BIMI6 | 712METI6 848FSB20X32 -1/ 2 710B5B32
848FSBJ10X10 5/8 5/SBSPP BJ10 712Bsp10 | FoESB24X20 1-172 -1/ 710BSB20
848FSBJ12X12 3/4 3/4BSPP BJI12 1omspry | SA8ESB24X24 =172 1-172 710BSB24
848FSB24X32 1-172 2 710BSB32
N I 848FSB32X32 2 2 710BSB32
o) mk
=0 (e
848FSB
Male JIC / Male BSPP
Male JIC / Male BSPP 848FSBL
- - —{Mile JIC / Méale BSPP long
Numéro NG B (") Joint d'étanchéité Male JIC / Male BSPP long
Part number Bonded seal - — —
s B e e O I e
848FSB0O4X04 14 174 710BSB04 848FSBLO4X04 1/4 1/4 710BSBO4
848FSB04X06 1/4 3/8 710BSB06 848FSBLO6X04 3/8 1/4 710BSB04
848FSB04X08 1/4 12 710BSBOS 848FSBLO6X06 3/8 3/8 710BSB06
garssoe| 5o | w | s |ommened | | o

23



JIC (37° flare)

-

I

il

|

~N

848FSBLL 846FSBSW
Male JIC / Male BSPP X-long Male JIC / Femelle BSPP tournant
Male JIC / Male BSPP X-long Male JIC /Female BSPP swivel
Numéro R N Joint d'étanchéité Numéro " "
Part number A B Bonded seal Part number A B
848FSBLL0404 1/4 1/4 710BSB04 846FSBSW0404 1/4 1/4
848FSBLL0604 3/8 1/4 710BSB04 846FSBSW0406 1/4 3/8
848FSBLL0606 3/8 3/8 710BSB06 846FSBSW0606 3/8 3/8
848FSBLL0608 3/8 172 710BSB08 846FSBSW0608 3/8 12
848FSBLL0806 172 3/8 710BSB06 846FSBSW0806 172 3/8
848FSBLLO0808 172 172 710BSB08 846FSBSW0808 172 12
848FSBLL1208 3/4 172 710BSB08 846FSBSW0812 172 3/4
848FSBLL1210 3/4 5/8 710BSB10 846FSBSW 1008 5/8 12
848FSBLL1212 3/4 3/4 710BSB12 846FSBSW1212 3/4 3/4
M 846FSBSW1216 3/4 1
///// - \\\\\ D 846FSBSW1616 1 1
A B 846FSBSW2020 1-1/4 1-1/4
i 846FSBSW2424 1-1/2 1-172
846FSBSW3232 2 2
848FSJ
Male JIC / Male JIS
Male JIC / Male JIS R / / / / / r
Numéro " . P
Part number AC) B
848FSI04X02 1/4 1/8 846FSJ
848FSJ04X04 1/4 1/4 Maile JIC / Femelle JIS
848FSJ06X06 3/8 3/8 Male JIC /Female JIS
848FSJ08X08 12 12 Numéro " "
Part number A0 B
N 846FSJ04X02 1/4 1/8
A / / / [ / B 846FSJ04X04 1/4 1/4
— 846FSJ06X06 3/8 3/8
846FSJ08X08 12 12
846FSB 846FSJ12X12 3/4 3/4
Male JIC / Femelle BSPP fixe
Male JIC /Female BSPP solid W
Numéro " "
Part number AC) B () A //// —
846FSB04X04 1/4 1/4
846FSB06X04 3/8 1/4 846FSH
846FSB06X06 3/8 3/8 Male JIC / Femelle BSPP plat fixe
846FSBOSX06 12 3/8 Male JIC /Female BSPP flat face solid
846FSB08X08 12 12 Numéro A B ("
846FSB12X12 3/4 3/4 Part number
846FSB16X16 1 1 846FSH06X06 3/8 3/8
846FSB20X20 1-1/4 1-1/4 846FSH06X08 3/8 172
846FSB24X24 1-172 1-172 846FSH08X08 172 172
846FSHO8X10 172 5/8
846FSH08X12 172 3/4
846FSH10X08 5/8 12
846FSH10X12 5/8 3/4
\_ 846FSH12X12 3/4 3/4 )

24



JIC (37° flare)

-

846FSHSW

Al

Male JIC / Femelle BSPP plat tournant
Male JIC / Female BSPP flat face swivel

854FSB

Male JIC / Male BSPP ajustable
Male JIC / Male BSPP adjustable

~

Numéro N N Numéro . N Joint d'étanchéité
Part number AC) B Part number AC) B Bonded seal
846FSHSW0608 3/8 172 854FSB04X04 1/4 1/4 710BSB04
846FSHSW0808 1/2 172 854FSB06X04 3/8 1/4 710BSB04
846FSHSW0812 172 3/4 854FSB06X06 3/8 3/8 710BSB06
846FSHSW 1212 3/4 3/4 854FSB06X08 3/8 12 710BSB08
854FSB08X06 12 3/8 710BSB06
I 854FSB08X08 12 12 710BSB0O8
A 854FSB12X12 3/4 3/4 710BSB12
i 854FSB16X16 1 1 710BSB16
881FSB
Femelle JIC tournant / Male BSPP
Female JIC swivel / Male BSPP
Numéro A B (") Joint d'étanchéité
Part number Bonded seal 849FSB
88IFSB04X02 1/4 1783 710BSB02 _ |Male JIC /Male BSPP ajustable
881ESB04X04 1/4 1/4 710BSBO4 Male JIC / Male BSPP adjustable
881FSB04X06 1/4 318 710BSB06 Numéro " " Joint d'étanchéité
881FSBO6X04 3/8 1/4 710BSB04 Part number AO so Bonded seal
881FSB06X06 3/8 3/8 710BSB06 849FSB04X02 1/4 1/8 710BSB02
881FSB06X08 3/8 12 710BSB08 849FSB04X04 1/4 1/4 710BSB04
88 1FSB08X06 12 3/8 710BSB06 849FSB06X04 3/8 1/4 710BSB04
88 1FSB08X08 12 12 710BSB08 849FSB06X06 3/8 3/8 710BSB06
881FSB10X08 5/8 12 710BSB08 849FSB06X08 3/8 172 710BSB08
881FSB10X10 5/8 5/8 710BSB10 849FSB08X06 1/2 3/8 710BSB06
881FSB12X12 3/4 3/4 710BSB12 849FSB08X08 1/2 172 710BSB08
881FSB16X16 1 1 710BSB16 849FSB08X12 1/2 3/4 710BSB12
881FSB20X20 1-1/4 1-1/4 710BSB20 | 849FSB10X06 5/8 3/8 710BSB06
881FSB24X24 1-172 1-1/2 710BSB24 | 349FSB10X08 5/8 172 710BSB08
881FSB32X32 2 2 710BSB32 849FSB10X12 5/8 3/4 710BSB12
849FSB12X08 3/4 12 710BSB08
- 849FSB12X12 3/4 3/4 710BSB12
A - 849FSB12X16 3/4 1 710BSB16
{ 849FSB16X12 1 3/4 710BSB12
- 849FSB16X16 1 1 710BSB16
8S2FSB B
Femelle JIC tournant / Femelle BSPP tournant
Female JIC swivel / Female BSPP swivel
Numéro A B (") A
Part number 850FSB
882FSB06X06 3/8 3/8 Male JIC / Femelle BSPP tournant
882FSB06X08 3/8 12 Male JIC / Female BSPP swivel
882FSB08X06 172 3/8 Numéro . .
882FSB08X08 172 172 Part number AC) B
882FSB12X12 3/4 3/4 850FSB06X06 3/8 3/8
850FSB08X06 172 3/8
850FSB08X08 172 172
K 350FSB12X12 3/4 3/4 )

25




JIC (37° flare)

-

878FSB

Femelle JIC tournant / Male BSPP
Female JIC swivel / Male BSPP

~N

(5

Male JIC / Male métrique (port seulement)
Male JIC / Male metric (port only)

Numéro " " Joint d'étanchéité Numéro R Joint d'étanchéité
Part number A B () Bonded seal Part number A B (mm) Bonded seal
878FSB04X04 1/4 1/4 710BSB04 848FSM04X10 1/4 MI10X1.0 710BSM10
878FSB06X04 3/8 1/4 710BSB04 848FSM04X 12 1/4 MI12X1.5 710BSM12
878FSB06X06 3/8 3/8 710BSB06 848FSM04X 14 1/4 M14X1.5 710BSM 14
878FSB06X08 3/8 172 710BSB0O8 848FSMO05X 12 5/16 MI12X1.5 710BSM12
878FSB08X06 172 3/8 710BSB06 848FSMO05X16 5/16 M16X1.5 710BSM16
878FSB08X08 172 172 710BSB0O8 848FSM06X12 3/8 MI12X1.5 710BSM12
878FSB10X08 5/8 172 710BSB0O8 848FSM06X14 3/8 M14X1.5 710BSM 14
878FSB10X10 5/8 5/8 710BSB10 848FSM06X16 3/8 M16X1.5 710BSM16
878FSB12X12 3/4 3/4 710BSB12 848FSM08X 14 12 M14X1.5 710BSM 14
848FSMO08X16 12 M16X1.5 710BSM16
848FSMO08X18 12 MI18X1.5 710BSM18
848FSM08X22 12 M22X1.5 710BSM22
848FSM10X18 5/8 MI18X1.5 710BSM18
848FSM10X20 5/8 M20X1.5 710BSM20
845FSB 848FSM10X22 s/8 M22X1.5 710BSM22
Male JIC / Male BSPP ajustable / Male JIC 848FSM12X22 3/4 M22X1.5 710BSM22
Male JIC / Male BSPP adjustable / Male JIC QASFSM12X26 3/4 M26X1.5 710BSM26
Numéro " . Joint d'étanchéité | 848FSM12X27 3/4 M27X2.0 710BSM27
Part number AC) BO Bonded seal 848FSM14X26 7/8 M26X1.5 710BSM26
845FSB04X04 1/4 1/4 710BSB04 848FSM16X27 1 M27X2.0 710BSM27
845FSB05X04 5/16 1/4 710BSB04 848FSM16X33 1 M33X2.0 710BSM33
845FSB06X04 3/8 1/4 710BSB04 848FSM20X33 1-1/4 M33X2.0 710BSM33
845FSB06X06 3/8 3/8 710BSB06 848FSM20X42 1-1/4 M42X2.0 710BSM42
845FSB08X06 12 3/8 710BSB06 848FSM24X48 1-172 M48X1.5 710BSM48
845FSB10X08 5/8 12 710BSB08
845FSB12X12 3/4 3/4 710BSB12
845FSB16X16 1 1 710BSB16 A H \\\\\ B
848FSML
Male JIC / Male métrique (port et tube) série légere
Male JIC / Male metric (port and tube) light
851FSB Numéro NG B (mm) Tube | Joint d'étanchéité
Male JIC / Maéle JIC / Male BSPP ajustable Part number mm Bonded seal
Male JIC / Male JIC / Male BSPP adjustable S4SFSMLASIO /4 MSX1.0 4 710BSMOS
Numéro " Joint d'étanchéité | 848FSML48125 1/4 M8X1.25 | - 710BSMO8
Part number AC) BO Bonded seal 848FSML41010 1/4 MI10X1.0 6 710BSM10
851FSB04X04 1/4 1/4 710BSB04 848FSML41012 1/4 M10X1.25 |  ---—-- 710BSM10
851FSB05X04 5/16 1/4 710BSB04 848FSML41015 1/4 MI10X1.5 | - 710BSM10
851FSB06X04 3/8 1/4 710BSB06 848FSML41210 1/4 MI12X1.0 8 710BSM12
851FSB06X06 3/8 3/8 710BSB0O8 848FSML41215 1/4 MI12X1.5 6 710BSM12
851FSB08X06 1/2 3/8 710BSB06 848FSML04X14 1/4 M14X1.5 8 710BSM 14
851FSB08X08 12 1/2 710BSB0O8 848FSML05X12 5/16 MI12X1.5 6 710BSM12
851FSB10X08 5/8 1/2 710BSB0O8 848FSML05X 14 5/16 M14X1.5 8 710BSM 14
851FSB12X12 3/4 3/4 710BSB10 848FSML05X16 5/16 M16X1.5 10 710BSM16
@1FSBI6X16 1 1 710BSB12 848FSML61210 3/8 MI12X1.0 8 710BSM12)

26



JIC (37° flare)

Numéro " Tube int d'é Sité Numéro N Tube int d'é ité
[Part number A B (mm) mm Jmlg:)g;;zn:;elne Part number A B (mm) mm Jog;ﬁ;;gn;t;h
848FSML61212 3/8 MI2X1.25|  --—--- 710BSM12 848FSMH16X42| 1 M42X2.0 30 710BSM42
848FSML06X 14 3/8 M14X1.5 8 710BSM 14 848FSMH20X52| 1-1/4 M52X2.0 38 710BSM52
848FSML06X16 3/8 M16X1.5 10 710BSM16 848FSMH24X52| 1-1/2 M52X2.0 38 710BSM52
848FSML06X18 3/8 MI18X1.5 12 710BSM18
848FSML08X16 172 M16X1.5 10 710BSM16 o)
848FSMLO0O8X18 172 MI18X1.5 12 710BSM18 A - B
848FSML08X22 172 M22X1.5 15 710BSM22 >—<
848FSML10X18 5/8 MI18X1.5 12 710BSM18 =
848FSML10X22 5/8 M22X1.5 15 710BsM22  |848FSK
848FSML10X26 5/8 M26X1.5 18 710BsM26  |[Maéle JIC / Male Komatsu
848FSML12X22 3/4 M22X1.5 15 710BsM22  |Male JIC / Male Komatsu
848FSML12X24 3/4 M24X1.5 18 710BSM24 Numéro A B (mm)
848FSML12X26 3/4 M26X1.5 18 710BSM26 Part number
848FSML12301 3/4 M30X1.5 22 710BSM30  |848FSK04X14 1/4 M14X1.5
848FSML 12302 3/4 M30X2.0 22 710BSM30  |848FSK06X18 3/8 MI18X1.5
848FSML16X30 1 M30X1.5 22 710BSM30  |848FSK08X?22 12 M22X1.5
848FSML16X36 1 M36X2.0 28 710BSM36  |848FSK10X24 5/8 M24X1.5
848FSML20X45 1-1/4 M45X2.0 35 710BSM45 848FSK12X30 3/4 M30X1.5
848FSML20X52 1-1/4 M52X2.0 42 710BSM52  |848FSK16X33 1 M33X1.5
848FSML.24X45 1-172 M45X2.0 | ----- 710BSM45
848FSML.24X52 1-172 52X2.0 42 710BSM52
(iR
R \\ B v
848FSKB
Male JIC / Male Kobelco
848FSMH Male iIC / Male Kobelco
Male JIC / Male métrique (port et tube) série lourde
Male JIC / Male metric (port and tube) heavy Numéro A B (mm) Tube (mm)
- Part number
Numéro A B (mm) Tube  |Joint d'étanchéité SASFSKB12X36 3/4 M36X1.5 28

Part number o Bonded seal 848FSKB16X36 1 M36X1.5 28
848FSMH04X14 1/4 M14X1.5 6 710BSM 14 R48FSKB16X45 1 M4SX1.5 35
848FSMH04X16, 1/4 M16X1.5 8 710BSM16 R4SFSKB20X45 L-1/4 M4SX1.5 35
848FSMH04X18 1/4 MI18X1.5 10 710BSM 18
848FSMHO05X16, 5/16 M16X1.5 8 710BSM16 —
848FSMHO05X18 5/16 MI18X1.5 10 710BSM 18 |
848FSMHO06X16, 3/8 M16X1.5 8 710BSM16 A - L5
848FSMHO06X18 3/8 MI18X1.5 10 710BSM18 =
848FSMH06X20, 3/8 M20X1.5 12 710BSM20 846FSML
848FSMH06X22 3/8 M22X1.5 14 710BSM22  Infale JIC / Femelle métrique tournant (série légere)
848FSMHO08X18 172 MI18X1.5 10 710BSM18 Male JIC / Female metric swivel (light)
848FSMHO08X?20, 172 M20X1.5 12 710BSM20 Numéro
848FSMH08X22 12 M22X1.5 14 710BSM22 Part number A" B (mm) Tube (mm)
848FSMHO08X?24 172 M24X1.5 16 710BSM24 SIGESMLOAX 12 74 MIZX13 06
848FSMH10X20, 5/8 M20X1.5 12 710BSM20 Q46FSMLO4X 14 14 MI14X1.5 08
848FSMH10X24 5/8 M24X1.5 16 710BSM24 S46ESMLO5X 14 5/16 MI14X1.5 08
848FSMH10X30, 5/8 M30X2.0 20 710BSM30 S46ESMLO5X16 5/16 MI6X1.5 10
848FSMH10X36, 5/8 M36X2.0 25 710BSM36 S46ESMLO6X 14 3/8 M14X1.5 08
848FSMH12X24 3/4 M24X1.5 16 710BSM24 S46ESMLO6X16 3/8 MI6X1.5 10
848FSMH12X30, 3/4 M30X2.0 20 710BSM30 S46ESMLO6X18 3/8 MISX1.5 12
848FSMH12X36, 3/4 M36X2.0 25 710BSM36 S46ESMLOSX18 12 MISX1.5 12
848FSMH16X30, 1 M30X2.0 20 710BSM30 S46ESMLO8X22 12 M22X1.5 15
848FSMH16X36, 1 M36X2.0 25 710BSM36 S46FSML10X22 5/8 M22X1.5 15 )

27



JIC (37° flare)

[ Numéro

~N

Part number AC) B (mm) Tube (mm)
846FSML10X26 5/8 M26X1.5 18 A B
846FSML12X26 3/4 M26X1.5 18
846FSML12X30 3/4 M30X2.0 22 881FSM
Femelle JIC tournant / Male métrique
" Female JIC swivel / Male metric
A B Numéro .\ Joint d'étanchéité
/ / / / / Part number AO) B (mm) Bonded seal
881FSMO05X12 5/16 MI2X1.5 710BSM12
846FSMH 88 1FSMO6X 14 3/8 M14X1.5 710BSM 14
Male JIC / Femelle métrique tournant (série lourde) 881FSMO06X16 3/8 MI16X1.5 710BSM16
Male JIC / Female metric swivel (heavy) 33 1FSMO6X 18 38 MI18X1.5 710BSM18
Numéro A B (mm) Tube (mm)  |S81FSM06X20 3/8 M20X1.5 710BSM20
Part number 881FSM06X22 3/8 M22X1.5 710BSM22
846FSMH04X16 1/4 MI6X1.5 08 88 1FSM08X16 172 M16X1.5 710BSM16
846FSMHO04X18 1/4 MISX1.5 10 881FSM08X18 172 M18X1.5 710BSM18
846FSMHO05X16 5/16 MI6X1.5 08 881 FSM08X20 172 M20X1.5 710BSM20
846FSMHO5X18 5/16 MISX1.5 10 88 1FSM08X22 172 M22X1.5 710BSM22
846FSMHO06X18 38 MISX1.5 10 881FSM10X16 5/8 M16X1.5 710BSM16
846FSMH06X20 38 M20X1.5 12 881FSM10X18 5/8 M18X1.5 710BSM18
846FSMH06X22 38 M22X1.5 14 881FSM10X20 5/8 M20X1.5 710BSM20
846FSMH08X22 12 M22X1.5 14 881FSM10X22 5/8 M22X1.5 710BSM22
846FSMH10X22 5/8 M22X1.5 14
846FSMH10X30 5/8 M30X2.0 20
846FSMH10X36 5/8 M36X2.0 25
846FSMH12X24 3/4 M24X1.5 16
846FSMH12X30 3/4 M30X2.0 20
846FSMH16X30 1 M30X2.0 20 849FSM
Male JIC / Male métrique ajustable
Male JIC / Male metric adjustable
Numéro " Joint d'étanchéité
/ // / B Part number A B (mm) Bonded seal
A 849FSM04X 12 1/4 M12X1.5 710BSM12
S 849FSM04X 14 1/4 M14X1.5 710BSM14
846FSK 849FSM06X 14 3/8 M14X1.5 710BSM14
Male JIC / Femelle Komatsu 849FSMO06X16 3/8 M16X1.5 710BSM16
male JIC / Female Komatsu 849FSM08X 16 12 MI16X1.5 710BSM16
Numéro A B (mm) 849FSMO08X 18 172 M18X1.5 710BSM18
Part number 849FSM10X18 5/8 M18X1.5 710BSM18
846FSK04X 14 1/4 M14X1.5 849FSM10X20 5/8 M20X1.5 710BSM20
846FSK06X 18 3/8 MI8XL.5 849FSM12X22 3/4 M22X1.5 710BSM22
846r'SK08X22 12 M22X1.5 849FSM16X33 1 M33X2.0 710BSM33
846FSK10X24 5/8 M24X1.5
846FSK12X30 3/4 M30X1.5
(s
835FS
Male JIC / Femelle SAE 45 fixe
Male JIC / Female SAE 45 solid
Numéro . "
Part number A B
835FS06X06 3/8 3/8

28



JIC (37° flare) / BSPP

4 [ i A
N 1 A
836FS 639FS
Femelle JIC fixe / Male SAE 45 Bouchon male BSPP
Female JIC solid / Male SAE 45 BSPP male plug
Numéro N N Numéro "
Part number A B Part number AC)
836FS06X06 3/8 3/8 639FS02 1/8
639FS04 1/4
BSPP | 639FS06 3/8
- 639FS08 172
> { 639FS10 5/8
A .II 639FS12 3/4
) 639FS16 1
630FS o30St i
Bouchon femelle BSPP tournant
BSPP female plug swivel 639F532 2
Numéro "
Part number A A
630FS02 1/8
630FS04 1/4
630FS06 318 639FS]J
630FS08 172 Bouchon maéle JIS
630FS10 5/8 JIS male plug
630FS12 3/4 Numéro |
630FS16 1 Part number AO)
630FS20 1-1/4 639FSJ02 178
630FS24 1-1/2 639FSJ04 1/4
630FS32 2 639FSJ06 38
639FSJ08 172
639FST12 3/4
A
630FS) A @
Bouchon femelle JIS
JIS female plug 639FSR
Numéro ING) Bouchon male BSPP (type Allen screw)
Part number BSPP male plug (Allen screw type)
630FSJ02 1/8 Numéro
630FSJ04 1/4 Part number A
630FSJ06 3/8 639FSR02 178
630FSJO08 12 639FSR04 1/4
630FSJ12 3/4 639FSR06 318
630FSJ16 1 639FSR08 172
639FSR12 3/4
639FSR16 1
639FSR20 1-1/4
639FSR24 1-1/2
g y

29



BSPP

4 o) o~ )
W — 1 | 0
Al i (g
g gliligy
__/
642FS 632FS
Male BSPP / Male BSPP Male BSPP / Male BSPP cloison
Male BSPP / Male BSPP Male BSPP / Male BSPP bulkhead
Numéro " " Joint d'étanchéité Numéro " Ecrou
Part number A B Bonded seal Part number AC) Nut
642FS02X02 1/8 1/8 710BSB02 632FS04 1/4 711BPO04
642FS04X02 1/4 1/8 710BSB02 632FS06 3/8 711BPO06
642FS04X04 1/4 1/4 710BSB04 632FS08 12 711BPO08
642FS06X02 3/8 1/8 710BSB02 632FS10 5/8 711BPO10
642FS06X04 3/8 1/4 710BSB04 632FS12 3/4 711BPO12
642FS06X06 3/8 318 710BSB06 632FS16 1 711BPO16
642FS08X04 12 1/4 710BSB04 632FS20 1-1/4 711BPO20
642FS08X06 12 318 710BSB06 -
642FS08X08 12 12 710BSB08 [
642FS10X06 5/8 318 710BSB06
642FS10X08 5/8 12 710BSB08 "
642FS10X10 5/8 5/8 710BSB10
642FS12X06 3/4 38 7108sB0o6 | 983FS
642FS12X08 3/4 12 7108sBog | Maéle BSPP/Femelle BSPP fixe
642FS12X10 3/4 /3 710BSB10 Male BSPP / Female BSPP solid
642FS12X12 3/4 3/4 710BSB12 Numéro NG B ("
642FS16X06 1 318 710BSB06 Part number
642FS16X08 1 12 710BSB08 683FS02X04 1/8 1/4
642FS16X10 1 5/8 710BSB10 683FS02X06 1/8 3/8
642FS16X12 1 3/4 710BSB12 683FS04X02 1/4 178
642FS16X16 1 1 710BSB16 683FS04X06 1/4 3/8
642FS20X12 1-1/4 3/4 710BSB12 683FS04X12 1/4 3/4
642FS20X16 1-1/4 1 710BSB16 683FS06X02 3/8 178
642FS20X20 1-1/4 1-1/4 710BSB20 683FS06X04 3/8 1/4
642FS24X16 1-172 1 710BSB16 683FS06X06 3/8 3/8
642FS24X20 1-172 1-1/4 710BSB20 683FS06X08 3/8 172
642FS24X24 1-172 1-172 710BSB24 683FS08X02 172 178
642FS32X16 2 1 710BSB16 683FS08X04 172 1/4
642FS32X20 2 1-1/4 710BSB20 683FS08X06 172 3/8
642FS32X24 2 1-172 710BSB24 683FS08X12 172 3/4
642FS32X32 2 2 710BSB32 683FS08X16 172 1
683FS08X20 12 1-1/4
[ Y 683FS12X04 3/4 1/4
A \\\\ | \\\\ B 683FS12X06 3/4 3/8
W 683FS12X08 3/4 12
= 683FS12X16 3/4 1
642FS] 683FS12X20 3/4 1-1/4
Male JIS / Male JIS 683FS12X24 3/4 1-1/2
Male JIS / Male JIS 683FS16X04 1 1/4
Numéro A B (") 683FS16X06 1 3/8
Part number 683FS16X08 1 172
642FSJ02X02 1/8 1/8 683FS16X12 1 3/4
642FSJ04X04 1/4 1/4 683FS16X20 1 1-1/4
642FSJ06X06 3/8 3/8 683FS16X24 1 1-1/2
642FSJ08X08 12 12 683FS20X08 1-1/4 12
\G42FSJ12X12 3/4 3/4 683FS20X12 1-1/4 3/4 Y,

30



BSPP

[ Numéro

Part number A B
633FS20X16 1-1/4 1 A B
683FS20X24 1-1/4 1-172 ]
683FS24X08 1-1/2 1/2 680FS
083FS24X12 1-172 34 Femelle BSPP fixe / Femelle BSPP fixe
683FS24X16 1-172 ! Female BSPP solid / Female BSPP solid
683FS24X20 1-1/2 1-1/4 N———
Part number AC) B ()
A B 680FS02X02 1/8 118
680FS04X02 1/4 1/8
680FS04X04 1/4 1/4
683FSSW 680FS06X04 3/8 1/4
Male BSPP / Femelle BSPP tournant 680FS06X06 3/8 3/8
Male BSPP / Female BSPP swivel 680FS08X06 12 3/8
Numéro NG Joint d'étanchéité B (") 680FS08X08 172 172
Part number Bonded seal 680FS10X08 5/8 12
683FSSW02X02 1/8 710BSB02 1/8 680FS10X10 5/8 5/8
683FSSW02X04 1/8 710BSB02 1/4 680FS12X08 3/4 172
683FSSW04X02 1/4 710BSB04 1/8 680FS12X12 3/4 3/4
683FSSW04X04 1/4 710BSB04 1/4 680FS16X12 1 3/4
683FSSW04X06 1/4 710BSB04 3/8 680FS16X16 1 1
683FSSW04X08 1/4 710BSB04 12 680FS20X20 1-1/4 1-1/4
683FSSW06X04 3/8 710BSB06 1/4 680FS24X24 1-1/2 1-1/2
683FSSW06X06 3/8 710BSB06 3/8
683FSSW06X08 3/8 710BSB06 12
683FSSW06X12 3/8 710BSB06 3/4 A B
683FSSW08X04 12 710BSBOS 1/4
683FSSW08X06 12 710BSBOS8 3/8
683FSSW08X08 12 710BSBO8 12 680FSSW
683FSSW08X10 172 710BSBO8 5/8 Femelle BSPP tournant / Femelle BSPP tournant
683FSSW08X12 172 710BSB08 3/4 Female BSPP swivel / Female BSPP swivel
683FSSW08X16 12 710BSBO8 1 Numéro - -
683FSSW10X08 5/8 710BSB10 12 Part number A" B (")
683FSSW10X10 5/8 710BSB10 5/8 ROFSSWOIX02 o m
683FSSW10X12 5/8 710BSB10 3/4 6ROFSSWO4X04 a v
683FSSW12X06 3/4 710BSB12 3/8
683FSSW12X08 3/4 710BSB12 12 O80FSSWO6X04 3/8 4
683FSSW12X10 34 710BSB12 5/ 680FSSW06X06 38 38
683FSSW12X12 3/4 710BSB12 34 680FSSWO08X04 12 1/4
683ESSW 12X 16 3/4 710BSB12 1 680FSSWO8X06 172 3/8
683FSSW12X20 3/4 710BSB12 1-1/4 680FSSW08X08 172 172
683FSSW16X08 1 710BSB16 12 680FSSW10X08 518 172
683FSSW16X10 1 710BSB16 5/8 680FSSW10X10 5/8 5/8
683FSSW16X12 1 710BSB16 3/4 680FSSW12X08 3/4 12
683FSSW16X16 1 710BSB16 1 680FSSW12X10 3/4 5/8
683FSSW16X20 1 710BSB16 1-1/4 680FSSW12X12 3/4 3/4
683FSSW20X12 1-1/4 710BSB20 3/4 680FSSW16X08 1 12
683FSSW20X16 1-1/4 710BSB20 1 680FSSW16X10 1 5/8
683FSSW20X20 1-1/4 710BSB20 1-1/4 680FSSW16X12 1 3/4
683FSSW20X24 1-1/4 710BSB20 1-12 680FSSW16X16 1 1
683FSSW24X20 1-172 710BSB24 1-1/4 680FSSW20X20 1-1/4 1-1/4
683FSSW24X24 1-12 710BSB24 1-1/2 680FSSW24X24 11 112
683FSSW24X32 1-12 710BSB24 2 680FSSW32X32 ) 2
683FSSW32X24 2 710BSB32 1-1/2
@FSSW32X32 2 710BSB32 2 )

31



BSPP

4 )
698FS 655FS
Siege BSPP face plate Male BSPP / Male BSPP
BSPP flat face sealing seat Male BSPP / Male BSPP
Numéro Dimension Numéro N "

Part number Size Part number A B
698FS06 3/8 655FS02X02 1/8 1/8
698FS08 172 655FS04X04 1/4 1/4
698FS12 3/4 655FS06X04 3/8 1/4

655FS06X06 3/8 3/8
655FS08X06 172 3/8
655FS08X08 172 172
655FS10X10 5/8 5/8
655FS12X12 3/4 3/4

699FS 655FS16X16 1 1

Siege BSPP-JIS

BSPP-]JIS sealing seat

Numéro Dimension

Part number Size
699FS04 1/4
699FS06 3/8 655FSA
699FS08 12 Male BSPP / Male BSPP ajustable
699FS12 374 Male BSPP / Male BSPP adjustable
699FS16 1 Numéro A B (") Joint d'étanchéité

Part number Bonded seal
B 655FSA04X04 1/4 1/4 710BSB04
655FSA06X06 3/8 3/8 710BSB06
A 655FSA08X08 172 172 710BSB08
655FSA12X12 3/4 3/4 710BSB12
656FSA -
Male BSPP / Male BSPP ajustable
Male BSPP / Male BSPP adjustable
Numéro " " Joint d'étanchéité A
Part number A B Bonded seal
656FSA04X04 1/4 1/4 710BSBo4 _ |674FS
656FSA06X04 3/8 1/4 710BSB04 Femelle BSPP fixe / Femelle BSPP fixe
656FSA06X06 3/8 3/8 710BSBO6 Female BSPP solid / Female BSPP solid
656FSA08X06 1/2 3/8 710BSB06 Numéro A"
656FSA08X08 1/2 1/2 710BSB08 Part number
656FSA12X12 3/4 3/4 710BSB12 674FS04 1/4
656FSA16X16 1 1 710BSB16 674FS06 3/8
674FS08 172
674FS12 3/4
674FS16 1
\§ y

32




BSPP

f A

675FS
Femelle BSPP tournant / Femelle BSPP tournant
Female BSPP swivel / Female BSPP swivel

644FS
Male BSPP / Male BSPP / Male BSPP
Male BSPP / Male BSPP / Male BSPP

Numéro N " Numéro N Joint d'étanchéité

Part number AO B () Part number AC) Bonded seal
675FS04X04 1/4 1/4 644FS04 1/4 710BSB04
675FS06X06 3/8 3/8 644FS06 3/8 710BSB06
675FS08X08 172 12 644FS08 12 710BSB08
675FS10X10 5/8 5/8 644FS10 5/8 710BSB10
675FS12X12 3/4 3/4 644FS12 3/4 710BSB12
675FS16X16 1 1 644FS16 1 710BSB16

644FS20 1-1/4 710BSB20
644FS24 1-172 710BSB24
644FS32 2 710BSB32
679FS
Male BSPP ajustable / Femelle BSPP tournant
Male BSPP adjustable / Female BSPP swivel
Numéro a(y | dointdemnchéie [ |670FS A _ A

Part number Bonded seal Maile BSPP / Male BSPP ajustable / Male BSPP

570FS04X04 m Z10BSBOA 72 Male BSPP / Male BSPP adjustable / Male BSPP

679FS06X06 3/8 710BSB06 318 Numéro " " Joint d'étanchéité

679FS08X08 12 710BSB08 12 Part number AO BO Bonded seal

679FS10X10 5/8 710BSB10 5/8 670FS04X04 1/4 1/4 710BSB04

679FS12X12 3/4 710BSB12 3/4 670FS06X04 3/8 1/4 710BSB04

679FS16X16 1 710BSB16 1 670FS06X06 3/8 3/8 710BSB06
670FS08X06 172 3/8 710BSB06
670FS08X08 172 12 710BSB08
670FS12X12 3/4 3/4 710BSB12

679FSB

Male BSPP / Femelle BSPP tournant

Male BSPP / Female BSPP swivel

Numéro A(y | Jomtdéanchéie [ o gf}FS . A .

Part number Bonded seal ale BSPP / Male BSPP / Male BSPP ajlfstable
679FSBOZX02 73 T10BSBO2 73 Male BSPP / Male BSPP / Male BSPP adjustable
679FSB04X04 1/4 710BSB04 1/4 Numéro A(") B (") Joint d'étanchéité
679FSB04X06 1/4 710BSB04 3/8 Part number Bonded seal
679FSB06X04 3/8 710BSB06 1/4 661FS04X04 1/4 1/4 710BSB04
679FSB06X06 3/8 710BSB06 3/8 661FS06X04 3/8 1/4 710BSB04
s I O B O
679FSB10X10 5/8 710BSB10 5/8 661FS08X08 172 172 710BSBO8
679FSB12X12 34 710BSB12 344 661FSI2X12 4 4 710BSB12
679FSB16X12 1 710BSB16 3/4
679FSB16X16 1 710BSB16
679FSB20X20 1-1/4 710BSB20 -
679FSB24X24 1-1/2 710BSB24 -

O079FSB32X32 2 710BSB32 )

33



BSPP

-

671FS
Male BSPP / Male BSPP / Femelle BSPP tournant
Male BSPP / Male BSPP / Female BSPP swivel

673FSSW =
Femelle BSPP tourn./Femelle BSPP tourn./Femelle BSPP tourn.
Female BSPP swivel/Female BSPP swivel/Female BSPP swivel

Numéro A Joint d'étanchéité Numéro A
Part number Bonded seal Part number
671FS04 1/4 710BSB04 673FSSWO02 1/8
671FS06 3/8 710BSB06 673FSSWO04 1/4
671FS08 172 710BSB0O8 673FSSWO06 3/8
671FS10 5/8 710BSB10 673FSSWO08 172
671FS12 3/4 710BSB12 673FSSW10 5/8
671FS16 1 710BSB16 673FSSW12 3/4
673FSSW16 1
673FSSW20 1-1/4
673FSSW24 1-1/2
673FSSW32 2
672FS
Male BSPP / Femelle BSPP tournant / Male BSPP
Male BSPP / Female BSPP swivel / Male BSPP
Numéro A Joint d'étanchéité
Part number Bonded seal 677FS
672FS02 1/8 710BSB02 Maile BSPP / Femelle BSPP tournant / Femelle BSPP tournant
672ES04 1/4 710BSBO4 Male BSPP / Female BSPP swivel / Female BSPP swivel
672FS06 3/8 710BSB06 Numéro " Joint d'étanchéité
672FS08 12 710BSB0O8 Part number A Bonded seal
672FS10 5/8 710BSB10 677FS04 1/4 710BSB04
672FS12 3/4 710BSB12 677FS06 3/8 710BSB06
672FS16 1 710BSB16 677FS08 172 710BSB08
672FS20 1-1/4 710BSB20 677FS10 5/8 710BSB10
677FS12 3/4 710BSB12
A A 677FS16 1 710BSB16
673FS A A m ’
Femelle BSPP fixe / Femelle BSPP fixe / Femelle BSPP fixe
Female BSPP solid / Female BSPP solid / Female BSPP solid 648FS
Numéro Male BSPP / Male NPTF
Part number AC) Male BSPP / Male NPTF
673FS02 1/8 Numéro A Joint d'étanchéité B (")
673FS04 1/4 Part number Bonded seal
673FS06 3/8 648FS02X02 1/8 710BSB02 1/8
673FS08 1/2 648FS02X04 1/8 710BSB02 1/4
673FS12 3/4 648FS04X02 1/4 710BSB04 1/8
673FS16 1 648FS04X04 1/4 710BSB04 1/4
648FS04X06 1/4 710BSB04 3/8
648FS04X08 1/4 710BSB04 12
648FS06X02 3/8 710BSB06 1/8
648FS06X04 3/8 710BSB06 1/4
648FS06X06 3/8 710BSB06 3/8
\ 648FS06X08 3/8 710BSB06 12 )

34



BSPP

Numéro " Joint d'étanchéité "
[Part number AC) Bonded seal B () \
648FS06X12 3/8 710BSB06 3/4 A
648FS06X16 3/8 710BSB06 1
648FS08X04 12 710BSBO8 1/4
648FS08X06 12 710BSBO8 3/8 681ES R
Femelle BSPP fixe / Male NPTF
648FS08X08 172 710BSBO8 172 Female BSPP solid / Male NPTF
648FS08X12 12 710BSBO8 3/4
648FS08X16 12 710BSB08 1 Numéro A B (")
648FS10X08 5/8 710BSB10 12 Part number
648FS10X12 5/8 710BSB10 3/4 681FS04X04 1/4 1/4
648FS12X04 3/4 710BSB12 1/4 681FS06X04 3/8 1/4
648FS12X06 3/4 710BSB12 3/8 681FS06X06 3/8 3/8
648FS12X08 3/4 710BSB12 1/2 681FS08X06 172 3/8
648FS12X12 3/4 710BSB12 3/4 681FS08X08 172 172
648FS12X16 3/4 710BSB12 1 681FS12X08 3/4 172
648FS16X08 1 710BSB16 1/2 681FS12X12 3/4 3/4
648FS16X12 1 710BSB16 3/4
648FS16X16 1 710BSB16 1
648FS16X20 1 710BSB16 1-1/4 A
648FS20X16 1-1/4 710BSB20 1
648FS20X20 1-1/4 710BSB20 1-1/4
648FS20X24 1-1/4 710BSB20 1-1/2 681FSSW .
64RFS24X16 112 710BSB24 | Femelle BSPP tOl'll‘Ilant / Male NPTF
Female BSPP swivel / Male NPTF
648FS24X20 1-12 710BSB24 1-1/4 i
648FS24X24 1-1/2 710BSB24 1-172 Numéro A B (")
648FS24X32 1-172 710BSB24 2 Part number
648FS32X20 2 710BSB32 1-1/4 68IFSSW02X02 178 178
648FS32X24 2 710BSB32 1-172 O8IFSSWO04X04 1/4 174
648FS32X32 2 710BSB32 2 68IFSSW04X06 1/4 3/8
681FSSW06X06 3/8 3/8
681FSSW06X08 3/8 12
l ‘ j ] 681FSSW08X06 1/2 3/8
= 1 681FSSW08X08 1/2 12
681FSSW08X12 1/2 3/4
646FS 681FSSW12X12 3/4 3/4
Male BSPP / Femelle NPTF 681FSSW12X16 3/4 1
Male BSPP / Female NPTF 681FSSW16X16 1 1
Numéro R Joint d'étanchéité B |
Part number AC) Bonded seal B =
646FS02X02 1/8 710BSB02 1/8 A -
646FS02X04 1/8 710BSB02 1/4 L
646FS04X04 1/4 710BSB04 1/4 682FS
646FS04X06 1/4 710BSBO4 3/8 Femelle BSPP fixe / Femelle NPTF
646FS06X04 3/8 710BSB06 1/4 Female BSPP solid / Female NPTF
646FS06X06 318 710BSB06 3/8 Numéro - -
646FS08X06 12 710BSB08 3/8 Part number A B (")
646FS08X08 12 710BSB08 12 CRIES0IX0D T A
646FS16X08 1 710BSB16 172 682FS06X06 3/8 3/8
646FS16X16 1 710BSB16 1 682FS08X08 12 12
646FS20X16 1-1/4 710BSB20 1 682FS12X12 3/4 3/4
646FS20X20 1-1/4 710BSB20 1-1/4 682FS16X16 1
646FS24X20 1-12 710BSB24 1-1/4 682F520X20 1-1/4 1/4
646FS24X24 1-172 710BSB24 1-12 682FS24X24 1-172 -172
\_ 682FS32X32 2 )

35



BSPP

4 111] h
A B
B i
649FS 646FSM
Male BSPP / Male NPTF Male BSPP / Femelle métrique tournant
Male BSPP / Male NPTF Male BSPP / Female metric swivel
Numéro . Joint d'étanchéité N Numéro " Joint d'étanchéité Tube
Part number A Bonded seal B Part number AC) Bonded seal B (mm) mm
649FS04X04 1/4 710BSB04 1/4 646FSM04X 14 1/4 710BSB04 M14X1.5 8
649FS06X06 3/8 710BSB06 3/8 646FSM08X18 172 710BSB08 M18X1.5 12
649FS08X08 172 710BSB08 1/2 646FSM08X20 172 710BSB08 M20X1.5 12
649FS12X12 3/4 710BSB12 3/4 646FSM08X24 172 710BSB08 M24X1.5 16
646FSM 12X26 3/4 710BSB12 M26X1.5 18
646FSM16X30 1 710BSB16 M30X2.0 22
A B 646FSM20X45 1-1/4 710BSB20 M45X2.0 35
646FSM24X52 1-12 710BSB24 M52X2.0 42
648FSM il
Male BSPP / Male métrique A B
Male BSPP / Male metric | |
Numéro N Joint d'étanchéité
Part number AC) B (mm) Bonded seal 648TT
648FSMO04X 12 1/4 MI12X1.5 710BSM12  |Male BSPP/ Male o'ring face
648FSM04X 14 1/4 M14X1.5 710BsM14  |Male BSPP/Male o'ring face
648FSM04X16 1/4 M16X1.5 710BSM16 Numéro " Joint d'étanchéité R .
A B (") O'ring
648FSM06X 12 3/8 M12X1.5 710BSM12 Part number Bonded seal
648FSMO06X 14 3/8 M14X1.5 710BSM14 648TT04X04 1/4 710BSB04 1/4 710TTO04
648FSMO06X 16 3/8 M16X1.5 710BSM16 648TT04X06 1/4 710BSB04 3/8 710TTO06
648FSMO06X 18 3/8 M18X1.5 710BSM18 648TT06X06 3/8 710BSB06 3/8 710TTO06
648FSMO08X 16 12 M16X1.5 710BSM16 648TT06X08 3/8 710BSB06 12 710TTO08
648FSMO08X 18 12 M18X1.5 710BSM18 648TT0O8X08 12 710BSB08 12 710TTO08
648FSM08X22 12 M22X1.5 710BSM22 648TTO8X10 12 710BSB08 5/8 710TTO10
648FSM10X26 5/8 M26X1.5 710BSM26 648TT12X12 3/4 710BSB12 3/4 710TTO12
648FSM12X30 3/4 M30X1.5 710BSM30 648TT20X20 1-1/4 710BSB20 1-1/4 710TTO20
648FSM16X38 1 M38X1.5 710BSM38 648TT24X24 1-1/2 710BSB24 1-1/2 710TTO24
A B A mﬁ B
681FSM 646TT
Femelle BSPP tournant / Male métrique Male BSPP / Femelle o'ring face tournant
Female BSPP swivel / Male metric Male BSPP / Female o'ring face swivel
Numéro " Joint d'étanchéité Numéro . Joint d'étanchéité "
Part number AC) B (mm) Bonded seal Part number A Bonded seal B
681FSM06X16 3/8 MI16X1.5 710BSM16 646TT04X04 1/4 710BSB04 1/4
68 1FSM06X18 3/8 MI18X1.5 710BSM18 646TT04X06 1/4 710BSB04 3/8
681FSM08X18 12 M18X1.5 710BSM18 646TT06X06 3/8 710BSB06 3/8
681FSM12X26 3/4 M26X1.5 710BSM26 646TT06X08 3/8 710BSB06 172
646TT08X08 172 710BSB0O8 12
646TT08X10 172 710BSBO8 5/8
646TT12X12 3/4 710BSB12 3/4
646TT16X16 1 710BSB16 1
646TT20X16 1-1/4 710BSB20 1
\ 646TT20X20 1-1/4 710BSB20 1-1/4 )

36



BSPP / METRIQUE - METRIC

(

649TT

Male BSPP ajustable / Male o'ring face
Male BSPP adjustable / Male o'ring face

646FSO

Male BSPP / Femelle o'ring boss

i

Male BSPP / Female o'ring boss

~N

Numéro " Joint d'étanchéité " Numéro N Joint d'étanchéité "
Part number A Bonded seal B Part number AC) Bonded seal B ()
649TT02X04 1/8 710BSB02 1/4 646FS002X04 1/8 710BSB02 1/4
649TT04X04 1/4 710BSB04 1/4 646FS004X04 1/4 710BSB04 1/4
649TT04X06 1/4 710BSB04 3/8 646FS004X06 1/4 710BSB04 3/8
649TT04X08 1/4 710BSB04 12 646FSO06X06 3/8 710BSBO06 3/8
649TT06X06 3/8 710BSB06 3/8 646FSO06X08 3/8 710BSBO06 12
649TT06X08 3/8 710BSB06 12 646FSO08X08 12 710BSBO8 12
649TT08X06 12 710BSB0S 3/8 646FSO08X10 12 710BSBO8 5/8
649TT08X08 12 710BSB0S 12 646FSO12X12 3/4 710BSB12 3/4
649TT08X10 12 710BSB0S 5/8 646FSO16X16 1 710BSB16 1
649TT08X12 12 710BSB0S 3/4 646FS020X20 1-1/4 710BSB20 1-1/4
649TT12X12 3/4 710BSB12 3/4 646FS020X24 1-1/4 710BSB20 1-172
649TT12X16 3/4 710BSB12 1 646FS024X24 1-12 710BSB24 1-172
649TT16X12 1 710BSB16 3/4
649TT16X16 1 710BSB16 1
649TT20X16 1-1/4 710BSB20 1 A B
649TT20X20 1-1/4 710BSB20 1-1/4
649TT24X24 1-172 710BSB24 1-1/2
681FSO
Femelle BSPP fixe / Male o'ring boss
A ,Zﬁy: . Female BSPP solid / Male o'ring boss
H Numéro " " Ve
Part number A B () O'ring
648FSO 681FS002X04 1/8 1/4 710FSO04
Male BSPP / Mile o'ring boss 681FS004X04 1/4 1/4 710FSO04
Male BSPP / Male o'ring boss 681FS004X06 1/4 3/8 710FS006
Numéro NG Joint d'étanchéité B (") O'ring 681FSO06X06 3/8 3/8 710FSO06
Part number Bonded seal 681FSO08X08 12 12 710FS0O08
648FS004X04 1/4 710BSBO4 1/4 710FSO04 |68 1FS020X12 1-1/4 3/4 710FSO12
648FS0O04X06 1/4 710BSB04 3/8 710FSO06 METFHQUE - METRIC
648FS004X08 1/4 710BSB04 172 710FSO08
648FSO06X04 3/8 710BSB06 1/4 710FSO04
648FSO06X06 3/8 710BSB06 3/8 710FS006
648FSO06X08 3/8 710BSB06 172 710FSO08
648FSO06X10 3/8 710BSB06 5/8 710FSO10
648FSO08X06 12 710BSB08 3/8 710FS006 | 630FSM
648FSO08X08 12 710BSB08 172 710FS008 | Bouchon femelle métrique
648FSO08X 10 12 710BSB0S 5/8 710FSO10 | Metric female plug
648FSO08X 12 12 710BSB08 3/4 710FSO12 Numéro
648FSO12X08|  3/4 710BSB12 172 [710FSO08 | part number Tube (mm) A (mm)
648FSO12X10 3/4 710BSB12 5/8 710FSO10 [reemee 5 MRS
648FSO12X12 3/4 710BSB12 3/4 710FSO12 630FSM06X 14 6 M14X1.5
648FSO12X16 3/4 710BSB12 1 710FSO16 | 630FSMO08X 14 8 M14X1.5
648FSO16X12 1 710BSB16 3/4 710FSO12 | 630FSM08X16 8 M16X1.5
648FSO16X16 1 710BSB16 1 710FS0O16 | 630FSM10X16 10 MI6X1.5
648FSO16X20 1 710BSBI6 | 1-1/4  |710FS020 | ST ig ﬁ{gi}g
QSFSOZOX2O 1—1/4 710BSB20 1-1/4 710F8020 630FSM 12X20 12 M20X1.5 )

37



METRIQUE - METRIC

(Paljturillirl(l;er Tube (mm) A (mm) \
630FSM 14X22 14 M22X1.5 A @
630FSM15X22 15 M22X1.5
630FSM16X24; 16 M24X1.5
630FSM18X26 18 M26X1.5 639FSMRA A0
Bouchon male métrique (type Allen screw)
gzgizﬁigiig 2(2) ﬁigi;g Metric male plug (Allen screw type)
630FSM25X36 25 M36X2.0 Numéro A (mm)
630FSM28X36 28 M36X2.0 Part number
630FSM30X42 30 M42X2.0 639FSMR10 MIO0XI1.0
630FSM35X45 35 M45X2.0 039FSMRI2 MI2XI.5
630FSM38X52 38 M52X2.0 039FSMR 14 MI4XI.5
630FSM42X52 ) M52X2.0 639FSMR16 MI6X1.5
639FSMR18 M18X1.5
639FSMR20 M20X1.5
A 639FSMR22 M22X1.5
i 639FSMR26 M26X1.5
” 639FSMR27 M27X2.0
639FSM 639FSMR30 M30X2.0
Bouchon méle métrique 639FSMR33 M33X2.0
Metric male plug 639FSMR36 M36X2.0
& 639FSMR42 M42X2.
Paliunmuirlzer Tube (mm) A (mm) 0
639FSM06X12 6 MI12X1.5
639FSM06X 14 6 M14X1.5
639FSMO08X 14 8 M14X1.5
639FSM08X16 8 M16X1.5
639FSMO
GIOFSMIOXLOY == MIOXLO Bouchon male o'ring boss métrique
639FSMI0X16 10 MI6X1.5 O'ring boss metric male plug
639FSM10X18 10 MI18X1.5 -
639FSM12X 18 12 MISX1.5 Paﬁ“ﬁi‘};er A (mm) Oring
639FSM 12X20 12 M20X1.5
639FSM14X22 14 M22X15 639FSMO08 M8X1.0 710FSMO08
639FSM15X22 15 M22X1.5 639FSMO10 M10X1.0 710FSM 10
639FSM16X24 16 M24X1.5 639FSMO12 MI12X1.5 710FSM 12
639FSM18X26 18 M26X1.5 639FSMO14 M14X1.5 710FSM 14
639FSM20X30 20 M30X2.0 639FSMO16 M16X1.5 710FSM 16
639FSM22X30 22 M30X2.0 639FSMO18 MI18X1.5 710FSM 18
639FSM25X36 25 M36X2.0 639FSMO22 M22X1.5 710FSM?22
639FSM28X36 28 M36X2.0 639FSMO27 M27X2.0 710FSM?27
639FSM30X42 30 M42X2.0 639FSMO30 M30X2.0 710FSM30
639FSM35X45 35 M45X2.0 639FSMO033 M33X2.0 710FSM33
639FSM38X52 38 M52X2.0 639FSM0O42 M42X2.0 710FSM42
639FSM42X52 4 M52X2.0 639FSM0O48 M48X2.0 710FSM48
639FSMO60 M60X2.0 710FSM60
\§ y,

38



METRIQUE - METRIC

Numéro Joint d'étanchéité
( Part number A (mm) B (mm) Bonded seal \
A 642FSM24X24 M24X1.5 M24X1.5 710BSM24
642FSM26X18 M26X1.5 M18X1.5 710BSM18
630FSK 642FSM26X22 M26X1.5 M22X1.5 710BSM22
Bouchon femelle Komatsu 642FSM26X26 M26X1.5 M26X1.5 710BSM26
Komatsu female plug )\
Numéro
Part number A (mm) A / / // / B
630FSK14 M14X1.5
630FSK18 M18X1.5 642FSK
630FSK22 M22X1.5 Male Komatsu / Male Komatsu
630FSK24 M?24X1.5 Male Komatsu / Male Komatsu
630FSK30 M30X1.5 Numéro A (mm) B (mm)
630FSK33 M33X1.5 Part number
642FSK14X14 M14X1.5 M14X1.5
642FSK18X18 M18X1.5 M18X1.5
A Q ///// 642FSK22X22 M22X1.5 M22X1.5
642FSK24X24 M24X1.5 M24X1.5
642FSK30X30 M30X1.5 M30X1.5
639FSK . 642FSK33X33 M33X1.5 M33X1.5
Bouchon male Komatsu
Komatsu male plug () /ﬁ
\
Numéro A (mm) A D D A
Part number D D Q
639FSK 14 M14X1.5 N Y
639FSK18 M18X1.5 680FSM
639FSK22 M22X1.5 Femelle métrique tournant / Femelle métrique tournant
639FSK24 M24X1.5 Female metric swivel / Female metric swivel
639FSK30 M30X1.5 Numéro
639FSK33 M33X1.5 Part number A (mm) Tube (mm)
) 680FSM 14 M14X1.5 8
L[ 680FSM16 MI6X1.5 10
A \m B 630FSM 18 MI18X1.5 12
LI H: 680FSM20 M20X1.5 12
— 680FSM26 M26X1.5 18
64A2FS1’VI o 680FSM30 M30X2.0 22
Male métrique / Male métrique
Male metric / Male metric
Numéro Joint d'étanchéité
Part number A (mm) B (mm) Bonded seal A B
642FSM10X10 MI10X1.5 M10X1.5 710BSM10
642FSM12X10 MI12X1.5 M10X1.5 710BSM10 683FSML
642ESM12X12 MI12X1.5 M12X1.5 710BSM12 Male métrique / Femelle métrique tournant (légere)
642FSM14X12 MI14X1.5 MI12X1.5 710BSM12 Male metric / Female metric swivel (light)
642FSM 14X14 M14X1.5 M14X1.5 710BSM14 Numéro Tube
A (mm) B (mm)
642FSM16X12 M16X1.5 MI12X1.5 710BSM12 Part number (mm)
642FSM16X14 MI16X1.5 M14X1.5 710BSM14 683FSML10X12 M10X1.0 M12X1.5 6
642FSM16X16 MI16X1.5 M16X1.5 710BSM16 683FSML12X14 MI12X1.5 M14X1.5 8
642FSM18X16 MI18X1.5 M16X1.5 710BSM16 683FSML14X16 M14X1.5 M16X1.5 10
642FSM18X18 MI18X1.5 MI18X1.5 710BSM18 683FSML16X18 M16X1.5 M18X1.5 12
642FSM20X18 M20X1.5 MI18X1.5 710BSM18 683FSML18X22 MI18X1.5 M22X1.5 15
642FSM22X18 M22X1.5 MI18X1.5 710BSM18 683FSML22X26 M22X1.5 M26X1.5 18
642FSM22X22 M22X1.5 M22X1.5 710BSM22
QZFSM24X22 M24X1.5 M22X1.5 710BSM22 )

39



METRIQUE - METRIC

Numéro Joint d'étanchéité i
( Part number A (mm) Bonded seal B \
A B 626FS022X10|  M22X1.5 710BSM22 5/8
626FS026X12 M26X1.5 710BSM26 3/4
683FSMH 626FS030X16 M30X2.0 710BSM30 1
Male métrique / Femelle métrique tournant (lourde) =
Male metric / Female metric swivel (heavy) A m B
Numéro Tube =
Part number A (mm) B (mm) (mm) —
683FSMH12X14 MI2X1.5 M14X1.5 6 623FSO
683FSMH14X16 M14X1.5 M16X1.5 8 Femelle métrique fixe / Femelle o'ring boss
683FSMH16X18 M16X1.5 MI18X1.5 10 Female metric solid / Female o'ring boss
683FSMHI18X20|  MI8X1.5 M20X1.5 12 Numéro
683FSMH20X22|  M20X1.5 M22X1.5 14 Part number A (mm) BO)
683FSMH22X?24 M22X1.5 M24X1.5 16 623FS020X08 M20X1.5 12
623FS022X08 M22X1.5 12
— 623FS024X08 M24X1.5 12
A B 623FS026X10 M26X1.5 5/8
623FS030X12 M30X2.0 3/4
683FSMS
Male métrique / Femelle métrique fixe [1]]
Male metric / Female metric solid A B
o | Ao [ ] w
683FSMS08X06 M8X1.0 710BSMO8 M6X1.0 618TT
Male métrique (Iégere) / Male o'ring face
683FSMS10X08 M10X1.0 710BSM10 M8X1.0 Male metric (light) / Male o'ring face
683FSMS14X10 M14X1.5 710BSM 14 M10X1.0 -
683FSMS16X12|  MI6X1.5 710BSM16 MI2X1.5 Numeéro A (mm) Tube B (")
Part number mm
683FSMS18X14 MI18X1.5 710BSM18 M14X1.5
683FSMS20X16 M20X1.5 710BSM20 M16X1.5 618TT12X04 MI2X1.5 6 174
683FSMS22X18 M22X1.5 710BSM22 MI18X1.5 618TT14X04 MI4X1.5 8 174
683FSMS24X20 M24X1.5 710BSM24 M20X1.5 618TT14X06 MI4X1.5 8 3/8
683FSMS26X22 M26X1.5 710BSM26 M22X1.5 618TT16X08 MI6X1.5 10 172
683FSMS30X26 M30X1.5 710BSM30 M26X1.5 618TT18X06 MISXL.5 12 3/8
618TT18X08 M18X1.5 12 172
618TT18X12 M18X1.5 12 3/4
A B 618TT22X08 M22X1.5 15 172
618TT22X12 M22X1.5 15 3/4
618TT26X12 M26X1.5 18 3/4
626FSO 618TT27X12 M27X2.0 [ - 3/4
Male métrique / Femelle o'ring boss 618TT30X12 M30X2.0 22 3/4
Male metric / Female o'ring boss 618TT30X16 M30X2.0 22 1
Numéro Joint d'étanchéité "
Part number A (mm) Bonded seal B
626FSO08X04 M8X1.0 710BSMO08 1/4
626FSO10X04| M10X1.0 710BSM10 1/4
626FSO12X04| MI12X1.0 710BSM12 1/4
626FSO12X06| MI12X1.0 710BSM12 3/8
626FSO14X06| MI14X1.5 710BSM 14 3/8
626FSO16X06| MI16X1.5 710BSM16 3/8
626FSO16X08| MI16X1.5 710BSM16 172
626FSO18X08| MI18X1.5 710BSM18 172
626FS0O20X08| M20X1.5 710BSM20 172
Q6FSOZZXO6 M22X1.5 710BSM22 3/8 )

40



METRIQUE - METRIC

- B — ™
A A W B
619TT 622FS
Male métrique ajustable / Male o'ring face Femelle métrique fixe / Male NPTF
Male metric adjustable / Male o'ring face Female metric solid / Male NPTF
Numéro Joint d'étanchéité " Numéro "

Part number A (mm) Bonded seal B Part number A (mm) B
619TT10X04 | MI10X1.0 710BSM10 1/4 622FS06X02 M6X1.0 1/8
619TT12X04 | MI12X1.5 710BSM12 1/4 622FS08X02 M8X1.0 1/8
619TT14X06 | M14X1.5 710BSM 14 3/8 622FS1010X02 M10X1.0 1/8
619TT16X06 | MI16X1.5 710BSM16 3/8 622FS1012X02 M10X1.25 1/8
619TT16X08 | MI16X1.5 710BSM16 172 622FS1015X02 M10X1.5 1/8
619TT18X08 | MI18XI1.5 710BSM18 172 622FS1210X02 M12X1.0 1/8
619TTI8X10 | MI18XI.5 710BSM18 5/8 622FS1215X02 MI12X1.5 1/8
619TT22X10 | M22X1.5 710BSM22 5/8 622FS14X06 M14X1.5 3/8
619TT27X12 | M27X2.0 710SBM27 3/4 622FS14X08 M14X1.5 12
619TT33X16 | M33X2.0 710BSM33 1 622FS16X04 M16X1.5 1/4

622FS16X06 M16X1.5 3/8

1) — 622FS18X06 M18X1.5 3/8

A B 622FS20X08 M20X1.5 12

[ 622FS22X08 M22X1.5 12

622FS24X08 M24X1.5 12

626F'S 622FS26X12 M26X1.5 3/4

Mile métrique / Femelle NPTF 622FS3015X12 M30X1.5 3/4

S e 622FS3020X12 M30X2.0 3/4
Numéro Joint d'étanchéité

Part number A (mm) Bonded seal B ()
626FS08X02 M8X1.0 710BSMO08 1/8 A B
626FS10X02 | M10X1.0 710BSM10 1/8 i
626FS12X04 [ M12X1.5 710BSM12 1/4
626FS14X04 | MI14X1.5 710BSM14 1/4 628FS
626FS16X06 | M16X1.5 710BSM16 38 Male métrique / Male NPTF
626FS16X08 |  M16X1.5 710BSM16 12 WA I B/ IO N 0D
626FS18X06 M18X1.5 710BSM18 3/8 Numéro A (mm) Bonded seal B (")
626FS18X08 [ M18X1.5 710BSM18 12 Part number
626FS22X06 |  M22X1.5 710SBM22 3/8 628FS12X02 | MI12X1.5 710BSM12 1/8
626FS22X08 |  M22X1.5 710BSM22 12 628FS16X06 | MI16X1.5 710BSM16 3/8
626FS22X12 | M22X1.5 710BSM22 3/4 628FS18X06 | MI18X1.5 710BSM18 3/8
626FS24X12 | M24X1.5 710BSM24 3/4 628FS20X08 | M20X1.5 710BSM20 12
626FS26X12 | M26X1.5 710BSM26 3/4 628FS22X08 | M22X1.5 710BSM22 12
626FS27X12 | M27X2.0 710BSM27 3/4 628FS26X08 | M26X1.5 710BSM26 12

628FS26X12 | M26X1.5 710SBM26 3/4
628FS30X12 | M30X2.0 710BSM30 3/4
628FS30X16 | M30X2.0 710BSM30 1

\ J

41



ORFS (o'ring face)

ORFS (O'RING FACE) . Numéro NG B (") O'ring )
art number
- 883TTR16X20 1 1-1/4 710TTO20
883TTR16X24 1 1-1/2 710TTO24
A 883TTR20X24 1-1/4 1-1/2 710TTO24
— —
841TT -
Ecrou o'ring face A
O'ring face nut i
| NS
Numéro AC) 830TT
Part number Bouchon femelle o'ring face
841TT06 3/8 O'ring face female plug
841TTO8 172 p
841TT10 5/8 Numero ING!
Part number
2ii¥¥i§ 314 830TT04 1/4
830TT06 3/8
830TTO08 172
830TT10 5/8
A B 830TT12 3/4
830TT16 1
883TT 830TT20 1-1/4
Femelle o'ring face tournant / Male o'ring face 830TT24 1-172
Female o'ring face swivel / Male o'ring face
Numéro N Ecrou N .
Part number A Nut B O'ring
883TT08X04 12 841TTO8 1/4 710TTO04
883TT08X06 12 841TTO8 3/8 710TTO06 839TT
883TT10X04 518 841TT10 1/4 710TTO04 A .
Bouchon male o'ring face
883TT10X06 518 841TT10 3/8 710TTO06 |y fale o'ring face plug
883TT10X08 518 841TT10 12 710TTO08 -
883TT12X08 3/4 841TT12 12 710TTO08 Pi“ﬁ:ger A (")
883TT16X08 1 841TT16 12 710TTO08
883TT16X10 1 B4ITTI6 | 5/8 710TTO10 | 839TTO4 1/4
883TT20X16 | 1-1/4 | 841TT20 1 710TTO16 | 839TT06 3/8
839TTO08 12
839TT10 5/8
839TT12 3/4
839TT16 1
839TT20 1-1/4
883TTR 839TT24 1-1/2
Femelle o'ring face fixe/ Male o'ring face
Female o'ring face solid / Male o'ring face
Numéro " " -
Part number AC) B Oring
883TTR04X06 1/4 3/8 710TTO06 g\ oo
883TTRO6X08 3/8 172 710TTO08 Mile o'ring face / Male o'ring face
883TTRO6X10 3/8 >/8 710TTO10 Male o'ring face / Male o'ring face
883TTRO8X10 172 5/8 710TTO10 -
883TTRO8X12 12 3/4 710TTO12 Numéro A O'ring B (") O'ring
883TTRO8X16 12 1 710TTO16 Part number
883TTR10X12 5/8 24 2101012 | 842TT04X04 174 |710TTO04| 174 710TTO04
R83TTRI0X16 5/3 1 710TTo16 | 842TT06X04 3/8  |710TTO06|  1/4 710TTO04
R83TTRI2X16 34 ) 7101016 | 842TT06X06 3/8  |710TTO06|  3/8 710TTO06
GESTTR12X20 34 1-1/4 210TTO20 | 842TTO8X06 12 |710TTO08|  3/8 710TTOO§)
842TT08X08 1/2 710TTO08 1/2 710TTO0

42



ORFS (o'ring face)

Paﬁ”g‘;ger A" O'ring B (") O'ring Paﬁ“ﬁf;zer A" O'ring B (") )
842TT10X08 5/8 710TTO10 12 710TTO08 | 889TT0O8X08 172 710TTO08 172
842TT10X10 5/8 710TTO10 5/8 710TTO10 | 889TT10X10 5/8 710TTO10 5/8
842TT12X08 3/4 710TTO12 12 710TTO08 | 889TT12X12 3/4 710TTO12 3/4
842TT12X10 3/4 710TTO12 5/8 710TTO10 | 889TT16X16 1 710TTO16 1
842TT12X12 3/4 710TTO12 3/4 710TTO12 | 889TT20X20 1-1/4 710TTO20 1-1/4
842TT16X12 1 710TTO16 3/4 710TTO12
842TT16X16 1 710TTO16 1 710TTO16 A M
842TT20X20 1-1/4 710TTO20| 1-1/4 710TTO20 M\ qﬁ A
842TT24X24 1-12 710TTO24| 1-1/2 710TTO24
“““ 854BHTT
A ~ A Male o'ring face / Male o'ring face cloison
Male o'ring face / Male o'ring face bulkhead
Numéro " . Ecrou
832TT Part number AO Oring Nut
Male o'ring face / Male o'ring face cloison 8S4BHTTO4 1/4 710TTO04 711TTO04
Male o'ring face / Male o'ring face bulkhead 854BHTTO6 3/8 710TTO06 711TTO06
Numéro A O'ring Ecrou 854BHTTO08 172 710TTO08 711TTO08
Part number Nut 854BHTT10 5/8 710TTO10 711TTO10
832TT04 1/4 710TTO04 711TTO04 854BHTT12 3/4 710TTO12 711TTO12
832TT06 3/8 710TTO06 711TTO06 854BHTT16 1 710TTO16 711TTO16
832TT08 12 710TTO08 711TTO08 854BHTT20 1-1/4 710TTO20 711TTO20
832TTI10 5/8 710TTO10 711TTO10 854BHTT24 1-1/2 710TTO24 711TTO24
832TTI12 3/4 710TTO12 711TTO12 A
832TT16 1 710TTO16 711TTO16
832TT20 1-1/4 710TTO20 711TTO20
832TT24 1-1/2 710TTO24 711TTO24 B
855TT
Male o'ring face / Male o'ring face
Male o'ring face / Male o'ring face
SSOTT Pai“ﬁf;‘ger A Oring | B(") O'ring
Femelle o'ring face tournant / Femelle o'ring face tournant 855TT04X04 1/4 710TTO04 1/4 710TTO04
Female o'ring face swivel / Female o'ring face swivel 855TT06X04 3/8 710TTO06 1/4 710TTO04
Numéro NG B (") 855TT06X06 3/8 710TTO06 3/8 710TTO06
Part number 855TT08X04 1/2 710TTO08 1/4 710TTO04
880TT04X04 1/4 1/4 855TT08X06 12 710TTO08 3/8 710TTO06
880TT06X06 3/8 3/8 855TT08X08 12 710TTO08 172 710TTO08
880TT08X08 12 172 855TT10X10 5/8 710TTO10 5/8 710TTO10
880TT12X12 3/4 3/4 855TT12X12 3/4 710TTO12 3/4 710TTO12
880TT16X16 1 1 855TT16X16 1 710TTO16 1 710TTO16
B 855TT20X20 1-1/4 710TTO20 1-1/4 710TTO20
855TT24X24 1-1/2 710TTO24 1-1/2 710TTO24
A
889TT
Male o'ring face / Femelle o'ring face tournant
Male o'ring face / Female o'ring face swivel
Numéro . "
Part number A Oring B
889TT04X04 1/4 710TTO04 1/4
@9TTO6XO6 3/8 710TTO06 3/8 )

43



ORFS (o'ring face)

-

855BHTT

-

Male o'ring face / Male o'ring face cloison
Male o'ring face / Male o'ring face bulkhead

A@HE [l h

870TT =

A
Male o'ring face / Male o'ring face cloison / Male o'ring face
Male o'ring face / Male o'ring face bulkhead / Male o'ring face

Numéro " . Ecrou Numéro " . Ecrou
Part number AC) Orring Nut Part number AC) Oring Nut
855BHTT04 1/4 710TTO04 711TTO04 870TT04 1/4 710TTO04 711TTO04
855BHTT06 3/8 710TTO06 711TTO06 870TT06 3/8 710TTO06 711TTO06
855BHTTOS 172 710TTO08 711TTO08 870TT08 172 710TTO08 711TTO08
855BHTT10 5/8 710TTO10 711TTO10 870TT10 5/8 710TTO10 711TTO10
855BHTT12 3/4 710TTO12 711TTO12 870TT12 3/4 710TTO12 711TTO12
855BHTT16 1 710TTO16 711TTO16 870TT16 1 710TTO16 711TTO16
855BHTT20 1-1/4 710TTO20 711TTO20 870TT20 1-1/4 710TTO20 711TTO20
855BHTT24 1-1/2 710TTO24 711TTO24

1)
A @Hlj 861TT
879TT Male o'ring face / Méle o'ring face / Male o'ring face cloison
Male ()'ring face / Femelle ()'ring face tournant Male o'ring face / Male O'I'il'lg face / Male o'ring face bulkhead
Male o'ring face / Female o'ring face swivel Numéro N . Ecrou
Numéro . Part number © Orring Nut
A O'ring B (")

Part number 861TT04 1/4 710TTO04 711TTO04
879TT04X04 1/4 710TTO04 1/4 861TT0O6 3/8 710TTO06 711TTO06
879TT06X06 3/8 710TTO06 3/8 861TT08 172 710TTO08 711TTO08
879TT08X08 12 710TTO08 172 861TT10 5/8 710TTO10 711TTO10
879TT10X10 5/8 710TTO10 5/8 861TT12 3/4 710TTO12 711TTO12
879TT12X12 3/4 710TTO12 3/4 861TT16 1 710TTO16 711TTO16
879TT16X16 1 710TTO16 1 861TT20 1-1/4 710TTO20 711TTO20
879TT20X20 1-1/4 710TTO20 1-1/4 —
879TT24X24 1-1/2 710TTO24 1-12 A s 9 A

871TT &

Femelle o'ring face tournant/Male o'ring face/Male o'ring face
844TT Female o'ring face swivel / Male o'ring face / Male o'ring face
Male o'ring face / Male o'ring face / Male o'ring face Numéro . .

Male o'ring face / Male o'ring face / Male o'ring face Part number A O'ring

Numéro A Orring 871TT04 1/4 710TTO04
Part number 871TT0O6 3/8 710TTO06

844TT04 1/4 710TTO04 871TTO8 12 710TTO08
844TTO06 3/8 710TTO06 871TT10 5/8 710TTO10
844TTO08 172 710TTO08 871TTI12 3/4 710TTO12
844TT10 5/8 710TTO10 871TT16 1 710TTO16
844TTI12 3/4 710TTO12

844TT16 1 710TTO16

844TT20 1-1/4 710TTO20

844TT24 1-172 710TTO24

. J

44



ORFS (o'ring face)

Numéro " . N
( A A Part number AC) O'ring B \
848TT12X16 3/4 710TTO12 1
848TT16X12 1 710TTO16 3/4
872TT A 848TT16X16 1 710TTO16 1
A 0k en AT e 848TT16X20 1 710TTO16 1-1/4
Male o'ring face/Femelle o'ring face tournant/Male o'ring face
Male o'ring face / Female o'ring face swivel / Male o'ring face 848TT20X16 1-1/4 710TTO20 1
- 848TT20X20 1-1/4 710TTO20 1-1/4
Numéro A O'ring 848TT24X24 1-172 710TTO24 1-1/2
Part number
872TT04 1/4 710TTO04
872TT06 3/8 710TTO06 A B
872TT08 12 710TTO08
872TT10 5/8 710TTO10
872TT12 3/4 710TTO12 SS1TT
Femelle o'ring face tournant / Male NPTF
Female o'ring face swivel / Male NPTF
Numéro " "
Part number AC) B
881TT04X02 1/4 1/8
852.TTA . 881TT04X04 1/4 1/4
Croix male o'ring face
Cross male o'ring face Zziiiggigz ;;2 ;73}
Paﬁ“ﬁiﬁger A O'ring 881TTO8X08 12 12
881TT10X08 5/8 12
852TT04 1/4 710TTO04 881TT12X08 3/4 12
852TT06 3/8 710TTO06 881TTI2X12 3/4 3/4
852TTO08 12 710TTO08 881TT16X12 | 3/4
852TT10 5/8 710TTO10 881TT16X16 | |
852TTI12 3/4 710TTO12 881TT20X16 1-1/4 |
852TT16 ! 710TTO16 881TT20X20 1-1/4 1-1/4
881TT24X24 1-12 1-12
A B
A B
848TT
Male o'ring face / Male NPTF 8SS2TT
Male o'ring face / Male NPTF Femelle o'ring face tournant / Male NPTF
Numéro A Orring B (") Female o'ring face swivel / Male NPTF
Part number Numéro
B48TTO4X02 174 710TTO04 178 Part number AC) B
848TT04X04 1/4 710TTO04 1/4 882TT04X02 1/4 1/8
848TT04X06 1/4 710TTO04 3/8 882TT04X04 1/4 1/4
848TT04X08 1/4 710TTO04 12 882TTO6X04 3/8 1/4
848TT06X04 3/8 710TTO06 1/4 882TT06X06 3/8 3/8
848TT06X06 3/8 710TTO06 3/8 882TT0O8X04 12 1/4
848TT06X08 3/8 710TTO06 12 882TT08X06 12 3/8
848TT0O8X04 12 710TTO08 1/4 882TT0OSX0S 12 12
848TT0O8X06 12 710TTO08 3/8 882TT10X08 5/8 12
848TT08X08 12 710TTO08 12 882TTI12X12 3/4 3/4
848TT08X12 12 710TTO08 3/4 882TT16X16 1 1
848TT10X08 5/8 710TTO10 12 882TT20X20 1-1/4 1-1/4
848TT10X12 5/8 710TTO10 3/4
848TT12X08 3/4 710TTO12 12
@8TT12X12 3/4 710TTO12 3/4 )

45



ORFS (o'ring face)

Numéro " e "
( Part number AO O'ring B \
A B 849TT06X06 318 710TTO06 3/8
849TT0O8X08 12 710TTO08 12
T 849TT10X08 5/8 710TTO10 12
wimws| @ | ome |
Male o'ring face / Female NPTF
— 849TT16X16 | 710TTO16 1
Part number A O'ring B ()
846TT04X02 174 710TTO04 178 A
846TT04X04 1/4 710TTO04 1/4
846TTO6X04 38 710TTO06 1/4
846TTO6X06 38 710TTO06 3/8 84STTO
846TTO6X08 3/8 710TTO06 12 Male o'ring face / Male o'ring boss
846TT08X06 1/2 710TTO08 3/8 Male o'ring face / Male o'ring boss
846TTO8X08 12 710TTO08 112 7
846TTOSX 12 12 710TTO08 3/4 PaljturTlfr:I:(l;er AO) Oring | B() O'ring
846TT10X08 518 710TTO10 172 848TTO04X04 1/4 710TTO04|  1/4 710FSO04
846TT12X08 3/4 710TTO12 172 848TTO04X06 1/4 710TTO04|  3/8 710FS006
846TT12X12 34 710TTO12 3/4 848TTO04X08 1/4 710TTO04| 122 710FSO08
846TT16X16 1 710TTO16 1 848TTO06X04|  3/8 710TTO06|  1/4 710FSO04
846TT20X20 1-1/4 710TTO20 1-1/4 848TTO06X05 3/8 710TTO06|  5/16 710FS005
B 848TTO06X06|  3/8  |710TTOO6| 378 710FS006
848TTO06X08| 38  |710TTO06| 172 710FSO08
A 848TTO06X10| 38  |710TTOO6| 518 710FSO10
848TTO06X12| 358 |710TTO06|  3/4 710FSO12
o 848TTO0SX06| 12 |710TTOO08| 318 710FS006
Tt e T SIS 848TTO0SX08| 12 |710TTO08| 172 710FSO08
Male o'ring face / Male NPTF 848TTO0SX10| 12 |710TTOO08| 518 710FSO10
_ 848TTO08X12| 12 |710TTO08|  3/4 710FSO12
Paﬁ“ﬁiﬁger A(") O'ring B (") 848TTO10X08|  5/8 710TTO10| 172 710FSO08
848TTO10X10| 558  |710TTO10| 578 710FSO10
854TT04X04 1/4 710TTO04 1/4 848TTO10X12| 558  |710TTO10|  3/4 710FSO12
854TT04X06 1/4 710TTO04 3/8 48TTOI2X06|  3/4  |710TTO12| 318 710FS006
854TTO6X04 3/8 710TTO06 1/4 848TTOI2X08|  3/4  |710TTO12| 122 710FSO08
854TTO6X06 3/8 710TTO06 3/8 848TTOI12X10|  3/4  |710TTO12| 518 710FSO10
854TTO8X06 112 710TTO08 3/8 848TTOI2X12| 34  |710TTO12|  3/4 710FSO12
854TTO8X08 112 710TTO08 172 848TTO12X14| 34  |710TTO12| 718 710FSO14
854TT10X08 5/8 710TTO10 172 848TTOI2X16| 34  |710TTO12| 1 710FSO16
854TT12X12 3/4 710TTO12 3/4 848TTO16X12 | 710TTO16|  3/4 710FSO12
854TT12X16 3/4 710TTO12 1 848TTO16X16 | 710TTO16| 1 710FSO16
854TT16X16 1 710TTO16 1 848TTO16X20 | 710TTO16| 1-1/4 | 710FSO20
854TT20X20 1-1/4 710TTO20 1-1/4 848TTO20X16|  1-14  |710TTO20| 1 710FSO16
A 848TTO20X20|  1-174  |710TTO20| 1-1/4 | 710FSO20
848TTO20X24|  1-174  |710TTO20| 1-12 | 710FSO24
848TTO24x20|  1-12  |710TTO24| 1-1/4 | 710FSO20
B 848TTO24X24|  1-12  |710TT024| 1-12 | 710FSO24
849TT
Male o'ring face / Male NPTF
Male o'ring face / Male NPTF
Numéro " L "
Part number AC) Oring B
849TT04X04 /4 710TTO04 174
\$49TTO6X02 3/8 710TTO06 118 )

46



ORFS (o'ring face)

-

il

~N

g

B B
848LTTO 854TTO
Male o'ring face / Male o'ring boss long Male o'ring face / Male o'ring boss ajustable
Male o'ring face / Male o'ring boss long Male o'ring face / Male o'ring boss adjustable
Paljturllllllf;ober A" O'ring B (") O'ring Paljturllllllflrl(‘t))er A O'ring B (") O'ring
848LTTO04X04 1/4 710TTO04 1/4 710FS004  |854TTO04X04 1/4 710TTO04 1/4 710FSO04
848LTTO06X06 3/8 710TTO06 3/8 710FSO06 854TTO04X06 1/4 710TTO04 3/8 710FSO06
848LTTO06X08 3/8 710TTO06 172 710FSO08 854TTO06X04 3/8 710TTO06 1/4 710FSO04
848LTTO08X08 172 710TTO08 172 710FSO08 854TTO06X06 3/8 710TTO06 3/8 710FSO06
848LTTO10X10 5/8 710TTO10 5/8 710FSO10 854TTO06X08 3/8 710TTO06 12 710FSO08
848LTTO12X12 3/4 710TTO12 3/4 710FSO12 854TTO08X06 1/2 710TTOO08 3/8 710FSO06
848LTTO16X16 1 710TTO16 1 710FSO16 854TTO08X08 1/2 710TTOO08 12 710FSO08
848LTTO20X20 1-1/4 710TTO20 1-1/4 710FS0O20 854TTO0O8X10 172 710TTO08 5/8 710FSO10
848LTTO24X24 1-172 710TTO24 1-1/72 710FS0O24 854TTO08X12 1/2 710TTO08 3/4 710FSO12
— 854TTO10X08 5/8 710TTO10 1/2 710FSO08
854TTO10X10 5/8 710TTO10 5/8 710FSO10
A B 854TTO10X12 5/8 710TTO10 3/4 710FSO12
S 854TTO12X12 3/4 710TTO12 3/4 710FSO12
854TTO12X16 3/4 710TTO12 1 710FSO16
846TTO 854TTO16X12 1 710TTO16 3/4 710FSO12
Male o:ring face / Femelle ()"I:ing boss 854TTO16X16 | 710TTO16 | 7105016
Male o'ring face / Female o'ring boss 854TTO16X20 1 710TTO16 1-1/4 710FSO20
Numéro ING) O'ring B (") 854TTO20X20|  1-1/4 710TTO20 | 1-1/4 710FS020
Part number 854TTO24x24| 1-12 | 710TTO24 | 112 | 710FSO24
846TTO06X06 3/8 710TTO06 3/8 A
846TTO08X08 12 710TTO08 12
846TTO12X12 3/4 710TTO12 3/4
B
A B 878TTO
Femelle o'ring face tournant / Male o'ring boss ajustable
Female o'ring face swivel / Male o'ring boss adjustable
881TTO Numéro .
Femelle o'ring face tournant / Male o'ring boss Part number A(") B (" O'ring
Female o'ring face swivel / Male o'ring boss R73TTO0AX04 4 4 TI0FSO04
Numéro A B (") Oring  |878TTO06X06 3/8 3/8 710FSO06
Part number 878TTO08X08 12 12 710FSO08
881TTO04X04 1/4 1/4 710FSO04 1878 TTO10X10 5/8 5/8 710FSO10
881TTO04X12 1/4 3/4 710FSO12 |1878TTO12X12 3/4 3/4 710FSO12
881TTO06X06 3/8 3/8 710FSO06 |878TTO16X16 1 1 710FSO16
881TTO06X12 3/8 3/4 710FSO12
881TTO08X08 172 172 T10FSO08
881TTO08X10 172 5/8 710FSO10
881TTO10X10 5/8 5/8 710FSO10
881TTO12X12 3/4 3/4 710FSO12
881TTO16X12 1 3/4 710FSO12
881TTO16X16 1 1 710FSO16
881TTO20X20 1-1/4 1-1/4 710FSO20
881TTO24X24 1-172 1-12 710FSO24

47



ORFS (o'ring face) / ORB (o'ring boss)

( - Numéro . . \
" L " O,
Part number AC) O'ring B () nng
845TTO20X20 1-1/4 710TTO20 1-1/4 710FSO20

845TTO24X24 1-1/2 710TTO24 1-1/2 710FSO24

849TTO

Male o'ring face / Male o'ring boss ajustable
Male o'ring face / Male o'ring boss adjustable

Numéro " . " e
Part number AC) O'ring B O'ring 851TTO

849TTO04X04 1/4 710TTO04 1/4 710FSO04 | Male o'ring face / Male o'ring face / Male o'ring boss ajustable
849TTO04X05 1/4 710TTO04 | 5/16 710FSO05 | Male o'ring face / Male o'ring face / Male o'ring boss adjustable
849TTO04X06|  1/4 710TTO04 | 3/8 710FSO06 Numéro - - -
849TTO04X08| 114  |710TTO04| 122 | 710FS008 | Part number | A Oring [ B () Orring

849TTO06X04(  3/8 710TTO06 [ 174 710FSO04  I951TTO04X04[  1/4 [ 710TTO04 | 1/4 710FSO04
849TTO06X05 3/8 710TTO06 |  5/16 TI0FSO05 (851 TTO06X06 3/8 710TTO06 3/8 710FSO06
849TTO06X06(  3/8 710TTO06 [ 3/8 710FSO06  I851TTOOSX08| 172 710TTO08 | 172 710FS008
849TTO06X08(  3/8 710TTO06 [ 1/2 710FSO08  Igs51TTO10X10[  5/8 710TTO10 | 5/8 710FSO10
849TTO06X10f  3/8 710TTO06 [ 5/8 71I0FSO10  gs51TTO12X12|  3/4 | 710TTOI12| 3/4 710FSO12
849TTO06X12 3/8 710TTO06 3/4 TI0FSO12  [851TTO16X16 1 710TTO16 1 710FSO16
849TTO08X06| 172 710TTOO08 |  3/8 710FSO06 -
849TTO0SX08| 172 710TTO08 | 12 710FSO08 ORB (0o'ring boss)
849TTO08X10| 172 710TTO08 |  5/8 710FSO10
849TTO08X12| 12 710TTO08 |  3/4 710FSO12
849TTO10X08 5/8 710TTO10 1/2 710FSO08 A B
849TTO10X10|  5/8 710TTO10 | 5/8 710FSO10
849TTO10X12|  5/8 710TTO10 |  3/4 710FSO12
849TTO12X08|  3/4 710TTO12 | 12 710Fso0g | 719FSO

849TTO12X10| 34  [710TTO12| 5/8 | 710FS010 |Méle o'ring boss/Femelle o'ring boss
849TTO12X12|  3/4 710TTO12 | 3/4 710rs012 | Male o'ring boss / Female o'ring boss

849TTO12X16 3/4 710TTO12 1 710FSO16 Numéro A Oring B (")

849TTO16X12 1 710TTO16 | 3/4 710FSO12 | Part number

849TTO16X16 1 710TTO16 1 710FSO16 | 719FSO06X04 318 710FSO06 1/4

849TTO16X20 1 710TTO16 | 1-1/4 710FS020 |719FSO06X08 3/8 710FSO06 172

849TTO20X16| 1-1/4 | 710TTO20 1 710FSO16 | 719FSO08X06 172 710FSO08 38

849TTO20X20(  1-1/4  |710TTO20 | 1-1/4 | 710FSO20 |719FSO08X08 12 710FSO08 12

849TTO24X20(  1-1/2 | 710TTO24 | 1-1/4 | 710FSO20 |719FSO08X10 12 710FSO08 518

849TTO24X24|  1-172 710TTO24 | 1-1/2 710FSO24 |719FSO10X06 5/8 710FSO10 3/8
719FSO10X08 5/8 710FSO10 12
719FSO10X12 5/8 710FSO10 3/4
719FSO12X06 3/4 710FSO12 3/8
719FSO12X08 3/4 710FSO12 12
719FSO12X10 3/4 710FSO12 5/8

845TTO 719FSO14X12 /8 710FSO14 3/4

Male o'ring face / Méle o'ring boss ajustable / Male o'ring face 719FSO16X10 1 710FSO16 5/8

Male o'ring face / Male o'ring boss adjustable / Male o'ring face 719FSO16X12 1 710FSO16 3/4

Numéro A O'ring B (") O'ring 719FS020X12 1-1/4 710FS020 3/4
Part number 719FS020X16 1-1/4 710FS020 1

845TTO04X04 1/4 710TTO04 | 1/4 710FSO04 |719FS024X16 1-172 710FSO24 1

845TTO06X06 318 710TTO06 |  3/8 710FSO06 | 719FS024X20 1-1/2 710FSO24 1 1/4

845TTO06X08 318 710TTO06 | 1/2 710FSO08

845TTO08X08 12 710TTO08 | 1/2 710FSO08

845TTO10X10 5/8 710TTO10 |  5/8 710FSO10

845TTO12X10 3/4 710TTO12 |  5/8 710FSO10

845TTO12X12 3/4 710TTO12 |  3/4 710FSO12

@TTowxm 1 710TTO16 1 710FSO16 Y,

48



ORB (o'ring boss)

f Numéro \
; B ("
Part number AC) ©
A 780FSO04X06 174 378
780FSO06X06 3/8 3/8
721FSO
Bouchon male o'ring boss téte hexagone
Hexagon head o'ring boss male plug A B
Numéro A Oring
Part number T42FSO
721FSO02 118 710FSO02 Male o'ring boss / Male o'ring boss
721FS0O03 3/16 710FSO03 Male o'ring boss / Male o'ring boss
721FS004 1/4 710FSO04 Numéro .
721FS005 5/16 710FS005 Part number AC) B (") O'ring
721FS006 3/8 710FSO06 742FS004X04 1/4 1/4 710FS004
721FS008 172 710FSO08 742FSO06X06 318 318 710FSO06
721FSO10 /8 710FSO10 742FSO08X08 12 12 710FS008
721FSO12 3/ 710FSO12 742FSO10X10 518 518 710FSO10
721FSO14 8 710FSO14 742FSO12X12 304 3/4 710FSO12
721FSO16 ! 710FSO16 742FSO16X16 1 1 710FSO16
721FS020 1174 710FS020 742FS020X20 1-1/4 1-1/4 710FS020
721FS024 1-172 710FS024 742FS024X24 1-12 1-172 710FS024
721FS032 2 710FS0O32 -
755FSO
723FSO A - Male o'ring boss / Méle o'ring boss
Bouchon male o'ring boss type Allen Male o'ring boss / Male o'ring boss
Allen type o'ring boss male plug -

: Numéro A B (") O'rin
Numéro A" Part number £
Part number 755FS004X04 1/4 1/4 710FSO04

723F5002 178 755FSO06X06 318 38 710FSO06
723FS003 316 755FSO08X08 12 12 710FSO08
723F5004 1/4 755FSO10X10 518 518 710FSO10
723F5005 /16 755FSO12X12 3/4 3/4 710FSO12
723FS006 3/8 755FSO16X16 1 I 710FSO16
723FS008 172 755FS020X20 1-1/4 1-1/4 710FS020
723FSO10 /8 755FS024X24 1-172 1-172 710FS024
723FSO12 3/4
723FSO14 7/8
723FSO16 1
723FS020 1-1/4
- 779FSO
A B Male o'ring boss ajustable / Femelle o'ring boss
] Male o'ring boss adjustable / Female o'ring boss
780FSO Numéro A (") O'ring B (")
o e Part number
Femelle o'ring boss / Femelle o'ring boss
Female o'ring boss / Female o'ring boss 779FSO03X03 3/16 710FS0O03 3/16
_ 779FS003X04 3/16 710FSO03 1/4
b Nt“me“; A(") B (") 779FSO04X04 1/4 710FSO04 1/4
788;;31(‘;;84 e — 779FS005X05 516 710FS005 5/16
SORSO0X04 s s 779FS006X06 3/8 710FS006 3/8
\& 779FSO08X08 12 710FSO08 2

49



ORB (o'ring boss)

Numéro . "
( ——— Part number A Oing B \
A B 722FSO12X08 3/4 710FSO12 12
- 722FSO12X12 3/4 710FSO12 3/4
722FSO16X16 1 710FSO16 1
728FSO
Femelle o'ring boss / Male NPTF 722FS020X20 1-1/4 710FSO20 1-1/4
Female o'ring boss / Male NPTF 722FS024X24 1-12 710FSO24 1-12
— 722FS032X32 2 710FSO32 2
Part number AC) B ()
728FS004X02 1/4 /8 A .
728FS004X04 1/4 1/4
728FS005X02 5/16 /8
728FS006X06 3/8 3/8 720FSO
728FSO06X08 3/8 172 Male o'ring boss / Femelle NPTF
728FS008X06 12 3/8 Male o'ring boss / Female NPTF
728FS0O08X08 12 12 Numero - - -
728FSO10X08 5/8 12 Part number AC) Orring BO)
728FS0O12X12 3/4 3/4 720FS004X02 1/4 710FSO04 1/8
728FSO16X16 1 1 720FSO04X04 1/4 710FSO04 1/4
728FS020X20 1-1/4 1-1/4 720FS004X06 1/4 710FSO04 3/8
720FS005X02 5/16 710FSO05 1/8
— 720FSO05X04 5/16 710FSO05 1/4
A B 720FSO06X04 3/8 710FSO06 1/4
: 720FSO06X06 3/8 710FSO06 3/8
ool | e |
Femelle o'ring boss / Femelle NPTF
Female o'ring boss / Female NPTF 720FSO08X06 12 710FSO08 3/8
_ 720FSO08X08 12 710FSO08 12
Numéro A" B (") 720FSO10X04 5/8 710FSO10 1/4
Part number 720FSO10X06 5/8 710FSO10 3/8
726FSO03X02 3/16 178 720FSO10X08 5/8 710FSO10 12
726FSO04X02 174 178 720FSO10X12 5/8 710FSO10 3/4
726FSO05X04 5/16 174 720FSO12X06 3/4 710FSO12 3/8
726FSO06X04 3/8 174 720FSO12X08 3/4 710FSO12 12
726FSO06X06 3/8 3/8 720FSO12X12 3/4 710FSO12 3/4
726FSO08X08 1/2 172 720FSO14X12 /8 710FSO14 3/4
720FSO16X08 1 710FSO16 12
720FSO16X12 1 710FSO16 3/4
A B 720FSO16X16 1 710FSO16 1
720FSO16X20 1 710FSO16 1-1/4
722FSO 720FS020X12 1-1/4 710FS020 3/4
Male o'ring boss / Male NPTF 720FS020X16 1-1/4 710FS020 1
Male o'ring boss / Male NPTF 720FS020X20 1-1/4 710FS020 1-1/4
- 720FS024X16 1-12 710FSO24 1
P;i“ﬁf:;er A" O'ring B (") 720FS024X24 1-12 710FS024 1-1/2
720FS032X32 2 710FSO32 2
722FS004X02 1/4 710FSO04 18
722FS004X04 1/4 710FS004 1/4
722FS006X04 3/8 710FS006 1/4
722FS006X06 3/8 710FS006 3/8
722FS008X04 12 710FSO08 1/4
722FS008X06 12 710FSO08 3/8
722FSO08X08 12 710FSO08 12
722FSO08X 12 12 710FSO08 3/4
\[22FS010X08 5/8 710FSO10 12 )

50



ORB (o'ring boss) / ADAPTER TUBE

(" B ADAPTER TUBE
A
725FSO
Male o'ring boss ajustable / Femelle NPTF
Male o'ring boss adjustable / Female NPTF 63TA
Numéro - - Male JIC / Femelle JIC tournant
Part number A" O'ring B (") Male JIC / Female JIC swivel
725FS004X02 1/4 710FSO04 1/8 Numéro A" B (")
725FS004X04 1/4 710FSO04 1/4 Part number
725FS005X02 5/16 710FSO05 1/8 63TA04X04 1/4 1/4
725FS008X06 172 710FSO08 3/8 63TA05X05 /16 /16
725FS008X08 172 710FSO08 172 63TA06X06 3/8 3/8
725FSO12X12 3/4 710FSO12 3/4 63TA08X08 172 172
725FSO16X16 1 710FSO16 1 63TA10X10 518 518
725FS020X20 1-1/4 710FSO20 1-1/4 63TA12X12 3/4 3/4
B 63TA16X16 1 1
A
725LFSO
Male o'ring boss ajustable long / Femelle NPTF 63UA
Male o'ring boss adjustable long / Female NPTF Male JIC / Femelle JIC tournant B
~ Male JIC / Female JIC swivel
Numéro A" O'ring B (") -
Part number Numéro A B (")
725LFSO08X06 172 710FSO08 3/8 Part number
725LESO10X08 5/8 710FSO10 12 63UA04X04 174 174
725LFSO12X12 3/4 710FSO12 3/4 63UA05X05 5/16 5/16
725LFSO16X16 1 710FSO16 1 63UA06X06 3/8 3/8
63UA08X08 172 172
63UA10X10 5/8 5/8
63UA12X12 3/4 3/4
63UA16X16 1 1
63UA20X20 1-1/4 1-1/4
729FSO 63UA24X24 1-172 1-172
Male o'ring boss ajustable / Male NPTF
Male o'ring boss adjustable / Male NPTF A
Numéro . "
Part number AC) O'ring B
729FS004X04 1/4 710FSO04 1/4
729FS006X04 3/8 710FS006 1/4 63UC
729FS006X06 3/8 710FSO06 3/8 Male JIC / Femelle JIC tournant long| | |
729FSO08X08 1/2 710FSO08 12 Male JIC / Female JIC swivel long B
729FS012X12 3/4 710FSO12 3/4 Numéro AC) B (")
729FS0O16X16 1 710FSO16 1 Part number
729FS020X20 1-1/4 710FS020 1-1/4 63UC04X04 1/4 1/4
63UC05X05 5/16 5/16
63UC06X06 3/8 3/8
63UC08X08 172 172
63UC10X10 5/8 5/8
63UC12X12 3/4 3/4
63UC16X16 1 1
\ 63UC20X20 1-1/4 1-1/4 )

51



ADAPTER TUBE

Numéro " " - Bride
( Part number AO) BO) O'ring Flange \
63SB24X20 1-1/2 1-1/4 20PA77 20PA
63SB24X24 1-1/2 1-1/2 24PA7TT 24PA
61TA 63SB24X32 1-1/2 2 32PA77 32PA
Male JIC / Femelle BSPP tournant 638B32X24 2 1172 24PATT 24PA
Male JIC / Female BSPP swivel 635B32X32 2 z 32PATT 32PA
Numéro "
Part number A A | J B
61TAO4 1/4
61TA06 3/8
61TA08 12 63SE
61TA10 5/8 Male JIC / Bride (code 61 HD)
61TA12 3/4 Male JIC / Flange (code 61 HD)
61TA16 1 Numéro " " . Bride
Part number AC) BO) O'ring Flange
63SE12X12 3/4 3/4 12PA77 12PA
63SE12X16 3/4 1 16PA77 16PA
63SE16X16 1 1 16PA77 16PA
61UA 63SE16X20 1 1-1/4 20PA77 20PA
Male JIC / Femelle BSPP tournant 63SE20X20 1-174 1-174 20PATT 20PA
Male JIC / Female BSPP swivel 63SE24X24 1-1/2 1-172 24PA7TT 24PA
63SE32X32 2 2 32PA77 32PA
Numéro NG
Part number
61UA04 1/4 A N <
61UA06 3/8
61UA08 12
61UA12 3/4 63SF
61UA16 1 Male JIC / Bride (code 62)
Male JIC / Flange (code 62)
Numéro N N . Bride
A . B Part number AC) B Ofring Flange
63SF08X08 12 12 08PA77 08PH
63SB 63SF12X12 3/4 3/4 12PA77 12PH
Male JIC / Bride (code 61) 63SF12X16 3/4 1 16PA77 16PH
Y I IS Bl R
Paﬁuﬁf;ger A B() | Oring Ig;fgee 63SF16X20 1 1-1/4 | 20PA77 20PH
63SF16X24 1 1-1/2 24PA7TT 24PH
63SB08X08 172 172 08PA77 08PA 63SF20X 16 1-1/4 1 16PA77 16PH
63SBO8X12 172 34| 12PATT 12PA 63SF20X20 | 1-1/4 1-1/4 | 20PA77 20PH
63SBI2X12 34 34| 12PATT 12PA 63SF20X24 | 1-1/4 1-1/2 | 24PAT77 24PH
63SBI2X16 34 ! 16PAT7 16PA 63SF24X20 | 1-172 1-1/4 | 20PA77 20PH
635B12X20 34 1-1741 20PAT77 20PA 63SF24x24 | 1-172 1-1/2 | 24PA77 24PH
63SB12X24 3/4 1-1/2 24PA7T7 24PA 63SF32X32 b ) 32PA77 30PH
63SB16X12 1 3/4 12PA77 12PA
63SB16X16 1 1 16PA77 16PA
63SB16X20 1 1-1/4 20PA77 20PA
63SB16X24 1 1-1/2 24PA7T7 24PA
63SB20X16 1-1/4 1 16PA77 16PA
63SB20X20 1-1/4 1-1/4 20PA77 20PA
63SB20X24 1-1/4 1-1/2 24PA7T7 24PA
63SB20X32 1-1/4 2 32PA77 32PA
Q3SB24X16 1-1/2 1 16PA77 16PA )

52



ADAPTER TUBE

Numéro " " . Bride
( A Part number AO) BO O'ring Flange \
63TF16X24 1 1-12 | 24PA77 24PH
B 63TF20X12 1-1/4 3/4 12PA77 12PH
63TB 63TF20X16 1-1/4 1 16PA77 16PH
Mile JIC / Bride (code 61) 63TF20X20 1-1/4 1-1/4 | 20PA77 20PH
Male JIC / Flange (code 61) 63TF20X24 1-1/4 1-12 | 24PA77 24PH
i : 63TF24X20 1-12 1-1/4 | 20PA77 20PH
Paljtul‘lﬁ‘;ger A(") B (") O'ring g;ﬁ; 63TF24X24 1-172 1-1/2 | 24PA77 24PH
63TF32X32 2 2 32PA77 32PH
63TB08X08 12 12 0SPA77 0SPA
63TB08X12 12 3/4 12PA77 12PA A
63TB12X12 3/4 3/4 12PA77 12PA
63TB12X16 3/4 1 16PA77 16PA
63TB12X20 3/4 1-1/4 | 20PA77 20PA
63TB16X12 1 3/4 12PA77 12PA 63UB .=
63TB16X16 1 1 16PA77 16PA Male JIC / Bride (code 61)
63TB16X20 1 1-1/4 20PA77 20PA Male JIC / Flange (code 61)
63TB16X24 1 1-12 | 24PA77 24PA Numéro ' - ~ Bride
63TB20X12 | 1-1/4 3/4 12PA77 12PA Part number | () B() | Oring Flange
63TB20X16 1-1/4 1 16PAT77 16PA 63UB08X08 12 12 08PA77 08PA
63TB20X20 1-1/4 1-1/4 | 20pA77 20PA 63UB08X 12 1 34 12PATT 12PA
63TB20X24 1-1/4 1-12 | 24PA77 24PA 63UB12X12 34 34 12PATT 12PA
63TB24X20 1-172 1-1/4 | 20PA77 20PA 63UB12X16 /4 1 16PATT 16PA
63TB24X24 1-172 1-12 | 24PA77 24PA 63UB12X20 /4 4 | 20pA77 20PA
63TB32X32 2 2 32PATT 32PA 63UB12X24 3/4 1-1/2 | 24PA77 24PA
63UB16X12 1 3/4 12PA77 12PA
A 63UB16X16 1 1 16PA77 16PA
63UB16X20 1 1-1/4 | 20PA77 20PA
B 63UB16X24 1 1-1/2 | 24PA77 24PA
63UB16X32 1 2 32PA77 32PA
63{TE ) 63UB20X12 1-1/4 3/4 12PA77 12PA
x:}z ﬁg ; g{;ﬂ;éc(‘c’gsg 1H1]1)1))) 63UB20X16 | 1-1/4 1 16PA77 16PA
63UB20X20 1-1/4 1-1/4 | 20PA77 20PA
Numéro A B (") Oring Bride 63UB20X24 1-1/4 1-172 | 24PA77 24PA
Part number Flange 63UB20X32 1-1/4 2 32PA77 32PA
63TE12X12 3/4 3/4 12PA77 12PA 63UB24X16 1-1/2 1 16PA77 16PA
63TE16X16 1 1 L6PATT 16PA 63UB24X20 1-1/2 1-1/4 20PA77 20PA
63TE16X20 1 1-1/4 20PAT77 20PA 63UB24X24 1-1/2 1-172 24PA77 24PA
63TE20X20 1-1/4 1-1/4 20PA77 20PA 63UB24X32 1-1/2 2 30PA77 32PA
63TE24X24 1-1/2 1-1/2 24PAT7 24PA 63UB32X24 2 1-1/2 24PA77 24PA
63UB32X32 2 2 32PA77 32PA
A
A
B
63TF
Male JIC / Bride (code 62) 63UE B
e ) Male JIC / Bride (code 61 HD)
Numéro A" B (" Oring Bride Male JIC / Flange (code 61 HD)
Part number Flange Numéro . Bride
63TF08X08 12 12 08PA77 08PH part number | () B(") | Oring Flange
63TFI2X12 34 34| 12PATT 12PH 63UEI12X12 374 34 | 12PAT7 12PA
63TFI2X16 34 ! L6PATT 16PH 63UE12X16 3/4 1 16PA77 16PA
63TF16X16 ! ! 16PATT 16PH 63UE16X16 1 1 16PA77 16PA
\$3TF16X20 ! 1174 | 20PA77 | 20PH | 63UE16X20 i 14| 20pa77 | 20eA J

53



ADAPTER TUBE

Numéro N N . Bride
(Part number AO) B Orring Flange \
63UE20X20 1-1/4 1-1/4 | 20PA77 20PA
63UE20X24 1-1/4 1-12 | 24PA77 24PA
63UE24X24 1-12 1-12 | 24PA77 24PA PH
63UE32X32 2 2 32PA77 32PA il
Split flange code 62
A Numéro Dimension
Part number Size
08PH 12
63UF B 12PH 3/4
Male JIC / Bride (code 62) 16PH 1
Male JIC / Flange (code 62) 20PH 1-1/4
Numéro " N . Bride 24PH 1-172
Part number A B Ofring Flange 32PH 2
63UF08X08 1/2 12 08PA77 08PH
63UF12X12 3/4 3/4 12PA77 12PH
63UF12X16 3/4 1 16PA77 16PH
63UF12X20 3/4 1-1/4 | 20PA77 20PH
e I I -l I
Male BSPP / Femelle BSPP tournant
63UF16X20 ! 1174 20PATT 20PH Male BSPP / Female BSPP swivel
63UF16X24 1 1-12 | 24PA77 24PH
63UF20X16 1-1/4 1 16PA77 16PH Numeéro A
63UF20X20 1-1/4 1-1/4 | 20PA77 20PH Part number
63UF20X24 1-1/4 1-12 | 24PA77 24PH 62TA04 1/4
63UF24X16 1-1/2 1 16PA77 16PH 62TA06 3/8
63UF24X20 1-1/2 1-1/4 | 20PA77 20PH 62TA08 172
63UF24X24 1-12 1-172 | 24PA77 24PH 62TA10 518
63UF24X32 1-1/2 2 32PA77 32PH 62TA12 34
63UF32X32 2 2 32PA77 32PH 62TAl6 1
62TA20 1-1/4
62TA24 1-12
62TA32 2
PA
Bride code 61
Split flange code 61 A
Numéro Dimension 62TD
Part number Size Femelle BSPP t01.1rnant / Femelle BSPIT tournant
ORPA T Female BSPP swivel / Female BSPP swivel
12PA 3/4 Numéro A
16PA 1 Part number
20PA 1-1/4 62TD04 1/4
24PA 1-12 62TD06 3/8
32PA 2 62TD08 172
62TD10 5/8
62TD12 3/4
62TD16 1
62TD20 1-1/4
\ J

54



ADAPTER TUBE

4 )
62UA 64UA
Male BSPP / Femelle BSPP tournant Male o'ring face / Femelle o'ring face tournant
Male BSPP / Female BSPP swivel Male o'ring face / Female o'ring face swivel
Numéro " Numéro N "
Part number A Part number A B
62UA04 1/4 64UA04X04 1/4 1/4
62UA06 3/8 64UA06X06 3/8 3/8
62UA08 172 64UA08X08 1/2 12
62UA10 5/8 64UA10X10 5/8 5/8
62UA12 3/4 64UA12X12 3/4 3/4
62UA16 1 64UA16X16 1 1
62UA20 1-1/4 64UA20X20 1-1/4 1-1/4
62UA24 1-1/2 64UA24X24 1-172 1-172
62UA32 2
64UC B
62UD Mile o'ring face / Femelle o'ring face tournant long
Femelle BSPP tournant / Femelle BSPP tournant Male o'ring face / Female o'ring face swivel long
Female BSPP swivel / Female BSPP swivel Numéro - -
Numéro NG Part number AC) B
Part number 64UC04X04 1/4 1/4
62UD04 1/4 64UC06X06 3/8 3/8
62UD06 3/8 64UC08X08 172 172
62UD08 172 64UCI12X12 3/4 3/4
62UD10 5/8 64UC16X16 1 1
62UD12 3/4 64UC20X20 1-1/4 1-1/4
62UD16 1
62UD20 1-1/4
62UD24 1-1/2 A @H@ — B
64SB
Male o'ring face / Bride code 61
Male o'ring face / Flange code 61
64TA Numéro " "
Male o'ring face / Femelle o'ring face tournant Part number AC) B()
Male o'ring face / Female o'ring face swivel 64SB10X10 3/8 )
Numéro " " 64SB10X12 5/8 3/4
Part number A0 5O 64SB12X12 3/4 3/4
64TA04X04 1/4 1/4 64SB12X16 3/4 1
64TA06X06 3/8 3/8 64SB16X12 1 3/4
64TA08X08 12 172 64SB16X16 1 1
64TA10X10 5/8 5/8 64SB16X20 1 1-1/4
64TA12X12 3/4 3/4 64SB16X24 1 1-1/2
64TA16X16 1 1 64SB20X16 1-1/4 1
64TA20X20 1-1/4 1-1/4 64SB20X20 1-1/4 1-1/4
64SB20X24 1-1/4 1-1/2
\ 64SB24X20 1-1/2 1-1/4 )

55



ADAPTER TUBE / SAE 45 (45° flare)

-

64SF

Male o'ring face / Bride code 62
Male o'ring face / Flange code 62

64UB

Male o'ring face / Bride code 61
Male o'ring face / Flange code 61

~N

Numéro " " Numéro " "
Part number AC) B Part number AO) B ()
64SF10X12 5/8 3/4 64UB12X12 3/4 3/4
64SF12X12 3/4 3/4 64UB12X16 3/4 1
64SF12X16 3/4 1 64UB16X16 1 1
64SF16X12 1 3/4 64UB16X20 1 1-1/4
64SF16X16 1 1 64UB20X20 1-1/4 1-1/4
64SF16X20 1 1-1/4 64UB20X24 1-1/4 1-172
64SF16X24 1 1-1/2 64UB24X24 1-1/2 1-172
64SF20X16 1-1/4 1
64SF20X20 1-1/4 1-1/4
64SF20X24 1-1/4 1-1/2
64SF24X20 1-1/2 1-1/4

64UF
A Male o'ring face / Bride code 62
Male o'ring face / Flange code 62
Numéro " "
64TB Part number AC) B
Male o'ring face / Bride code 61 64UF12X12 3/4 3/4
Male o'ring face / Flange code 61 64UF12X16 3/4 1

Numéro " " 64UF16X12 1 3/4
Part number AC) BO 64UF16X16 1 1
64TB12X12 3/4 3/4 64UF16X20 1 1-1/4
64TB12X16 3/4 1 64UF16X24 1 1-172
64TB16X16 1 1 64UF20X12 1-1/4 3/4
64TB16X20 1 1-1/4 64UF20X16 1-1/4 1
64TB20X20 1-1/4 1-1/4 64UF20X20 1-1/4 1-1/4
64TB20X24 1-1/4 1-1/2 64UF20X24 1-1/4 1-172
64TB24X24 1-1/2 1-1/2 64UF24X24 1-1/2 1-172

A
64TF A
Male o'ring face / Bride code 62
Male o'ring face / Flange code 62 S89FS
Male SAE45 / Femelle SAE45 tournant

Numéro A" B (") Male SAE45 / Female SAE45 swivel
Part number P
G4TF12X12 34 34 b Numeéro A" B (")
64TF16X16 I I art humber
64TF20X20 1-1/4 1-1/4 S89FS06X06 38 308

. J

56



SAE 45 (45° flare) / FLARELESS (compression)

e z \
A B
A
579FS 1946FS
Male SAE45 / Femelle SAE45 tournant Tube / Femelle NPTF
Male SAE45 / Female SAE45 swivel Tube / Female NPTF
Numéro " " Numéro " " Ecrou Bague
Part number AC) B (") Part number AC) B (") Nut Sleeve
579FS06X06 3/8 3/8 1946FS02X02| 178 1/8 1961FS02 | 1960FS02
- 1946FS04X04 | 174 1/4 1961FS04 | 1960FS04
FLARELESS (compression) 1946FS06X06|  3/8 3/8 1961FS06 | 1960FS06
1946FS08X08 | 12 12 1961FS08 | 1960FS08
1946FS12X12| 374 3/4 1961FS12 | 1960FS12
1946FS16X 16 | | 1961FS16 | 1960FS16
1960FS
B A B
ague ]
Sleeve
Numéro Tube (") 1948FS
Part number Tube / Male NPTF
1960FS02 178 Tube / Male NPTF
1960FS03 3716 Numéro A B (" Ecrou Bague
1960FS04 1/4 Part number Nut Sleeve
1960FS05 5/16 1948FS02X02 | 1/8 1/8 1961ES02 | 1960FS02
1960FS06 3/8 1948FS04X02|  1/4 1/8 1961ES04 | 1960FS04
1960FS08 172 1948FS04X04|  1/4 1/4 1961ES04 | 1960FS04
1960FS10 S/8 1948FS06X04 |  3/8 1/4 1961FS06 | 1960FS06
1960FS12 34 1948FS06X06|  3/8 3/8 1961FS06 | 1960FS06
1960FS14 78 1948FS08X06| 12 3/8 1961FS08 | 1960Fs08
1960FS16 1 1948FS08X08 | 12 12 1961FS08 | 1960FS08
1948FS10X08|  5/8 12 1961ES10 | 1960FS10
1948FS12X12| 374 3/4 1961ES12 | 1960FS12
1948FS16X 16 1 1 1961ES16 | 1960FS16
1961FS
Ecrou B
Nut
b Nt umers Tube (") 1942FS
art number 'I\lbe/“lbe
1961FS02 1/8 Tube / Tube
1961FS03 3/16 A — Basnc
Bgi:gi 51//146 Part number AC) B Nut Sleeve
1061900 o8 1942FS02X02| 178 178 1961FS02 | 1960ES02
1061FS08 i 1942FS03X03|  3/16 3/16 1961ES03 | 1960FS03
106 1FS 10 s 1942FS04X04|  1/4 1/4 1961FS04 | 1960FS04
1061FS 1 s 1942FS05X05|  5/16 5/16 1961FS05 | 1960FS05
1061FS 14 g 1942FS06X06|  3/8 3/8 1961FS06 | 1960FS06
1061FS 16 | 1942FS08X08| 12 12 1961FS08 | 1960FS08
1942FS10X10|  5/8 5/8 1961FS10 | 1960ES10
1942FS12X12|  3/4 3/4 1961FS12 | 1960FS12
1942FS16X16 1 1 1961FS16 | 1960ES16

57



FLARELESS / FLARELESS METRIC (compression)

4 A FLARELESS METRIC (compression)

B
1954FS
Tube / Male NPTF
Tube / Male NPTF 1960FSM
Numéro . N Ecrou Bague Bague
Part number AC) B () Nut Sleive Sleeve
1954FS04X04 1/4 1/4 1961FS04 | 1960FS04 Numéro Tube (mm)
1954FS06X04 3/8 1/4 1961FS06 | 1960FS06 | Part number
1954FS08X06 12 3/8 1961FS08 | 1960FS08 | 1960FSM4LL 4mm
1954FS10X08 5/8 12 1961FS10 | 1960FS10 | 1960FSM6LL 6mm
1954FS12X12 3/4 3/4 1961FS12 | 1960FS12 | 1960FSMBLL 8mm
1954FS16X16 1 1 1961FS16 | 1960FS16 | 1960FSM6LS 6mm
N 1960FSMSLS 8mm
(T 1960FSM10LS 10mm
1960FSM12LS 12mm
1960FSM15L 15mm
MW B 1960FSM1SL 18mm
1949FS 1960FSM22L 22mm
Tube / Male NPTF 1960FSM28L 28mm
Tube / Male NPTF 1960FSM35L 35mm
Numéro ING) B (") Ecrou Bague 1960FSM42L 42mm
Part number Nut Sleeve 1960FSM 14S 14mm
1949FS04X02 1/4 1/8 1961FS04 | 1960FS04 | 1960FSM16S 16mm
1949FS04X04 1/4 1/4 1961FS04 | 1960FS04 | 1960FSM20S 20mm
1949FS05X04|  5/16 1/4 1961FS05 | 1960FS05 | 1960FSM25S 25mm
1949FS06X06 3/8 3/8 1961FS06 | 1960FS06 | 1960FSM30S 30mm
1949FS08X08 12 12 1961FS08 | 1960FS08 | 1960FSM38S 38mm
1949FS10X08 5/8 12 1961FS10 | 1960FS10
1949FS12X12 3/4 3/4 1961FS12 | 1960FS12
1949FS16X16 1 1 1961FS16 | 1960FS16 A
A
1961 FSM
Ecrou
B Nut
1955FS Numéro
Tube / Tube Part number A (mm) Tube (mm)
Tube / Tube 1961 FSM4LL MSX1.0 4mm
Numéro NG B (" Ecrou Bague 1961FSM6LL M10X1.0 6mm
Part number Nut Sleeve 1961FSMSLL M12X1.0 8mm
1955FS04X04 1/4 1/4 1961FS04 | 1960FS04 | 1961FSM6L MI12X1.5 6mm
1955FS05X05 5/16 5/16 1961FS05 | 1960FS05 | 1961FSMSL M14X1.5 8mm
1955FS06X06 3/8 3/8 1961FS06 | 1960FS06 | 1961FSM10L M16X1.5 10mm
1955FS08X08 12 12 1961FS08 | 1960FS08 | 1961FSM12L MI18X1.5 12mm
1955FS10X10 5/8 5/8 1961FS10 | 1960FS10 | 1961FSM15L M22X1.5 15mm
1955FS12X12 3/4 3/4 1961FS12 | 1960FS12 | 1961FSM18L M26X1.5 18mm
1955FS16X16 1 1 1961FS16 | 1960FS16 | 1961FSM22L M30X2.0 22mm
1961FSM28L M36X2.0 28mm
1961FSM35L M45X2.0 35mm
1961FSM42L M52X2.0 42mm
1961FSM6S M14X1.5 6mm
\_ 1961FSM8S M16X1.5 8mm y,

58



FLARELESS METRIC (compression)

[Paljturillirl(l;er A (mm) Tube (mm) A \
1961FSM10S MI8X1.5 10mm
1961FSM12S M20X1.5 12mm B
1961FSM 14S M22X1.5 14mm
1961FSM16S M24X1.5 16mm 1949FSM
Tube / Male NPTF
1961FSM20S M30X2.0 20mm Tube / Male NPTF
1961FSM25S M36X2.0 25mm - -
1961FSM308S M42X2.0 30mm Numéro 4 oomy | B Ecrou Bague
1961FSM38S M52X2.0 38mm Part number Nut Sleeve
1949FSMALL02|  4mm 1/8 | 196IFSM4LL| 1960FSM4LL
- 1949FSM6LLO2 [~ 6mm 1/8 | 1961FSM6LL| 1960FSM6LL
A o 1949FSM6L02 | 6mm /8 1961FSM6L | 1960FSM6LS
1949FSMSL04 | 8mm 1/4 1961FSMSL | 1960FSMSLS
— 1949FSM10L04|  10mm 1/4 | 1961FSMI0L|1960FSM10LS
1948FSM 1949FSM12L06|  12mm 358 |1961FSM12L|1960FSM12LS
Tube / Male NPTF 1949FSM15L08 | 15mm 12 | 1961FSMISL| 1960FSM15L
Tube / Male NPTF 1949FSM6S04 | 6mm 1/4 1961FSM6S | 1960FSM6LS
Numéro - Foron Bague | 1949FSMss04 | smm 1/4 1961FSMSS | 1960FSMSLS
Part number | 4 ™M™ B Nut Sleove | 1949FSM10S06|  10mm 38 | 1961FSM10s |[1960FSM10LS
SISESMALLo e s TIoeESa ALl Tocorsai | 1949FsM12506 [ 12mm 38 | 1961FSM125|1960FSM12LS
1048FSM6LL02 | 6mm s |ostrsmersl 1960rsmeLr | 1949FsM14s08 [ 14mm 12 |1961FSM14S| 1960FSM14s
1948FSM6L.04 6mm 1/4 1961FSM6L | 1960FSM6LS 1949FSM16S08 16mm 172 1961FSM16S| 1960FSM16S
1948FSMSLO4 | 8mm 1/4 1961FSMSL | 1960FSMSLS A
1948FSM10L06|  10mm 358 |1961FSMI0L|1960FSM10LS
1948FSM12L08 | 12mm 12 | 1961FSM12L|1960FSM12LS ,
1948FSM15L08|  15mm 12 | 1961FSMISL| 1960FSM15L i B
1948FSM6S04 | 6mm 1/4 1961FSM6S | 1960FSMOLS | gcemant —
1948FSM8S04 | 8mm 1/4 1961FSMSS | 1960FSMSLS [ == "0
1948FSM10S04| ~ 10mm 14 [1961FSM10S|1960FSMIO0LS | Tube / Tube
1948FSM12506 | 12mm 38 |1961FSM12s|1960FsM12Ls i .
1948FSM14S08 | 14mm 12 |1961Esmias| 1o6opsmias | Numéro oy | B mmy | ECrOU Bague
1948FSM16S08 | 16mm 12 | 1961Fsmies| 1960rsMi6s |Earnumber Nut Sleeve
195SFSM4LL | 4mm 4mm | 1961FSMALL| 1960FSMA4LL
1955FSM6LL |  6mm 6mm | 1961FSM6LL| 1960FSM6LL
A B 1955FSM6L 6mm 6mm | 1961FSM6L | 1960FSM6LS
1955FSMSL $mm $mm | 1961FSMSL | 1960FSMSLS
— — 1955FSMIOL |  10mm 10mm | 1961FSMI0L|1960FSM10LS
1942FSM 1955FSMI2L | 12mm 12mm | 1961FSMI2L|1960FSM12LS
Tube / Tube 1955FSMISL | 15mm 15mm | 1961FSMI5L| 1960FSM15L
Tube / Tube 1955FSM6S 6mm 6mm | 1961FSM6S | 1960FSM6LS
N——— Fcron Bague 1955FSMSS $mm $mm | 1961FSMSS | 1960FSMSLS
Part number | ™™ | B (mm) Nut Sleeve 1955FSM10S | 10mm 10mm | 1961FSM10S|1960FSM10LS
TR ZTE o —TToeTrsnari  Tocorsnai] 195sFsMi2s | 12mm 12mm | 1961FSM12S|1960FSM12LS
1040ESMELL | 6mm omm  |1961rsmeLL] 1960rsverr | 1955FsMias | 14mm l4mm | 1961FSM14S| 1960FSM14S
190FSMEL | 6mm omm | 1961FsmeL | 1960rsmers | 1955FsMi6s | 16mm 16mm | 1961FSM16S| 1960FSM16S
1942FSMSL | 8mm 8mm | 1961FSMSL | 1960FSMSLS
1942FSMIOL | 10mm 10mm | 1961FSMI0L|1960FSM10LS
1942FSMI2L | 12mm 12mm | 1961FSMI2L|1960FSM12LS
1942FSMISL | 15mm I5Smm | 1961FSMI5L| 1960FSM15L
1942FSM6S 6mm 6mm | 1961FSM6S | 1960FSM6LS
1942FSMSS 8mm gmm | 1961FSMSS | 1960FSMSLS
1942FSM10S | 10mm 10mm | 1961FSM10S|1960FSM10LS
1942FSM12S | 12mm 12mm | 1961FSM12S|1960FSM12LS
1942FSM14S | 14mm l4mm | 1961FSM14S| 1960FSM14S
\[942FSM16S | 16mm 16mm | 1961FSM16S| 1960FSM16S Y,

59




SWIVEL

: A
J7 1 S

59SX

59SP Femelle JIC / Male JIC

Femelle NPTF / Femelle NPTF Female JIC / Male JIC

Female NPTF / Female NPTF Numéro - - Ensemble

Numéro PSIT A B (") EnseI.nbl.e Part number PSI AO B Repair kit

Part number Repair kit [7595X04X04 5000 1/4 1/4 59SKSS04
59SP02X02 5000 1/8 1/8 59SKSS02 | 59SX06X06 5000 3/8 3/8 59SKSS04
59SP04X04 5000 1/4 1/4 59SKSS04 | 59SX08X08 5000 12 12 59SKSS08
59SP06X06 5000 3/8 3/8 59SKSS08 | 59SX10X10 5000 5/8 5/8 59SKSS08
59SP08X08 5000 172 172 59SKSS08 | 59SX12X12 4500 3/4 3/4 59SKSS12
59SP12X12 4500 3/4 3/4 59SKSS12 | 598X16X16 4000 1 1 59SKSS16
59SP16X16 4000 1 1 59SKSS16 | 595X20X20 4000 1 1/4 1 1/4 59SKSS20
59SP20X20 4000 11/4 11/4 59SKSS20 | 59SX24X24 4000 112 11/2 59SKSS24
59SP24X24 4000 112 1172 59SKSS24
59SP32X32 3000 2 2 59SKSS32 -

: {7 HIs
A j B {
I 59ST

Femelle NPTF / Male o'ring boss

59SS Female NPTF / Male o'ring boss
Femelle NPTF / Male NPTF e : : —
Female NPTF / Male NPTF Pt PSI A B (") Repair kit
P;i“:;‘f:}ger PSI A B (") ﬁgsem‘ﬁ? 59ST04X06 | 5000 1/4 3/8 59SKSS04
PaIr Kt | 595706X08 5000 3/8 12 59SKSS08
59S502X02 5000 1/8 1/8 59SKSS02 | 59570808 5000 1/ 12 SOSKSSO8
598S04X04 5000 1/4 1/4 59SKSS04 | 59570810 5000 12 518 SOSKSSO8
598S06X06 5000 3/8 3/8 59SKSS08 | 9571212 4300 a4 ™ 5OSKSS12
59SS08X08 5000 12 12 59SKSS08 | So5T16x16 4000 | | SOSKSS16
59SS12X12 [ 4500 3/4 34 | S9SKSSIZ | 5957120x20 | 4000 11/4 11/4 | 595KS520
59S816X16 [ 4000 1 1 S9SKSSI16 | s99124x24 | 4000 112 112 | 595KSS24
598520X20 4000 11/4 11/4 | 598KSS20
598824X24 4000 112 112 | 59SKSS24 =
598832X32 3000 2 2 59SKSS32 A j B
A j imm B 59SXBH
i Femelle JIC / Male JIC cloison
59SL Female JIC / Male JIC bulkhead
Femelle NPTF / Male JIC Numéro PST A B (") Ensemble
Female NPTF / Male JIC Part number Repair kit
Numéro Ensemble 59SXBH08X08 5000 12 172 59SKSS08
Part number PSI A B (™ Repair kit | 39SXBHI0X10 5000 5/8 5/8 59SKSS08
30SL04X06 3000 74 33 50SKSSO4 59SXBH12X12 4500 3/4 3/4 59SKSS12
59SL06X08 | 5000 3/8 12 | s9skssog | POSXBHIEXI6 [ 4000 ! ! S9SKSS16
50SL.08X08 5000 2 12 50SKSS08 59SXBH20X20 4000 11/4 11/4 59SKSS20
59SLO8X10 5000 12 5/8 59SKSS08
SOSLI2X12 | 4500 3/4 3/4 59SKSS12
S9SL16X16 | 4000 1 1 59SKSS16
59SL20X20 | 4000 1 1/4 11/4 | 59SKSS20
9SL24X24 | 4000 1172 112 | 59sKSs24 W,

60



SWIVEL

4 )
B )
]
59SJBH 59SJ
Male JIC / Male JIC cloison Male JIC / Male JIC
Male JIC / Male JIC bulkhead Male JIC / Male JIC
Numéro N " Ensemble Numéro N N Ensemble
Part number PSI AC) B Repair kit | Part number PSI AC) B Repair kit
59SJBH08X08 5000 12 12 59SKSS08 59SJ04X04 5000 1/4 1/4 59SKSS04
59SJBH10X10 5000 5/8 5/8 59SKSS08 59SJ06X06 5000 3/8 3/8 59SKSS04
59SJIBH12X12 4500 3/4 3/4 59SKSS12 59SJ08X08 5000 12 12 59SKSS08
59SIBH16X16 4000 1 1 59SKSS16 59SJ10X10 5000 5/8 5/8 59SKSS08
59SJIBH20X20 4000 11/4 11/4 59SKSS20 59SJ12X12 4500 3/4 3/4 59SKSS12
59SJ16X16 4000 1 1 59SKSS16
[ 59SJ20X20 4000 11/4 11/4 59SKSS20
A ////J B 598J24X24 4000 112 112 59SKSS24
59SB A j B
Male JIC / Male o'ring boss
Male JIC / Male o'ring boss
Numéro . . Ensemble |59SZ
Part number PSI AC) B Repair kit |Femelle JIC / Male o'ring boss
59SB04X04 5000 1/4 1/4 59SKSS04 |Female JIC / Male o'ring boss
59SB06X06 5000 3/8 3/8 59SKSS04 Numéro . . Ensemble
59SB08X08 5000 172 12 59SKSS08 | Part number PSI AC) B () Repair kit
59SB08X10 5000 172 5/8 59SKSS08 | 595706X06 5000 3/8 3/8 59SKSS04
59SB10X10 5000 5/8 5/8 59SKSS08 | 595708X08 5000 12 12 59SKSS08
59SB12X12 4500 3/4 3/4 59SKSS12 | 598710X10 5000 5/8 5/8 59SKSS08
59SB16X16 4000 1 1 59SKSS16 | 598712X12 4500 3/4 3/4 59SKSS12
59SB20X20 4000 11/4 11/4 59SKSS20 | 598716X16 4000 1 1 59SKSS16
59SB24X24 4000 112 112 59SKSS24 | 598720X20 4000 11/4 11/4 59SKSS20
598724X24 4000 1172 112 59SKSS24
(Il B
Q) |
59SA P
Male JIC / Male NPTF 59UP
Male JIC / Male NPTF Femelle NPTF / Femelle NPTF
Numéro PST NG B (") Enserpblg Female NPTF / Female NPTF
Part number Repair kit Numéro . ., Ensemble
59SA06X04 5000 3/8 1/4 59SKSS04 | Part number PSI AC) B Repair kit
59SA06X06 5000 3/8 3/8 59SKSS04 [ 50UP02X02 3000 1/8 1/8 39SKSS02
59SA08X06 5000 172 3/8 59SKSS08 | 590UP04X04 5000 1/4 1/4 39SKSS04
59SA08X08 5000 172 172 59SKSS08 | 59UP06X06 5000 3/8 3/8 39SKSS08
59SA10X06 5000 5/8 3/8 59SKSS08 | 59UP08X08 5000 12 12 39SKSS08
59SA10X08 5000 5/8 172 59SKSS08 | s9UP12X12 4500 3/4 3/4 39SKSS12
59SA12X12 4500 3/4 3/4 59SKSSI12 | 59UP16X16 4000 1 1 39SKSS16
S9SA16X16 4000 1 1 S9SKSSI16 | 59UP20X20 4000 1 1/4 1 1/4 | 59SKSS20
59SA20X20 4000 11/4 11/4 59SKSS20 | 59UP24X24 4000 112 112 39SKSS24
59SA24X24 4000 112 112 59SKSS24 | 59UP32X32 3000 2 2 39SKSS32
\§ J

61



SWIVEL

Numéro N N Ensemble
( Part number PSI AC) B Repair kD
A @ EW]M B 59ULI12X12 4500 3/4 3/4 59SKSS12
59UL16X16 4000 1 1 59SKSS16
59US 59UL20X20 4000 11/4 11/4 59SKSS20
Femelle NPTF / Male NPTF 59UL24X24 4000 112 1172 59SKSS24
Female NPTF / Male NPTF
Numéro N N Ensemble
Part number PSI AO B Repair kit @ E
59US02X02 5000 1/8 1/8 59SKSS02
59US04X04 5000 1/4 1/4 59SKSS04 {SOULBH
59US04X06 5000 1/4 3/8 59SKSS04 [Femelle NPTF / Méle JIC cloison
59US06X06 5000 3/8 3/8 59SKSS08 |Female NPTF / Male JIC bulkhead
59US08X08 5000 172 172 59SKSS08 Numéro . ) Ensemble
5oUSI2X12 | 4500 3/4 34 | 59SKSS12 | Part number PSI AC) BO) 1 Repair kit
59US16X16 4000 1 1 59SKSS16 ['soULBHO6X08 | 5000 3/8 12 59SKSS08
59US20X20 4000 11/4 11/4 59SKSS20 | 59ULBH08X08 5000 12 12 59SKSS08
590S24X24 4000 1172 1172 59SKSS24 | 59ULBH06X10 5000 3/8 5/8 59SKSS08
59US32X32 4000 2 2 59SKSS32 | soULBHO8X10| 5000 12 5/8 59SKSS08
S59ULBH12X12 4500 3/4 3/4 59SKSS12
" S59ULBH16X16 4000 1 1 59SKSS16
A @ i;m B 59ULBH20X20 4000 11/4 11/4 59SKSS20
59UT N @ 5
Femelle NPTF / Male o'ring boss
Female NPTF / Male o'ring boss
Numéro PSI AC) B (") Enselpbl.e S9UR L A ‘
Part number Repair kit |Femelle o'ring boss / Male o'ring boss
59UT04X04 5000 1/4 1/4 59SKSS04 |Female o'ring boss / Male o'ring boss
59UT04X06 5000 1/4 3/8 59SKSS04 Numéro PSI ING) B (") Ensemble
59UT06X08 5000 3/8 172 59SKSS08 | Part number Repair kit
59UT06X10 5000 3/8 5/8 59SKSS08 | 59UR06X04 5000 3/8 1/4 59SKSS04
59UT08X08 5000 172 172 S9SKSS08 | 59UR06X06 5000 3/8 3/8 59SKSS04
59UT08X10 5000 172 5/8 S9SKSS08 | 59UR08X08 5000 1/2 172 59SKSS08
59UT12X12 4500 3/4 3/4 59SKSS12 | 59UR08X10 5000 1/2 5/8 59SKSS08
59UT16X16 4000 1 1 59SKSS16 59UR12X12 4500 3/4 3/4 59SKSS12
59UT20X20 4000 11/4 11/4 S59SKSS20 | 59UR16X16 4000 1 1 59SKSS16
59UT24X24 4000 1172 1172 59SKSS24 59UR20X20 4000 11/4 11/4 59SKSS20
N0 e o] [0
59UL 5900
Femelle NPTF / Male JIC Femelle o'ring boss / Femelle NPTF
Female NPTF / Male JIC Female o'ring boss / Female NPTF
Numéro " " Ensemble Numéro N R Ensemble
Part number PSI AO) BO) Repair kit | Part number PSI AC) B Repair kit
59UL04X04 5000 1/4 1/4 59SKSS04 | 59U006X04 5000 3/8 1/4 59SKSS04
59UL04X06 5000 1/4 3/8 59SKSS04 | 59U008X06 5000 1/2 3/8 59SKSS08
59UL06X08 5000 3/8 12 59SKSS08 | 59U008X08 5000 1/2 12 59SKSS08
59UL06X10 5000 3/8 5/8 59SKSS08 | 59U012X12 4500 3/4 3/4 59SKSS12
59UL08X08 5000 12 12 59SKSS08 | 59U016X16 4000 1 1 59SKSS16
@ULOSXIO 5000 172 5/8 59SKSS08 | 59U020X20 4000 1 1/4 11/4 59SKSSZO)

62



SWIVEL

4 )
O ; iE
B
59UQ 59UE
Femelle o'ring boss / Male NPTF Femelle NPSM tournant / Femelle NPTF
Female o'ring boss / Male NPTF Female NPSM swivel / Female NPTF
Numéro N N Ensemble Numéro N N Ensemble
Part number PSI AC) B Repair kit | Part number PSI AC) B Repair kit
59UQ06X04 5000 3/8 1/4 59SKSS04 | S9UE04X04 1/4 1/4 59SKSS04
59UQ06X06 5000 3/8 3/8 59SKSS04 | 59UE06X04 3/8 1/4 59SKSS04
59UQ08X06 5000 172 3/8 59SKSS08 | S9UE06X06 3/8 3/8 59SKSS08
59UQ08X08 5000 12 172 59SKSS08 | S9UE08X08 172 172 59SKSS08
59UQ12X12 4500 3/4 3/4 59SKSS12 | 59UE12X12 3/4 3/4 59SKSS12
59UQ16X16 4000 1 1 59SKSS16 | 59UE16X16 1 1 59SKSS16
59UQ20X20 4000 11/4 11/4 59SKSS20 | 5S9UE20X20 11/4 11/4 59SKSS20
S9UE24X24 112 112 59SKSS24
@) RliE
Riif
59UI
Femelle o'ring boss / Male JIC 59U0C
Female o'ring boss / Male JIC Femelle NPSM tournant / Male NPTF
Numéro . A B Enser.an.e Female NPSM swivel / Male NPTF
Part number Repair kit Numéro PSI A B (") Ensemble
S9UI06X04 5000 3/8 1/4 59SKSS04 | Part number Repair kit
59UI06X06 5000 3/8 3/8 59SKSS04 | 59UC04X04 1/4 1/4 59SKSS04
59UI08X08 5000 12 12 59SKSS08 | 59UC04X06 1/4 3/8 59SKSS04
59UI08X10 5000 172 5/8 59SKSS08 | 59UC06X04 3/8 1/4 59SKSS04
S59UI12X12 4500 3/4 3/4 59SKSS12 | 59UC06X06 3/8 3/8 59SKSS08
S59UI16X16 4000 1 1 59SKSS16 | 59UC08X08 172 12 59SKSS08
59UI20X20 4000 11/4 11/4 59SKSS20 | 59UCI12X12 3/4 3/4 59SKSS12
59UC16X16 1 1 59SKSS16
59UC20X20 11/4 11/4 59SKSS20
A @ B 59UC24X24 1172 112 59SKSS24
S9UIBH
Femelle o'ring boss / Male JIC cloison jm B
Female o'ring boss / Male JIC bulkhead
Numéro PSI NG, B (") Enser.nbl.e 59UD X )
Part number Repair kit |Femelle NPSM tournant / Male o'ring boss
50UIBHOSX08 5000 2 12 50SKSsog |Female NPSM swivel / Male o'ring boss
S9UIBHO08X10 5000 172 5/8 59SKSS08 Numéro " " Ensemble
PSI A" B (") s
S9UIBH12X12 4500 3/4 3/4 59SKSS12 Part number Repair kit
S9UIBH16X16 4000 1 1 59SKSS16 59UD04X04 5000 1/4 1/4 59SKSS04
S9UIBH20X20 4000 11/4 11/4 59SKSS20 59UD04X06 5000 1/4 3/8 59SKSS04
59UD06X06 5000 3/8 3/8 59SKSS04
59UD06X08 5000 3/8 12 59SKSS08
59UD08X08 5000 12 172 59SKSS08
59UD08X10 5000 172 5/8 59SKSS08
59UD12X12 4500 3/4 3/4 59SKSS12
59UD16X16 4000 1 1 59SKSS16
59UD20X20 4000 11/4 11/4 59SKSS20
k 59UD24X24 4000 112 112 SQSKSSW

63



SWIVEL

4 R )
e e
59UK S9UA
Femelle NPSM tournant / Male JIC Male JIC / Méale NPTF
Female NPSM swivel / Male JIC Male JIC / Male NPTF
Numéro " N Ensemble Numéro N . Ensemble
Part number PSI AO) B Repair kit | Part number PSI AC) B Repair kit
59UK04X04 5000 1/4 1/4 59SKSS04 | 59UA04X04 5000 1/4 1/4 59SKSS04
59UK04X06 5000 1/4 3/8 59SKSS04 | 59UA06X04 5000 3/8 1/4 59SKSS04
59UKO06X06 5000 3/8 3/8 59SKSS04 | 59UA06X06 5000 3/8 3/8 59SKSS04
59UK06X08 5000 3/8 172 59SKSS08 | 5S9UA08X06 5000 172 3/8 59SKSS08
59UKO08X08 5000 12 12 59SKSS08 | S9UA08X08 5000 12 12 59SKSS08
59UKO08X10 5000 12 5/8 59SKSS08 | 59UA10X08 5000 5/8 12 59SKSS08
59UK12X12 4500 3/4 3/4 59SKSS12 | 59UA12X12 4500 3/4 3/4 59SKSS12
59UK16X16 4000 1 1 59SKSS16 | 59UA16X16 4000 1 1 59SKSS16
59UK20X20 4000 11/4 11/4 59SKSS20 | 59UA20X20 4000 11/4 11/4 59SKSS20
59UK24X24 4000 1172 11/2 59SKSS24 | 59UA24X24 4000 112 112 59SKSS24
A
Rink
S9UKBH 59UB
Femelle NPSM tournant / Male JIC cloison Male JIC / Male o'ring boss
Female NPSM swivel / Male JIC cloison Male JIC / Male o'ring boss
Numéro \ N Ensemble Numéro " " Ensemble
Part number PSI AC) B Repair kit | Part number PSI AC) B Repair kit
59UKBHO06X08 5000 3/8 172 59SKSS08 59UB04X04 5000 1/4 1/4 59SKSS04
59UKBHO08X08 5000 172 172 59SKSS08 59UB06X06 5000 3/8 3/8 59SKSS04
5S9UKBHO08X10 5000 172 5/8 59SKSS08 59UB08X08 5000 172 172 59SKSS08
5S9UKBH12X12 4500 3/4 3/4 59SKSS12 59UB10X10 5000 5/8 5/8 59SKSS08
59UKBH16X16 4000 1 1 59SKSS16 59UB12X12 4500 3/4 3/4 59SKSS12
59UKBH20X20 4000 11/4 11/4 59SKSS20 59UB16X16 4000 1 1 59SKSS16
59UB20X20 4000 11/4 11/4 59SKSS20
A 59UB24X24 4000 112 112 59SKSS24
[ A
59UH :@m@ B
Male JIC / Femelle NPTF
Male JIC / Female NPTF 59U])
Numéro " N Ensemble |Male JIC / Male JIC
Part number PSI AC) B Repair kit |Male JIC / Male JIC
59UH04X04 5000 1/4 1/4 59SKSS04 Numéro " " Ensemble
PSI A" B (") o
S9UH06X04 5000 3/8 1/4 59SKSS04 | Part number Repair kit
59UH06X06 5000 3/8 3/8 59SKSS08 | 59UJ04X04 5000 1/4 1/4 59SKSS04
59UHO08X06 5000 12 3/8 59SKSS08 | 59UJ06X06 5000 3/8 3/8 59SKSS06
59UHO08X08 5000 12 172 59SKSS08 | 59UJ08X08 5000 12 12 59SKSS08
59UH10X08 5000 5/8 172 59SKSS08 | 59UJ10X10 5000 5/8 5/8 59SKSS08
59UH12X12 4500 3/4 3/4 59SKSS12 | 59UJ12X12 4500 3/4 3/4 59SKSS12
59UH16X16 4000 1 1 59SKSS16 | 59UJ16X16 4000 1 1 59SKSS16
59UH20X20 4000 11/4 11/4 59SKSS20 | 59UJ20X20 4000 11/4 11/4 59SKSS20
\59UH24X24 4000 1172 112 59SKSS24 | 59UJ24X24 4000 112 112 59SKSSZy

64



SWIVEL

4 N N )
(e e
59UJBH 59UV
Male JIC / Male JIC cloison Male NPTF / Male o'ring boss
Male JIC / Male JIC bulkhead Male NPTF / Male o'ring boss
Numéro N " Ensemble Numéro N " Ensemble
Part number PSI AC) B ) Repair kit | Part number PSI AC) B Repair kit
59UJBHO08X08 5000 1/2 172 59SKSS08 50UV04X04 5000 1/4 1/4 59SKSS04
59UJBH10X10 5000 5/8 5/8 59SKSS08 50UV04X06 5000 1/4 3/8 59SKSS04
59UJBH12X12 4500 3/4 3/4 59SKSS12 50UV06X06 5000 3/8 3/8 59SKSS04
S9UJBHI6X16 | 4000 1 1 595KSS16 | 59UV06X08 5000 3/8 12 59SKSS08
59UJBH20X20 4000 11/4 11/4 59SKSS20 50UV06X10 5000 3/8 5/8 59SKSS08
59UV08X08 5000 12 12 59SKSS08
A 59UV08X10 5000 12 5/8 59SKSS08
59UVI12X12 4500 3/4 3/4 59SKSS12
B 59UV16X16 4000 1 1 59SKSS16
59UV20X20 4000 1 1/4 1 1/4 | 59SKSS20
SYUF 59UV24X24 4000 1172 112 | 59SKSS24
Male NPTF / Femelle NPTF
Male NPTF / Female NPTF A
Numéro N N Ensemble
Part number PSI A B Repair kit :@W B
SQUF04X04 5000 1/4 1/4 59SKSS04
59UF06X06 5000 3/8 3/8 595KSs08 [S9UN
59UF06X08 5000 3/8 12 59SKSS08 [Male NPTF / Male JIC
S9UF08X06 | 5000 12 3/8 59sKssog |Male NPTF / Male JIC
59UF08X08 5000 12 12 59SKSS08 Numéro PSI NE ., Ensemble
@) B (™ o
59UF12X12 4500 3/4 3/4 59SKSS12 | Part number Repair kit
59UF16X16 4000 1 1 59SKSS16 [ 59UN04X04 5000 1/4 1/4 59SKSS04
59UF20X20 4000 11/4 11/4 | 59SKSS20 | 59UN04X06 5000 1/4 3/8 59SKSS04
59UF24X24 4000 112 112 | 59SKSS24 | 59UN06X06 5000 3/8 3/8 59SKSS04
59UN06X08 5000 3/8 12 59SKSS08
A 59UN06X10 5000 3/8 5/8 59SKSS08
59UNO08SX08 5000 12 12 59SKSS08
:@mm B 59UN08X 10 5000 12 5/8 59SKSS08
SQUNI2X12 | 4500 3/4 3/4 59SKSS12
UG . SOUNI6X16 | 4000 I ! 59SKSS16
xzii gg;xzii ggg SOUN20X20 | 4000 1 1/4 114 | 59SKSS20
SQUN24X24 | 4000 1172 112 | 59SKSS24
Numéro N N Ensemble
Part number PSI AC) B Repair kit A
50UG04X04 | 5000 1/4 1/4 59SKSS04
59UG06X04 | 5000 3/8 1/4 59SKSS04 :@MM@MM B
59UG06X06 | 5000 3/8 3/8 59SKSS08
59UG06X08 | 5000 3/8 12 s9skssos [PYUNBH
59UG08X06 | 5000 12 3/8 59skssog |Male NPTF / Male JIC cloison
59UG08X08 | 5000 12 12 | s9skssog |Male NPTF/Male JIC bulkhead
59UG12X12 4500 3/4 3/4 59SKSS12 Numéro PSI A B (") Ensemblfz
59UG16X16 4000 1 1 59SKSS16 | Part number Repair kit
sucann || | | soskssa SO o
0UG24X24 | 4000 172 1172 | 59SKSS24 IsouNBHOSX10| 5000 12 5/8 S9SKSSO8
59UNBH12X12 4500 3/4 3/4 59SKSS12
59UNBHI16X16 4000 1 1 59SKSS16
\ SOUNBH20X20 4000 1 1/4 11/4 59SKSS2

65



O'RING AND NUT

O'RING AND NUT )
AN
7\
. ) 710FSO
~ O'ring ORB (0'ring boss)
711FSO
Ecrou cloison JIC-o'ring boss - - -
JIC-o'ring boss bulkhead nut Numéro D1m§n510n
Part number Size
Numéro Dimension 710ESOO1 1716
Part number Size 710FSO02 18
711FSO04 1/4 710FSO03 3/16
711FS0O05 5/16 710FS004 174
711FSO06 3/8 710ESO05 5/16
711FSO08 172 710FSO06 3/8
711ESO10 5/8 710ESO07 716
711FSO12 3/4 710FSO08 12
711FSO16 1 710FSO10 5/8
711FS020 1-1/4 710FSO12 34
711FSO24 1-1/2 710FSO14 18
( TN 710FSO16 1
\ 710FS0O20 1-1/4
\ ) 710FS024 1-172
— 710FS032 2
711TTO
Ecrou cloison o'ring face
O'ring face bulkhead nut
Numéro Dimension
Part number Size
710FSM
711TTO04 1/4 e e .
O'ring (o'ring boss métrique)
711TTO06 3/8 O'ring (metric o'ring boss)
711TTO08 12 - - -
711TTO10 5/8 Paﬁ“ﬁfﬁger D"gf;mon
711TTO12 3/4 °
711TTO16 1 710FSMO08 8mm
711TTO20 1-1/4 710FSMI0 t0mm
711TTO24 1172 710FSMI12 12mm
N 710FSM 14 14mm
( \ 710FSM16 16mm
710FSM18 18mm
N/
~—
711BPO
Ecrou cloison BSPP
BSPP bulkhead nut
Numéro Dimension 7}QTTQ .
Part number Size O'ring (o'ring face)
711BPO02 1/8
711BPO04 1/4 Numéro Dimension
711BPO06 3/8 Part number Size
711BPO08 12 710TTO02 1/8
711BPO10 5/8 710TTO04 1/4
711BPO16 1
710TTO08 172
711BPO20 1-1/4
\711BPOZ4 1-1/2 710TTO10 o/ )

66



O'RING AND NUT

[ Numéro Dimension \
Part number Size
710TTO12 3/4
710TTO16 1
710TTO20 1-1/4
PA77
J10TTO24 112 O'ring bride PA-PH
PA-PH flange o'ring
Numéro Dimension
Part number Size
08PA77 12
7100RO 12PA77 3/4
O'ring pour bague de retenue BSPP 16PA77 1
BSPP retainer ring o'ring 20PA77 1-1/4
Numéro Dimension 24PATT 1-172
Part number Size 32PA77 2
7100R002 1/8
7100R004 1/4
7100R0O06 3/8
7100R0O08 172
7100RO10 5/8
7100RO12 3/4 PA77V . .
O'ring bride PA-PH (viton)
7100RO16 1 PA-PH flange o'ring (viton)
7100R020 1-1/4 - - -
7100R024 1-172 Numéro Dlm‘?nsmn
Part number Size
08PA77V 12
12PA77V 3/4
16PA77V 1
20PA77V 1-1/4
7100RM 24PA77V 1-172
O'ring pour bague de retenue métrique 32PAT7TV 2
Metric retainer ring o'ring
Numéro Dimension
Part number Size
7100RM08 8mm
7100RM10 10mm
7100RM 12 12mm 710RRO
Bague de retenue BSPP
7100RM14 14mm BSPP retainer ring
7100RM16 16mm - -
7100RM18 18mm Numéro Dimension
7100RM20 20mm Part number Size
7100RM22 22mm 710RRO02 18
7100RM24 24mm 710RRO04 1/4
7100RM26 26mm 710RRO06 3/8
7100RM27 27mm 710RRO08 12
7100RM30 30mm 710RRO10 5/8
7100RM33 33mm 710RRO12 3/4
7100RM36 36mm 710RRO16 1
710RR0O20 1-1/4
710RR0O24 1-172
\§ y

67



O'RING AND NUT

( Numéro Dimension \
Part number Size
710BSM10 10mm
710BSM12 12mm
710BSM14 14mm

710RRM

Bague de retenue métrique 710BSM16 16mm

Metric retainer ring 710BSM18 18mm

- - 710BSM20 20mm
Numéro D1m§n51on 710BSM22 29mm
Part number Size 710BSM24 24mm
7I0RRMO8 8mm 710BSM26 26mm
710RRMI0 10mm 710BSM27 27mm
710RRMI2 12mm 710BSM30 30mm
710RRM14 14mm 710BSM33 33mm
710RRM16 16mm 710BSM36 36mm
7I0RRM18 18mm 710BSM42 42mm
710RRM20 20mm 710BSM52 52mm
710RRM22 22mm
710RRM24 24mm
710RRM26 26mm
710RRM27 27mm
710RRM30 30mm
710RRM33 33mm 712BSP
710RRM36 36mm Rondelle de cuivre BSPP
BSPP copper washer
Numéro Dimension
Part number Size
712BSP02 1/8

o ;7;

Joint étanche BSPP

Bonded seal BSPP 712BSP08 172

- - 712BSP10 5/8
Numéro D1m§n51on 712BSP12 3/4
Part number Size 719BSP16 |
710BSB02 118 712BSP20 1-1/4
710BSB04 1/4 712BSP24 1-1/2
710BSB06 3/8 712BSP32 )
710BSB08 172
710BSB10 5/8
710BSB12 3/4
710BSB16 1
710BSB20 1-1/4
710BSB24 1-172 712MET
710BSB32 2 Rondelle de cuivre métrique
Metric copper washer
Numéro Dimension
Part number Size
712METO08 8mm
712MET10 10mm
710BSM

Joint étanche métrique TI2MET12 12mm

Bonded seal metric 712MET14 14mm

- - 712MET16 16mm

Numéro D1m§n sion 712METI18 18mm
Part number Size 712MET22 29mm
710BSM06 6mm 712MET26 26mm

\71 0BSMO08 8mm )

68



ENSEMBLE / KIT

-

KITSEAL

O'ring kit

Ensembles de joints étanches

Numéro
Part number

~

Numéro
Part number

Description

KITSEAL1
KITSEAL?2
KITSEAL3

Bonded seal (157 pces)
O'ring et / and retaining ring (100 pces)
O'ring boss et / and o'ring face (175 pces)

PA
Bride (code 61)
Flange (code 61)

Bride (code 62)
Flange (code 62)

Numéro Dimension (")
Part number Size (")

08PA 12
12PA 3/4
16PA 1

20PA 1-1/4
24PA 1-1/2
32PA 2

PH

Numéro
Part number

Numéro Dimension (")
Part number Size (")

08PH 12
12PH 3/4
16PH 1

20PH 1-1/4
24PH 1-1/2
32PH 2

69



INDEX

# PIECE

# PIECE

# PIECE

PART # PAGE PART # PAGE PART # PAGE
1942FS 57 59UD 63 632FS 30
1942FSM 59 5QUE 63 639FS 29
1946FS 57 59UF 65 639FSJ 29
1948FS 57 50UG 65 639FSK 39
1948FSM 59 59UH 64 639FSM 38
1949FS 58 59Ul 63 639FSMO 38
1949FSM 59 59UIBH 63 639FSMR 38
1954FS 58 59U 64 639FSR 29
1955FS 58 59UJBH 65 63SB 52
1955FSM 59 59UK 64 63SE 52
1960FS 57 59UKBH 64 63SF 52
1960FSM 58 59UL 62 63TA 51
1961FS 57 59ULBH 62 63TB 53
1961FSM 58 59UN 65 63TE 53
24SA 2 59UNBH 65 63TF 53
24SB 1 59U0 62 63UA 51
24SF 1 59UP 61 63UB 53
245G 2 50UQ 63 63UC 51
248J 2 59UR 62 63UE 53
24SR 1 59US 62 63UF 54
24ST 1 59UT 62 642FS 30
25SP 1 59UV 65 642FSJ 30
25TA 3 60SA 5 642FSK 39
25TG 2 60SB 7 642FSM 39
25TJ 3 60SG 5 644FS 33
25UA 3 60TA 6 646FS 35
25UASW 4 60TB 8 646FSM 36
250G 3 60TG 6 646FSO 37
25UGSW 3 60UA 6 646TT 36
25UJ 3 60UB 8 648FS 34
25VA 5 60UC 6 648FSM 36
25VC 4 60UG 7 648FSO 37
25VG 4 60VC 7 648TT 36
25VJ 4 60VH 7 649FS 36
25VK 4 60V 7 649TT 37
25VT 4 618TT 40 64SB 55
25WJ 5 619TT 41 64SF 56
579FS 57 61SA 5 64TA 55
589FS 56 61TA 52 64TB 56
59SA 61 61UA 52 64TF 56
59SB 61 622FS 41 64UA 55
59SJ 61 623FSO 40 64UB 56
59SJBH 61 626FS 41 64UC 55
59SL 60 626FSO 40 64UF 56
59SP 60 628FS 41 655FS 32
59SS 60 62TA 54 655FSA 32
59ST 60 62TD 54 656FSA 32
59SX 60 62UA 55 661FS 33
59SXBH 60 62UD 55 670FS 33
5957 61 630FS 29 671FS 34
59UA 64 630FSJ 29 672FS 34
59UB 64 630FSK 39 673FS 34
59UC 63 630FSM 37 673FSSW 34




INDEX

# PIECE

# PIECE

# PIECE

PART # PAGE PART # PAGE PART # PAGE
674FS 32 836FS 29 849FSO 21
675FS 33 839FS 8 849LFS 16
677FS 34 839TT 42 849LFSO 21
679FS 33 840FS 9 849LLFS 16
679FSB 33 841FS 9 849LLFSO 21
680FS 31 841TT 42 849TT 46
680FSM 39 842FS 10 849TTO 48
680FSSW 31 842TT 42 850FS 17
681FS 35 844FS 12 850FSB 25
681FSM 36 844TT 44 851FS 18
681FSO 37 845FS 17 851FSB 26
681FSSW 35 845FSB 26 851FSO 22
682FS 35 845FSO 21 851TTO 48
683FS 30 845TTO 48 852FS 13
683FSMH 40 846FS 14 852TT 45
683FSML 39 846FSB 24 853FS 18
683FSMS 40 846FSBSW 24 854BHFS 11
683FSSW 31 846FSH 24 854BHTT 43
698FS 32 846FSHSW 25 854FS 15
699FS 32 846FSJ 24 854FSB 25
710BSB 68 846FSK 28 854FSO 20
710BSM 68 846FSMH 28 854TT 46
710FSM 66 846FSML 27 854TTO 47
710FSO 66 846FSV 22 855BHFS 11
7100RM 67 846TT 46 855BHTT 44
7100RO 67 846TTJ 22 855FS 11
710RRM 68 846TTISW 22 855TT 43
710RRO 67 846TTO 47 856FS 11
710TTO 66 847FS 15 857FS 18
711BPO 66 848BHFS 14 858FS 18
711FSO 66 848FS 13 859FS 19
711TTO 66 848FSB 23 860FS 18
712BSP 68 848FSBJ 23 861FS 12
712MET 68 848FSBL 23 861TT 44
719FSO 48 848FSBLL 24 862FS 19
720FSO 50 848FSJ 24 863FS 19
721FSO 49 848FSK 27 870FS 12
722FSO 50 848FSKB 27 870TT 44
723FSO 49 848FSM 26 871FS 12
725FSO 51 848FSMH 27 871TT 44
725LFSO 51 848FSML 26 872FS 13
726FSO 50 848FSO 19 872TT 45
728FSO 50 848FSV 22 873FS 13
729FSO 51 848LFS 14 875FS 12
742FSO 49 848LFSO 20 877FS 17
755FSO 49 848LLFS 14 878FS 17
779FSO 49 848LTTO 47 878FSB 26
780FSO 49 848TT 45 878FSO 20
830FS 8 848TTJ 22 878TTO 47
830TT 42 848TTO 46 879FS 11
832FS 10 849FS 16 879TT 44
832TT 43 849FSB 25 880FS 10
835FS 28 849FSM 28 880TT 43




INDEX

# PIECE # PIECE # PIECE
PART # PAGE PART # PAGE PART # PAGE
881FS 15
881FSB 25
881FSM 28
881FSO 20
881TT 45
881TTJ 23
881TTO 47
882FS 15
882FSB 25
882TT 45
883FS 9
883FSSW 10
883TT 42
883TTR 42
889FS 11
889TT 43
KITSEAL 69
PA 54 et 69
PA77 67
PA77V 67
PH 54 et 69






